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3% 2.0 GENERAL PROGRAM INFO

32 2.1 ABSTRACT

96 THIS DIAGNOSTIC IS A LOGIC TEST OF THE 11/44 CACHE .

97 ' IT IS APT,ACT11,AND XXDP COMPATIBLE.

98 THIS DIAGNOSTIC ASSOCIATES A GROUP OF TESTS WITH ONE AREA

99 OF CACHE LOGIC AND PROCEEDS TO TEST THAT AREA COMPREHENSIVELY.
100 THE MAINTENANCE FEATURES OFFERED BY THE 11/44 CACHE ALLOWS
101 INFORMATION TO BE READ IN KEY AREAS OF THE CACHE ALLOWING

102 THE DIAGNOSTIC TO ISOLATE FAILURES TO DATA PATHS ,AND IN SOME
}82 CASES IC'S.

105 AT THE START OF THE DIAGNOSTIC, A SMALL AREA OF WRITE CONTROL

LOGIC AND THE MAINTENANCE FEATURES ARE ASSUMED TO BE WORKING.
SO EFFECTIVE ARE THE MAINTENANCE FEATURES THAT THE CACHE IS
COMPLETELY TURNED OFF (NO DATA IS ALLOWED TO BE CACHED OUT OF
THE CACHE) AT THE START OF THE DIAGNOSTIC AND NOT TURNED ON
UNTIL 90 PERCENT OF THE DIAGNOSTIC IS COMPLETE.

TYPICAL TEST SEQUENCE FOR A BLOCK OF LOGIC CONTAINING
RAM IC'S IS TO FIRST VERIFY DATA PATHS TO ONE RAM LOCATION,
VERIFY THAT 0'S AND 1'S CAN BE WRITTEN TO ALL RAM LOCATIONS
L,VERIFY ADDRESS LINES TO RAMS, AND FINALLY TO CHECK THE
INTEGRITY OF THE RAMS BY PERFORMING
A MARCH PATTERN TEST.

THE DIAGNOSTIC TESTS WERE SECUGNED IM ASSOCIATION WITH
A M7097 CACHE LOGIC SCHEMATIC. REFZXENCE TO THIS DOCUMENT
WILL HELP THE UNDERSTANDING OF THE TEST SEQUENCING AND PURPOSE.

UPON START OF THE PROGRAM, THE CACHE IS IMMEDIATELY TURNED OFF
(FORCE MISS IS ON FOR BOTH HALVES OF CACHE, INTERRUPTS ARE DISABLED
AND CACHE IS IN BYPASS MODE). THE TESTS THEN PROCEED TO SELECTIVELY
TURN ON ONLY THE HALF OF CACHE THAT IS TO BE EXERCISED.

THIS IS TO ENSURE THAT THE INSTRUCTIONS ARE NOT EXECUTED OUT

OF A POSSIBLY BAD CACHE. IN ORDER TO IMPLEMENT THIS SCHEME,

THE TESTS THAT ENABLE CACHE ARE RELOCATED TO AREAS OF CACHE

THAT ARE NOT ENABLED. THE TESTS ARE STRUCTURED ON A HALF CACHE
BASIS. THAT IS A TEST MAY BE RUN IN LOW CACHE WHILE TESTING

HIGH CACHE AFTER WHICH AN IDENTICAL TEST WILL RUN IN HIGH CACHE
WHILE TESTING LOW CACHE. -

TO FACILITATE THE TESTING OF CACHE, A 4K BUFFER IS RESERVED AT THE
END OF THE PROGRAM FOR READ WRITE OPERATIONS AND RELOCATION OF TESTS.
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2.2

2.3

TEST STRUCTURE

EACH TEST IS STRUCTURED WITH THE FOLLOWING DEDICATED LOCAL
SYMBOLS:

40%: LOCATION WHERE TEST BEGINS

1%: LOCATION OF THE BEGINNING OF THE LOOP ON ERROR
CODE LOOP
25%: tgg:TION OF THE END OF THE LOOP ON ERROR CODE

108: LOCATION WHERE TEST ENDS

THESE LOCATIONS ARE USED BY THE $SCPSET ROUTINE TO SET UP LOOP
ON TEST AND LOOP ON ERROR VECTORS (REFER TO $SCPSET SECT. 9.0)

HARDWARE REQUIREMENTS
2.3.1 REQUIRED EQUIPMENT
1. PDP11=44 CPU
A. M7094/M7095 CPU CONTROL DATA PATH
B. M7096 MFM
C. M7098 uBl
D. M7090 CIM
2. 16K MEMORY
3. 1/0 TERMINAL
2.3.2 OPTIONAL EQUIPMENT

1. RMI1 REGISTER(GS179) HARDWARE FOR HI ORDER ADDRESS LINE TESTING
2. PDP11 CPU UNIBUS EXERCISER

3.3 DIAGNOSTIC PREREQUISITES

IT IS ASSUMED THAT ALL THE ABOVE KARDWARE IS OPERATIONAL AND THAT
THERE RESPECTIVE DIAGNOSTICS HAVE BEEN RUN FOR VERIFICATION.

2.3.4 RELATED DOCUMENTS
1. 11/44 CACHE DESIGN SPECIFICATION
2. M7097 CACHE LOGIC SCHEMATIC

3. RMI(G5179) REGISTER DESCRIPTION
DATED 29 JAN 1979-PDP11 SYS. PROD. SUPPORT

4. PMKOS UNIBUS EXERCISER OPERATING AND SERVICE MANUAL
5. CFKKAA 11/34 DIAGNOSTIC
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3.0

3.1

OPERATING INSTRUCTIONS

1. LOAD PROGRAM INTO MEMORY
2. LOAD STARTING ADDRESS 200
5. START

LOADING AND STARTING AT 200 IS NORMAL LOGIC TESTING.
THE FIRST PASS IS A QUICK VERIFY PASS FOLLOWED BY AN
ENDPASS PRINTOUT. SUBSEQUENT EXECUTION OF THE PROGRAM
WILL RESULT IN REPEATED PASSES SPECIFIED BY LOCATION
STIMES BEFORE ENDPASS IS PRINTED AGAIN.

ALL ERRORS ARE ACCOMPANIED BY AN ERROR PRINTOUT
CONSISTING OF A MINIMUM OF THE FAILING TEST (TESTNO)

AND THE LOCATION IN THE PROGRAM WHERE THE ERROR

OCCURED (ERRPC). IT 1S NECESSARY FOR THE USER TO REFER TO
THE ASSEMBLED LISTING AT THE LOCATION SPECIFIED BY

ERRPC FOR AN EXPLANATION OF THE ERROR.

3.2 SWITCH REGISTER OPTIONS

3.2.1 [OPTIONS)

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT ON ERROR

SW14=1 040000 LOOP ON TEST SPECIFIED IN SWO7:Sw00

SW13=1 020000 INHIBIT ERROR TYPEOUTS

Swi1=1 004000 INHIBIT ITERATIONS

SW09=1 001000 LOOP ON _ERROR

SW08=1 000400 DIAGNOSTIC WILL TEST TO VERIFY THAT
INVALIDATION WILL OCCUR DUE TO A
READ HIT BYPASS CONDITION: DIAGNOSTIC
ASSUMES PHYSICAL STRAP W2 IS IN.
IF SW08=0 THEN DIAGNOSTIC TESTS TO
VERIFY THAT NO INVALIDATION WILL
OCCUR DUE TO A READ HIT BYPASS CONDITION.
DIAGNOSTIC,IN THIS CASE, ASSUMES
PHYSICAL STRAP W1 IS IN PLACE.

SW07 T0 Sw00 001-377 SPECIFIES TEST WHEN LOOP ON TEST IS

SELECTED(SW14)

—— —————————— . e S e S
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3.2.2

3.2.3

LOOP ON ERROR

THE INTENT OF THE LOOP ON ERROR FEATURE (SW09) IS TO GET

A TIGHT CODING LOOP TO OCCUR WHEN AN ERROR HAPPENS TO AID

IN ISOLATING THE FAILURE.

THE FOLLOWING IS A DESCRIPTION OF HOW THE PROGRAM

HANDLES LOOP ON ERROR. FOR THIS EXAMPLE ASSUME THAT THE TEST
ysgogEEN RELOCATED TO MI CACHE BUFFER AREA STARTING AT ADDRESS

1. AN ERROR OCCURS SO SERROR ROUTINE IS ENTERED

2. THE APPROPRIATE ERROR MESSAGE IS PRINTED

5. AN APPROPRIATE 'JMP 1$°' INSTRUCION IS AUTOMATICALLY

WRITTEN BY THE PROGRAM TO THE LOCATION IN HI CACHE

?g;;ER AREA LOCATION SPECIFIED BY 25% FOR THIS

4. THE SERROR ROUTINE WILL THEN JUMP TO THE LOCATION
l?Eg% CACHE BUFFER AREA SPECIFIED BY 1% FOR THIS

S. THE PROGRAM WILL NOW BE EXECUTING A CODE LOOP
IN HI CACHE BUFFER AREA BOUNDED BY THE LOCATIONS
SPECIFIED BY 1$ AND 258.

TO CLEAR THIS CONDITION THE CPU MUST BE HALTED FOLLOWED BY
LOADING ADDRESS 200 AND START.IF SW09 BIT IS CLEARED THEN
NORMAL PROGRAM EXECUTION WILL HAVE BEEN RESUMED.

LOOP ON TEST

WHEN LOOP ON TEST IS SELECTED (SwW14) THE TEST SPECIFIED

BY BITS 7:0 IN THE SWITCH REGISTER IS EXECUTED

REPEATEDLY.

;2%1552T IS LOOPED IN ITS ENTIRETY ,UNLIKE THE LOOP ON ERROR

3.2.4 IMPLEMENTATION

SELECT SWITCH REGISTER OPTIONS BY USING 11/44 MFM
CONSOLE. TYPE “P TO ENTER CONSOLE.

NORMAL OPERATION IS TO RUN WITH ALL SWITCH REGISTER
BITS EQUAL TO 0.
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3.3 APT

1

3.3.1 THE FOLLOWING APT USER SWITCH REGISTER BITS ARE DEFINED
FOR THIS DIAGNOSTIC AND ARE VALID ONLY IF SENVM BIT 7=1:

BIT 12 SUSWR ( UNIBUS EXERCISER)

=1 APT SAYS PDP11 UNIBUS EXERCISER IS PRESENT
SO PERFORM DMA TESTS.
=0 APT SAYS DO NOT PERFORM DMA TESTS.

BIT 7 SUSWR ( RMI REGISTER (G5179))

=1 APT SAYS RMI REGISTER IS PRESENT
PERFORM HI ORDER ADDRESS LINE TESTS
=0 Teg}sSAYS DO NOT PERFORM HI ORDER ADDR. LINE

3.3.2 THE FOLLOWING IS A PROGRAM LOAD FILE USED BY APT. E TABLE 'A’
IS USED FOR APT DUMP MODE AND E TABLE °'B' IS USED FOR APT Qv
AND RUN TIME MODE.
E TABLE 'B' IS SET UP TO RUN RMI REGISTER TESTS AND UNIBUS EXERCISER
TESTS,INHIBIT ITERATIONS, AND SUPPRESS ERROR TYPEOUTS.

1ST PASS LONGEST ADD I T IONAL
RUN TIME TEST TIME RUN TIME
0 5 0
...... E TABLES cnssnne
A B
E-MODE /S-MODE 200/000 2460/001
SWITCH REGISTER 004000 004000
SWITCH REGISTER 010200 010200

CPU TYPE/OPTIONS
MEMORY MAP CODE
MEMORY MAP CODE

W= -

00/0000 00/0000

000700000000 000700000000
000700000000 000700000000
000700000000 000700000000
888600000000 008600000000

BUS PRIORITY/INTERRUPT 1 00

BUS PRIORITY/INTERRUPT 2 0000 0000
BUS ADDRESS CODE 000000 000000
DEVICE MAP CODE 000000 000000
CTLR. SPECIFIC WORD 1 000000 000000

CTLR. SPECIFIC WORD 2 000000 000000
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3.4 EXECUTION TIMES

1ST PASS LESS THAN 10 SE
5 SE

: Ce
PASSES WITH ITERATIONS: LESS THAN 7 Ee

4.0 ERROR INFO

IN ADDITION TO TESTNO AND ERRPC BEING PRINTED WHEN AN ERROR
OCCURS, ADDITIONAL INFORMATION CAN BE GIVEN DEPENDING ON

THE TEST. THE INFO. IS IN THE FORM OF DATA DESCRIBED IN A
FASHION WHICH RELATES TO THE LOGIC BEING TESTED AND CAN AID

IN ISOLATING THE FAILURE.

FOR EXAMPLE, A TEST MAY VERIFY THAT THE CACHE TAG STORE RAMS
CAN BE LOADED FROM THE CACHE ADDRESS LINES (CA<21:13>) AND
THEN BE READ FROM THE CACHE HIT REGISTER BITS 15:7 (CHR<15:7>).
AN ERROR PRINTOUT ,THEREFORE,.WOULD LOOK LIKE THE FOLLOWING:

TESTNO ERRPC CHR157 CA2113
102 13234 001 000
WHERE: CHR157 SPECIFIES DATA READ FROM CACHE HIT REGISTER
BITS 15:7

AND CA3113 SPECIFIES THE ADDRESS PATTERN ON THE CACHE ADDRESS
LINES 21:13 USED TO LOAD THE TAG STORE

CA2113 IS ANALAGOUS TO °"DATA EXPECTED' AND CHR157 IS ANALAGOUS
TO "DATA RECEIVED'.

4.2 UNCONTROLLED ERRORS

IF AT ANY TIME THE PROGRAM STOPS WITHOUT PROPER ERROR
INDICATION EXAMINING LOCATION SPECIFIED BY STESTN WILL
INDICATE WHAT TEST THE PROGRAM HAD REACHED.
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5.0 HANDLERS AND COHHON ROUTINES

RELCTL:

RELCTH:

$SCPSET:

$ERROR:

THIS ROUTINE ,WHEN CALLED, WILL RELOCATE ALL TEST CODE
OF THE TEST UP TO AND INCLUDING THE LOCATION SPECIFIED
BY 10%: TO LOW CACHE BUFFER AREA BEGINNING AT LOCATION
60000. WHEN THIS HAS BEEN DONE THE ROUTINE WILL JUMP
TO LOCATION 60000 FOR TEST EXECUTION.

THIS ROUTINE ,WHEN CALLED, WILL RELOCATE ALL TEST CODE
OF THE TEST UP TO AND INCLUDING THE LOCATION SPECIFIED
BY 108: TO HIGH CACHE BUFFER AREA BEGINNING AT LOCATION
70000. WHEN THIS HAS BEEN DONE THE ROUTINE WILL JUMP

TO LOCATION 70000 FOR TEST EXECUTION.

THIS ROUTINE 1S PERFORMED AT THE BEGINNING OF EACH
TEST. IT SETS UP VECTORS TO ACCOMPLISH LOOP ON TEST
AND LOOP ON ERROR. THE LOCATIONS SPECIFIED BY 40$,

18, AND 258 ARE PASSED TO THE ROUTINE AND ARE
ADDRESS LOCATIONS WHICH ARE INDICATIVE OF WHERE THOSE
LOCATIONS WILL BE WHEN THE TEST IS RELOCATED TO EITHER
HI OR LO CACHE BUFFER AREA.

THIS ROUTINE IS CALLED WHEN THERE IS AN ERROR.

IT WILL ALWAYS TYPE FAILING TEST NUMBER AND FAILING
ERROR PC. IT MAY TYPE ADDITIONAL DATA INFO. DEPENDING
ON THE TEST (USES THE ARGUEMENTS PASSED BY

THE TEST TO THE ROUTINE).

L ———
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4
.TITLE CKKKABO 11-44 KK11B CACHE
;*COPYRIGHT (C) OCT 1979
;*DIGITAL EQUIPMENT CORP.
*HAYNARD. MASS. 01754

tPROGRAH BY DAN P. MILLEVILLE

*THIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMA(
'PACKAGE (MAINDEC=11-DZQAC-C3), JAN 19, 1977.

§TN=1
$SWR=160000 ::HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
.SBTTL TRAP CATCHER

=0
;*ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A *'.42 HALT'
;*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
'LOCATIONIg‘CONTAINS 0 TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 ;;SOFTWARE DISPLAY REGISTER
SWREG: .WORD 0 ;sSOFTWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)

JHSO @#200 ;;JUMP TO STARTING ADDRESS OF PROGRAM

=

.WORD  $SCPSET

.WORD 340

.WORD  SERROR

.WORD 340

.WORD  STRAP

.WORD 340

.=462

WORD 0

.=b6

.WORD  SENDAD

.=52

.WORD 0

——
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STARTING ADDRESS(ES)

540 001014
541 001022
542 001030
543 001032
544 001034
545 001042
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104401
000423
200

012737
000000

012737

001116
124

001172
104

001250
102

000001
001474
000200
001510
000042
000042

001412
103

002416
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000004
000006
177746

000004

13

122

m

130
N01466
000004

001507
002074

000046

113

START:

4:

65%:
648

67%: .
66$:

69$:
68$:

718:
708:

5%:

1$:

3s:

73%:

72%:
2%:

.=200

JMP START

.=1000

RESET ;DISABLE ALL INTERRUPTS
#500,5P ;SET STACK POINTER

:§26£6 ;SETUP FOR POSSIBLE NEX MEMORY TRAP
#OFF ,CCR ;DISABLE CACHE

5% :NO TRAP;CONTINUE
(SP)+,(SP)+ ;ADJUST STACK DUE TO TRAP
#6.,4 sRESTORE TRAP VECTORS
659 ;:TYPE ASCIZ STRING

648 ::GET OVER THE ASCIZ
<CRLF>/CKKKABO 11=44 KK11B CACHE/

678 :sTYPE ASCIZ STRING
66$ :;GET OVER THE ASCIZ
<CRLF>/TRAP THRU NEX MEMORY VECTOR OCCURED/

.69% ;s TYPE ASCIZ STRING
68% :sGET OVER THE ASCIZ
<CRLF>/DIAGNOSTIC ATTEMPTED TO TURN CACHE OFF/

718 ::TYPE ASCIZ STRING
708 ::GET OVER THE ASCIZ
<CRLF>/BY ADDRESSING CACHE CONTROL REGISTER/

#1,SMSGTY :SET SMSGTY FOR POSSIBLE APT USE
;HALT PROGRAM
z6.6 ;RESTORE VECTORS
$PASS ;CLEAR PASS COUNT
g:?TSllE.iﬁNVH :58 APT SIZING?
#$SUREG, SWR :YES;USE APT SWITCH REGISTER
42 :IS THIS MANUAL MODE?
3% ;YES TYPE ID
42,46 sIS THIS ACT 11 QV OR AUTO MODE?
2% ;YES;SKIP TITLE
73% ssTYPE ASCIZ STRING

28 ::GET OVER THE ASCIZ
<CRLF>/CKKKABO 11-44 KK11B CACHE /

BEGIN sSTART TEST
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APT PARAMETER BLOCK

569 .SBTTL APT PARAMETER BLOCK

SRR ARRRRRAANEC RO E RN E RN PANRRAARANRARAAANAACAOCOEOOOORNOESY

SSET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

::"t't"'!ttit't""tt'""""Q.it".tt.ittt"'i.tt"Qi"t"".

001452 .$X=.  ;;SAVE CURRENT LOCATION

000024 .=24 ssSET POWER FAIL TO POINT TO START OF PROGRAM
000024 000200 200 :sFOR APT START UP

000044 .=hd :;POINT TO APT INDIRECT ADDRESS PNTR.
000044 001452 SAPTHDR ;;POINT TO APT HEADER BLOCK

001452 «=.8X  ;;RESET LOCATION COUNTER

::.iitl.t'ilt"ii't'"t't"t'i"'.t'ttﬁtt't'liti.tttttt'ti.tt.ttt

;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC

: INTERFACE SPEC.
001452 $APTHD :
001452 000000 $HIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
001454 001466 SMBADR: .WORD SMAIL  ::ADDRESS OF APT MAILBOX (BITS 0-15)
001456 000005 $TSTM: .WORD S :3RUN TIM OF LONGEST TEST-
001460 000010 $SPASTM: .WORD 10 S:RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
001462 000000 SUNITM: .WORD O ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
001464 000052 WORD  SETEND-SMAIL/2 ;;LENGTH MAILBOX~-ETABLE (WORDS)

I |
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.SBYTL APT MAILBOX-ETABLE

32 3 IS e R R iR RRdia ittt a it tiRidiidiidtdiiddiddd)

‘EVEN
$MAIL :
$MSGTY: .WORD
$FATAL: .WORD
$TESTN: .WORD
$PASS: .WORD
$DEVCT: .WORD
SUNIT: .WORD
$MSGAD: .WORD
$MSGLG: .WORD
SETABLE:
$SENV:  .BYTE
$ENVM: .BYTE
$SWREG: .WORD
SUSWR: .WORD
$CPUOP: -WORD

SVECT1: .WORD
SVECT2: .WORD

SDEVH .WORD
$COW1: .WORD
SCDUZ: .WORD
$ODW0: .WORD
$ODW1: .WORD
$DDW2: .WORD
$ODW3: .WORD
$ODW&: .WORD
$ODWS: .WORD
$O0DW6: .WORD
$ODW7: -WORD

AMSGTY
AFATAL
ATESTN
APASS

ADEVCY
AUNLT

AMSGAD
AMSGLG

AENV
AENVM
ASWREG
AUSWR
ACPUOP

AMAMS
AMTYPY

AMADR1

AMAMS?
AMTYP?
AMADR
AMAMS
AMNTYP3
AMADR3
AMAMSS
ANTYP4
AMADR&
AVECT1
AVECT2
ABASE
ADEVA
ACDW1
ACDW2
ADDWO
ADDW1
ADDW
ADDW
ADDW4
ADDW5
ADDW6
ADDW?

::APT MAILBOX

s sMESSAGE TYPE CODE

:sFATAL ERROR NUMBER

;s TEST NUMBER

: :PASS COUNT

s sDEVICE COUNT

;3170 UNIT NUMBER

s sMESSAGE ADDRESS

s sMESSAGE LENGTH

::APT ENVIRONMENT TABLE

: sENVIRONMENT BYTE

: :ENVIRONMENT MODE BITS

ssAPT SWITCH REGISTER

::USER SWITCHES

::CPU TYPE,OPTIONS

BITS 15-11=CPU TYPE

: 11/04=01,11/05=02, 11/20 03,11/40=04,11/45=05

11/70806 PDQ=07,0Q=1

BIT 10=REAL TIME CLOCK

BIT 9=FLOATING POINT PROCESSOR

BIT 8=MEMORY MANAGEMENT

::HIGH ADDRESS,M.S. BYTE

::MEM. TYPE,BLK#

MEM.TYPE BYTE == (MIGM BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=00?2
S00 NSEC M0S=003

:sHIGH ADDRESS ,BLK#1

MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF "TYPE" ABOVE

;:HIGH ADDRESS,M.S. BYTE

: *MEM. TYPE ,BLK#?

S SMEM.LAST ADDRESS,BLK#2

::HIGH ADDRESS,M.S.BYTE

: *MEM. TYPE ,BLKA3

3 MEM.LAST ADDRESS.BLK#3

t:HIGN ADDRESS,M.S.BYTE

s SMEM. TYPE ,BLK A

S SMEM.LAST ADDRESS,BLK#

3 INTERRUPT VECTOR#1,BUS PRIORITY#1
: INTERRUPT VECTOR#2BUS PRIORITYA2

:'BASE ADDRESS OF EQUIPMENT UNDER TEST

:SDEVICE MAP

: sCONTROLLER DESCRIPTION WORD#1

::CONTROLLER DESCRIPTION WORD#2
::DEVICE DESCRIPTOR WORD#0
::DEVICE DESCRIPTOR WORD#1
::DEVICE DESCRIPTOR WORD#
::DEVICE DESCRIPTOR WORD#
::DEVICE DESCRIPTOR WORD#&
::DEVICE DESCRIPTOR WORD#S
::DEVICE DESCRIPTOR WORD#6
::DEVICE DESCRIPTOR WORD#7

]
- ————— —— ——— > —




¢
CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0CT-80 08:39 PAGE 15-* SEQUENCE 15
APT MAILBOX-ETABLE

001572 000000 $ODW8: .WORD ADDW8 ;;DEVICE DESCRIPTOR WORDAS
001574 000000 $ODW9: .WORD  ADDWY  ;;DEVICE DESCRIPTOR WORD#9
001576 000000 $0DW10: .WORD  ADDW10 ;;DEVICE DESCRIPTOR WORDA10
001600 000000 $ODW11: .WORD  ADDW11 ;;DEVICE DESCRIPTOR WORDA11
001602 000000 $ODW12: .WORD  ADDW12 ;:;DEVICE DESCRIPTOR WORDA1
001604 000000 $ODW13: .WORD  ADDW13 ;;DEVICE DESCRIPTOR WORDA1
001606 000000 $ODW14: .WORD ADDW14 ;:;DEVICE DESCRIPTOR WORD#14
001610 000000 $DOW15: .WORD  ADDW1S ;;DEVICE DESCRIPTOR WORDA15

001612 SETEND:
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000001
000001

000001

002054
000001
000100
000004

001502

001504
000004

002056
001506
001466
000004
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001506
001507

000004

001466

001766
000004

001470
000004

.SBTTL APT COMMUNICATIONS ROUTINE

SRR RN RN AR RN RN C RN A C RN NRRARANNRAAAAAAANORAAA AR

$ATY1: movB
SATY3: ngva

B
$SATY4: MOVB
SATY(:

MOV

MOV
1ST8
BEQ
CMPB
BNE
BITB
BEQ
MOV
ADD
1%: TST
BNE
MOV
2%: TSTB
BNE
sSuB
ASR
MOV
MOV
BR
3$: MOV
ADD
MOV
JSR
.WORD

$: 1STB
BEQ
TST
BEQ
118: TST
BNE
MOV
ADD
INC
128: CLRB

AL
(=1 L

RTS
SMFLG: .BYTE

$LFLG: .BYTE-

SFFLG: .BYTE
VEN

.EVE
APTSIZE=200
APTENV=001
APTSPOOL=100
APTCSUP=040

#1,8FFLG
#1.$MFLG
SATYC

#1,8FFLG

RO,=(SP)
R1,-(SP)
gHFLG

$

l:PTENV.‘ENV
#APTSPOOL , SENVM
3%

84 (SP) RO
#2,4(SP)
?=SGTYPE

RO, SMSGAD
(RO) +

2%
$MSGAD,RO
RO

RO,SMSGLGT
#4 ,SMSGTYPE

5%

34 (SP) 48
#2,4(SP)
179776, - (5P)
Sc.tTVPE

$FFLG
12%
SENV

12%
SMSGTYPE
11%

84 (SP) ,SFATAL
#2,4(SP)
SMSGTYPE
SFFLG

SLFLG

SMFLG
(SP)+,R1
(SP)+,RO

[=l=l=iy-
o

;s 70 REPORT FATAL ERROR
::T70 TYPE A MESSAGE

::TO ONLY REPORT FATAL ERROR

::PUSH RO ON STACK
::PUSH R1 ON STACK
;s SHOULD TYPE A MESSAGE?
::1F NOT: BR
: ;OPERATING UNDER APT?
::IF NOT: BR
;s SHOULD SPOOL MESSAGES?
::1F NOT: BR
+sGET MESSAGE ADDR.

::BUMP RETURN ADDR.
::SEE IF DONE W/ LAST XMISSION?
::1F NOT: WAITY
:sPUT ADDR IN MAILBOX
::FIND END OF MESSAGE

;:SUB START OF MESSAGE

:;GET MESSAGE LNGTH IN WORDS
:sPUT LENGTH IN MAILBOX
:sTELL APT TO TAKE MSG.

::PUT MSG ADDR IN JSR LINKAGE
- :BUMP RETURN ADDRESS

;:PUSH 177776 ON STACK

1:CALL TYPE MACRO

:;SHOULD REPORT FATAL ERROR?

::1F NOT: BR
; sRUNNING UNDER APT?
::IF NOT: BR

*:FINISHED LAST MESSAGE?
SUIF NOT: WAIT
:sGET ERROR #

::BUMP RETURN ADDR.
::TELL APT TO TAKE ERROR
:CLEAR FATAL FLAG
: CLEAR LOG FLAG
: SCLEAR MESSAGE FLAG
1:POP STACK INTO R1
13POP STACK INTO RO
: SRETURN
:sMESSG. FLAG
1L06 FLAG
s SFATAL FLAG
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177744
177746
177750
177752
177754
177776
000000

000001
000002
000003
000004
000005
000006
000007
000001
000002

000004
000010
000020
000040
000100
000200
000400

1
2

2888
558

E_2
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CrRRADRRRRRARRARRRARCERCERCERRERREORREARNANRAAANRARACANCOANCEROOEOIOOOETSE

USER LABELS -

H .'tt'i'."iﬁ..'.'i"!"'t""ti'ttit'ti'ittttttt't'lit'.'tt"'."

STSTNM:

LOOP:

CMRPAT:
CHRPAT: .

FAILY:
FAILZ:

SWR:
$TKS:
$TKB:
$TPS:
$TPB:
$NULL:

SFILLS:
$FILLC:
$TPFLG: .

377 S$BELL:
$QUES:
$CRLF:

$SLF: .
000 SENULL:

DOODODODDDODODOOOD
s B el D Gt S Gt Py et foeeg Bt 3o B—o
I e e b b
-t et =t OOOOOOOOOON N UM
N=2OOWNO VNN = O
R R R R RN RN

(elelolelele]

177570

2
<207><377><37>
/?/

<15

<12>

-1 '-1 '0

REGISTER DEFINITIONS

OoO—=MNO

177744 ;CACHE MEMORY PARITY FAULT REGISTER
177746 sCACHE CONTROL REGISTER

177750 :CACHE MAINTENANCE REGISTER

177752 ;CACHE HIT REGISTER

177754 : CACHE DATA REGISTER

177776 ;PROCESSER STATUS WORD

;GENERAL REGISTERS
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BIT13 = 20000
BIT14 = 40000
BIT1S = 100000
KPDRO = 172300
KPDR1 = 172302
KPDR2 = 172304
KPDR3 = 172306
KPDR4 = 172310
KPDRS = 172312
KPDR6 = 172314
KPDR7 = 172316
KPARO = 172340
KPAR1 = 172342
KPAR2 = 172344
KPAR3 = 172346
KPARG = 172350
KPARS = 172352
KPARG = 172354
KPAR? = 172356
SRO = 177572
SR3 = 172516
UMPROO= 170200
UMPRO1= 170202
UMPR0O2= 170204
UMPRO3= 170206
UMPRO4= 170210
UMPROS= 170212
UMPRO6= 170214
UMPRO7= 170216
UMPRO8= 170220
UMPR09= 170222
BECC = 170002
BEBA = 170004
BEDA = 170000
BECR1 = 170006
BECR2 = 170016
APTSIZE=200
APTENV=001
APTSPOOL=100
APTCSUP=040
;CCR REGISTER
DCPI=1
FMLO=4
FMHI=10
wwWPD=100
PEA=200
FC=400
ucB=1000
WWPT=2000
vCIP=10000
vS$1U=20000

;CMR REGISTER
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REGISTER DEFINITIONS
689 00

0001 TDAR=1
690 0002 HODO=2
691 000004 EHA=4
692 000010 AM=10
693 20 ESA=20
694 000400 HIT=400
695 001000 TPB=1000
696 002000 LPB=2000
697 004000 HPB=4000
698 010000 vLD=10000
699 020000 CM3=20000
700 040000 CM2=40000
;8; 100000 CM1=100000
703 ;CME REGISTER
704 000040 TPE=40
705 000100 PELO=100
706 000200 PEHI=200
;8: 100000 CMPE=100000
709 000001 TSTID=1
710 000004 SCPCND=4
m 001015 OFF=1015
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712 ; ; 2322203222232 222222223222222222222223233332333323302233300222320323]

713 ; SETUP TEST CONDITIONS:

714 : 1. TEST ITERATIONS

715 : 2. LOAD TEST VECTORS FOR LOOP ON TEST,

;}g ; LOOP ON ERROR

718 E X 2222222322223222233223222222323332332323232233312333323223323232232320222222%3}

719 002126 000000 STRTST: .WORD O

720 002130 000000 STRTLP: .WORD 0

721 002132 000000 ADRSYNC: .WORD 0

722 002134 000000 ADRJMP: .WORD 0

723 002136 000000 ADR1S: .WORD O

724 002140 000000 TSTCNT: .WORD O

;gz 002142 000001 TSTIMS: .WORD 1.

758

729 002144 012737 000340 177776 $SCPSET:MOV #340,PSW :CPU HI PRIORITY

730 002152 113737 001472 002060 MCVB  STESTN,STSTNM  :MOVE TEST NUMBER TO $TSTNM

731 002160 022737 000001 001472 CMP #1,$TESTN ;1S THIS TEST 1?

732 002166 001434 BEQ 3 :YES,DO NOT CONSIDER LOOP ON TEST

733 002170 032777 040000 177676 BIT #BIT14,3SWR :LOOP ON TEST?

734 002176 001413 BEQ 4$ :NO

735 002200 013702 001472 MOV $TESTN,R2 :GET PRESENT TEST NUMBER

736 002204 005302 DEC R2 :GET LAST TEST NUMBER

737 002206 120277 177662 CMPB  R2,aSWR ;1S THIS THE TEST?

738 002212 001005 BNE (s :NO

739 005514 005337 001472 5% DEC STESTN :YES;PREPARE FOR LOOP ON TEST

740 002220 013716 002126 MOV STRTST, (SP) :FUDGE RETURN

741 0022264 000002 RTI ;GO LOOP ON TEST

762 002226 005737 001474 4$: ST $PASS :FIRST PASS?

743 002232 001412 BEQ 3 SYES; INHIBIT TEST ITERATIONS

744 002234 032777 004000 177632 BIT #BIT11,aSWR :INHIBIT ITERATIONS?

745 002242 001006 BNE 3 :YES

746 002244 005237 002140 INC TSTCNT : INCREMENT TEST ITERATION COUNTER

747 002250 023737 002142 002140 CMP TSTIMS,TSTCNT  ;ITERATIONS COMPLETE?

748 002256 001356 BNE 5% :NO CONTINUE WITH TEST

749 002260 005037 002140 3s: CLR TSTCNT

750 002264 011601 MOV (SP) ,R1 :GET ADDRESS OF FIRST ARGUEMENT

751 002266 012137 002126 MOV (R1)+,STRTST :LOCATION OF START OF TEST

752 002272 012137 002130 MOV (R1)¢,STRTLP  ;LOCATION OF START OF SCOPE LOOP

753 002276 012137 002132 MOV (R1)+.ADRSYNC  :ADDRESS LOADED INTO AMR FOR SCOPE SYNC

754 002302 012137 002134 MOV (R1)+,ADRJMP  :ADDRESS OF END OF SCOPE LOOP AND
S :WHERE "JMP' IS WRITTEN

756 002306 013737 002134 002136 MOV ADRJMP,ADR1S  ;

757 002314 062737 000002 002136 ADD #2 ,ADR{S :LOCATION WHERE *1$%' IS WRITTEN

758 002322 012777 000240 177604 MOV #260,3ADRJMP  :INITIALJZE SCOPE LOCATIONS

002330 012777 000240 177600 MOV #240,3ADR1S
760 002336 010116 MOV R1,(SP) :SETUP STACK FOR RETURN

761 002340 000002 RTI




778 002376
779 002400
780 002402
781 002404
782 002410
783 002414

CKKKABO 11-44 KK11B CACHE
RELOCATION HANDLERS

060000

002366
060000

070000

002414
070000

[ 2
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.SBTTL RELOCATION HANDLERS

S 22222221 i e R R R R R R R RRdddRRRdRidld)

H RELOCATION HANDLERS

seRRRRRRRARRRRRRRERCORRRRCOCRRRORRANARARANCARNARAARRACOROORRRAONETS

RELCTL: :gs #LOW1,R1 ;START OF LOW SPACE

‘ (R4) + R2 ‘END OF MOVE

18: MOV (R&)*+. (R1)+ *TRANSFER TEST
gzg ?:.nz *PROCEED TO STOP MARK
MOV 28, (R1)+ :RETURN INSTRUCTION
JMP 60000 *START TESTS

2%: RTS R4

RELCTH: MOV PHIGHT,RY :START OF HI SPACE
MOV (R4)+,R2 ‘END OF MOVE

18: MOV (R&)+. (R1)+ :TRANSFER TEST
g:: ?:,az :PROCEED TO STOP MARK
MOV 28, (R1)+ sRETURN INSTRUCTION
JMP 70000 ‘START TESTS

2%: RTS R4
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RELOCATION HANDLERS

784 002416 012706 000500 BEGIN: MOV #500,SP :SET UP STACK

785 002422 000005 RESET

786 002424 012737 000340 177776 MoV #340,PSW ;CPU HI PRIORITY

787 002432 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACHE

788 002440 005037 001472 CLR STESTN ;RESET TEST ID COUNTER
789 002444 012737 000002 000000 MoV 9,0 ;INITIALIZE A FEW VECTORS
790 002452 005037 000002 CLR 2

791 002456 012737 000006 000004 MOV #6,4

792 002464 005037 000006 CLR 6

793 002470 012737 000116 000114 MoV #116,114

794 002476 005037 000116 CLR 116

795 002502 005037 002062 CLR LOOP ;SOF TWARE DELAY

796 002506 005337 002062 18: DEC LOOP

797 002512 001375 BNE 1%
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TEST # 1 = CACHE REGISTER RESPONSE TESTS

802 .SBTTL TEST # 1 = CACHE REGISTER RESPONSE TESTS
!t'Qit.tt'tt'tt""'"'t""'t't't"'ttittttQtttt'itttttttttttt
-resr 1 = CACHE REGISTER RESPONSE TESTS
e ATTEMPT READ INTO CME TO TEST ADDRESS SELECT LOGIC
i IF TIME OUT OCCURES THWEN LOGIC IN FAULT
%g;;tﬁtttttttQQ'ttti"'"tttt'tttttttttt!tttttittt't'tttttt'Qtttt
002514 .
803 002514 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
ERROR/LOOP ON TEST
002516 002526 .WORD 40% TEST START LOCATION
002520 002526 WORD 1% :LOOP ON ERROR START LOCATION
002522 000000 .WORD 0 SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88%;%: 002552 408 .WORD 25% :LOOP ON ERROR END LOCATION
804 002526 012737 002560 000004 18: MOV 92,4 :SETUP TRAP VECTOR
805 002534 012737 000340 000006 MOV #3406
806 002542 005737 177744 TST CME ;READ PARITY REGISTER
807 002546 000240 NOP
808 002550 000240 NOP
809 002552 000240 25%: NOP ;INSTRUCTION "JMP 1$' PLACED HERE
002554 000240 NOP :FOR LOOP ON ERROR
810 002556 000411 BR 10% :NO FAULT;GO TO NEXT TEST
811 002560 022626 2$: CMP (SP)+,(SP)+ :READJUST STACK DUE TO INTERRUPT
812 002562 012737 000006 000004 MOV 06,4 ‘RESTORE TRAP VECTOR
813 002570 005037 000006 CLR 6
814 002574 104406 ERROR :ERROR
002576 002574 WORD  .=2
815 :CACHE REGISTER RESPONSE TESTS
816 :READING PARITY FAULT REGISTER
g}; :CAUSED TIMEOUT
519 002600 000000 .WORD O
820 002602 000240 108:  NOP :END OF TEST
002604 005237 001472 INC $TESTN s INCREMENT TEST COUNTER
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TEST #

825

002650

36 002664
837 002670
002672

38

839
840

841

842 002674

843 002676
002700

000004

002622
002622
000000

002646
012737

000000
000240
005237

002654
000340
177746

000006
000006

001472
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000004
000006

000004

2 = READ CCR TO CHECK ADDRESS SELECT LOGIC

.SBTYL TEST # 2 = READ CCR TO CHECK ADDRESS SELECT LOGIC

tt'i'tt'"t.'!'t""i'""""""Q'.'tt.'t"iitttttit..'t"'tt

;*TEST 2 = READ CCR TO CHECK ADDRESS SELECT LOGIC

it ATTEMPT READ INTO CCR TO CMECK ADDRESS SELECT LOGIC
e IF TIME OUT OCCURES THEN LOGIC IN FAULT
is;;!"ttt'tti"'t't"'ii'QQ'Q'.t"it"!'tt.t.'..tt.'.'Q'.".QQ.'
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.MORD  40% STEST START LOCATION
WORD 1% SLOOP ON ERROR START LOCATION
WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
e JWORD 258 :LOOP ON ERROR END LOCATION
18: MOV 28,4 :SETUP TRAP VECTOR
MOV #340,6
ST CCR :READ CACHE CONTROL REGISTER
NOP
NOP
258:  NOP :INSTRUCTION *JMP 1$' PLACED HERE
NOP :FOR LOOP ON ERROR
BR 108 *NO FAULT:GO TO NEXT TEST
28: CMP (SP)+,(SP)+ :READJUST STACK DUE TO INTERRUPT
?o; ze.k ‘RESTORE TRAP VECTOR
L
ERROR :ERROR
JWORD  .=2
:CACHE REGISTER RESPONSE TESTS
:READING CACHE CONTROL REGISTER
:CAUSED TIMEOUT
JMORD O
108:  NOP :END OF TEST
INC $TESTN *INCREMENT TEST COUNTER




n2
CKKKABO_11-44 KK11B CACHE MACRO M1113 27-0CT-80 08:39 PAGE 24 SEQUENCE 25
TEST # 3 = READ CMR TO CHECK ADDRESS SELECT LOGIC

848 .SBTTL TEST # 3 - READ CMR TO CHECK ADDRESS SELECT LOGIC

. ﬁt't"lt*i"'tt'Q'i'C""'t"'it.'.t.'.t"'.QQ'QQ.Q"'Q.'Q.'QQ'

;*TEST 3 = READ CMR TO CHECK ADDRESS SELECT LOGIC

i ATTEMPT READ INTO CMR TO CHECK ADDRESS SELECT LOGIC
v IF TIME OCCURES THEN LOGIC IN FAULT
X 212222222222282222 22 22 i 1323323232338 22303822232322101%)]
002704 té13:
849 002704 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
002706 002716 .MORD 408 :TEST START LOCATION
002710 002716 WORD 1% :LOOP ON ERROR START LOCATION
002712 000000 MORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88%;}2 002742 e .WORD  25% :LOOP ON ERROR END LOCATION
850 002716 012737 002750 000004 1%: MOV % :SETUP TRAP VECTOR
851 002724 012737 000340 000006 MOV .wa
852 002732 005737 177750 ST CMR :READ MAINTENANCE REGISTER
853 002736 000240 NOP
854 002740 000240 NOP
855 002742 000240 258:  NOP :INSTRUCTION 'JMP 18° PLACED MERE
002744 000240 NOP :FOR LOOP ON ERROR
856 002746 000411 BR 108 INO FAULT;GO TO NEXT TEST
857 002750 022626 28: CMP (SP)+,(SP)+ :READJUST STACK DUE TO INTERRUPT
858 002752 012737 000006 000004 MOV 26,4 :RESTORE TRAP VECTOR
859 002760 005037 000006 CLR 6
860 002764 104406 ERROR ; ERROR
002766 002764 MORD  .=2
1 :CACHE REGISTER RESPONSE TESTS
862 :READING MAINTENANCE REGISTER
863 :CAUSED TIMEOUT
864 002770 .WORD O
865 002772 000240 108:  NOP :END OF TEST
002774 005237 001472 INC STESTN :INCREMENT TEST COUNTER

SaRal
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TEST # & - READ INTO CHR TO CHECK ADDRESS SELECT LOGIC

870 .SBTTL TEST # & = READ INTO CHR TO CHECK ADDRESS SELECT LOGIC

3 !"'...Q"'.'QQ"!QQ"'Q'Q"'."".""'..t't".""t.'t"'tt'Q

;*TEST & = READ INTO CHR TO CHECK ADDRESS SELECT LOGIC

‘e ATTEMPT READ INTO CHR TO CMECK ADDRESS SELECT LOGIC
i IF TIME OUT OCCURES THEN LOGIC IN FAULT
1222222222823 223232223323332222223 3838232333383 3288220202022021]1])]
003000 t1e:
871 003000 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
003002 003012 JMORD  40% :TEST START LOCATION
003004 003012 .WORD 1% :LOOP ON ERROR START LOCATION
003006 000000 WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
8838}° 003036 . .WORD  25% :LOOP ON ERROR END LOCATION
872 003012 012737 003044 000004 18: MOV 28,4 :SETUP TRAP VECTOR
873 003020 012737 000340 000006 MOV #340.,6
874 003026 005737 177752 TST CHR :READ HIT REGISTER
875 003032 000240 NOP
876 003034 000240 NOP
877 003036 000240 258:  NOP :INSTRUCTION 'JMP 18' PLACED HERE
003040 000240 NOP :FOR LOOP ON ERROR
878 003042 000411 BR 108 :NO FAULT;GO TO NEXT TEST
879 003044 022626 2%: CMP (SP)+,(SP)+ READJUST STACK DUE TO INTERRUPT
880 003046 012737 000006 000004 MOV 96,4 ‘RESTORE TRAP VECTOR
881 003054 005037 000006 CLR 6
882 003060 104406 ERROR :ERRCR
003062 003060 JWORD  .=2
pasy :CACHE REGISTER RESPONSE TESTS
884 :READING HIT REGISTER
885 :CAUSED TIMEOUT
886 003064 000000 JWORD O
587 003066 000240 108:  NOP :END OF TEST

003070 005237 001472 INC STESTN : INCREMENT TEST COUNTER

b o e e m m  e c— ————— —— —— — . - .- - - - . — o —— — -———

e e s =
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TEST # 5 = READ CDR TO CHECK ADDRESS SELECT LOGIC

892 .SBTTL TEST # 5 = READ COR TO CHECK ADDRESS SELECT LOGIC

'tt'.'t"QQQ"""i""t""'i'ti'ttt"iiitt'i.""'tt""l".!

;*TEST § = READ COR TO CHECK ADDRESS SELECT LOGIC

i ATTEMPT READ INTO COR TO CHECK ADDRESS SELECT LOGIC
' i IF TIMEOUT OCCURS THEN LOGIC IN FAULT
g;;t'tttttttttttttttttt'itti'Qttt'tttt'ﬁﬁt!t'!'t"!tlt'ttl"tt't
003074
893 003074 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST
003076 003106 .WORD  408% :TEST START LOCATION
003100 003106 .WORD 1% .LOOP ON ERROR START LOCATION
003102 000000 WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88;}82 003132 «08 .WORD  25% :LOOP ON ERROR END LOCATION
894 003106 012737 003140 000004 1§: Mov #28,4 ;SETUP -TRAP VECTOR
895 003114 012737 000340 000006 Mov #346 6
896 003122 005737 1777564 TST COR ;READ DATA REGISTER
897 003126 000240 NOP
898 003130 000240 NOP :
899 003132 000240 25%: NOP ;INSTRUCTION 'JMP 1$' PLACED HERE
003134 000240 NOP ;FOR LOOP ON ERROR
900 003136 000411 BR 108 :NO FAULT;GO TO NEXT TEST
901 003140 022626 2$: CMP (SP)+,(SP)+ ;READJUST STACK DUE TO INTERRUPT
902 003142 012737 000006 000004 . MoV #6,4 ;RESTORE TRAP VECTOR
903 003150 005037 000006 CLR 6
904 003154 104406 ERROR ;ERROR
003156 003154 .WORD  .-2
5 ;CACHE REGISTER RESPONSE TESTS
906 ;READING DATA REGISTER
907 ; CAUSED TIMEOUT
908 003160 000000 WORD 0
09 003162 000240 108: NOP ;END OF TEST

003164 005237 001472 INC $TESTN ; INCREMENT TEST COUNTER
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003170
918 003170

00
919 003202
920 003210

003212
921 003214
922 003222
923 003224

003226
924
925
926
927 003230
928 003232
003234
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000004
003202
003202
000000
003210
012737

0

104406
003224

000000

000240
005237 001472
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JSBTTL TEST # 6 = TEST ADRS SEL LOGIC - WRITE 1 TO BIT O OF CME

YIS Ittt e e e R R L A A A A A A A A AR A A A A A A A h

;#TEST 6 = TEST ADRS SEL LOGIC = WRITE 1 TO BIT 0 OF (ME
: ECTION LOGIC BY WRITING ONE INTO UNUSED

i TESTING ADDRESS asL
A CME REGISTER BITOO THEN READ CONTENTS OF REGISTER BACK
i LOOKING TO SEE IF BITOO STILL READS AS 0.
:: é;sgé}gg 1S SET IT 1S POSSIBLE WE ARE ADDRESSING THE WRONG
i:.i."Q"Q."".""'"'f*'"'".‘....'...'."""Q"i".i'Q.."
ST6:
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;:ERROR/LOOP ON TEST
MORD 40% ;TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
408 .WORD 25% :LOOP ON ERROR END LOCATION
1$: MoV #1,CME ;WRITE 1 INTO BITOO
25%: NOP ;INSTRUCTION "JMP 18" PLACED HERE
NOP :FOR LOOP ON ERROR
BIT #1,CME ;CHECK FOR 0
BEQ 108 :PASS;NEXT TEST
ERROR sERROR
.WORD Y
:CACHE REGISTER RESPONSE TESTS -
:UNUSED CME BITO0 READ AS 1
" :POSSIBLE REG. ADDRESS ERROR

108: NOP ;END OF TEST
INC $TESTN s INCREMENT TEST COUNTER




3
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TEST # 7 = TEST BIT O OF DCPI & BIT 1 OF CCR

935 .SBTTL TEST # 7 - TEST BIT 0 OF DCPI & BIT 1 OF CCR

"'t"'Q'Q'QQt"tQ't"""""iitt't'tt'iiittii'i..'!'ﬂ'.'"Q.'

;*TEST 7 = TEST BIT 0 OF DCPI & BIT 1 OF CCR

i ASSURING BITOO(DCPI) READS AS A 1 AND TESTING ADDRESS
ot SELECT LOGIC BY WRITING 1 INTO BITOO OF CCR AND THEN
o READING A 1.1F BITOO READS AS O POSSIBLE ADDRESSING
o WRONG REGISTER OR CCR REGISTER/DATA PATH ARE BAD.
32‘0 ig;;iit"iitiii'iitﬁﬁi'Q""'""'."'...".'..Q.."."'*'.."'Q'
00 :
936 003240 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
ERRORILOOP ON TEST
003242 003252 .WORD 40% TEST START LOCATION
003244 003252 WORD 1§ .LOOP ON ERROR START LOCATION
003246 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88§%§g 003260 408+ .WORD 25% .LOOP ON ERROR END LOCATION
937 003252 032737 000001 177746 1$: BIT #1,CCR ;:CHECK BITOO FOR 1
938 003260 000240 25%: NOP :INSTRUCTION "JMP 18' PLACED HERE
003262 000240 NOP FOR LOOP ON ERROR
939 003264 001003 BNE 10% :PASS:NXT TEST
940 003266 104406 ERROR :ERROR
003270 003266 .WORD .=2
1 :CACHE REGISTER RESPONSE TESTS
942 , UROTE 1 INTO BITOO CCR; READ 0
943 003272 000000 MORD O
944 003274 000240 108: NOP ;END OF TEST

003276 005237 001472 INC S$TESTN : INCREMENT TEST COUNTER
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TEST # 10 = CACHE CONTROL REGISTER DATA TEST (CCR)

949

003302
950 003302

951

952 003322
003324

953 003326

954 003330

003332
5

956

957

958

959 003334

960 003336
003340

000004
003314
003314
000000
003322
032737 010000 177746
000240
000240
001493
104406

003330

000000
000240
005237 001472

.SBTYL TEST # 10 = CACHE CONTROL REGISTER DATA TEST (CCR)

HAAAA A AR A AR AR AR AR AR LY Rttt RRtERARERRRARRRORNSE

;*TEST 10 - CACHE CONTROL REGISTER DATA TEST (CCR)

i VERIFY THAT CCR BIT12C(VCIP) READS AS A O, SINCE A CLEARING
:® OF VALID STORE SHOULD NOT BE WAPPENING AT THIS TIME
*s;;attttttitttttt'tttt'tt'ttttitttQﬁtt'tQ.Qtttﬁttt'ttttttttttttt
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40% ;TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
WORD O ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
<08 .WORD  25% :LOOP ON ERROR END LOCATION
18: BIT #BIT12,CCR ;CHECK FOR 0
25%: NOP ;INSTRUCTION "JMP 18' PLACED HERE
NOP :FOR  LOOP ON ERROR
BEQ 108 ;PASS
ERROR ;ERROR
WORD  .-=2

;CCR. DATA TEST
:READ 1 FROM CCR BIT12. A CLEARING OF
:VALID STORE AT THIS TIME SHOULD NOT
;BE INDICATED

.WORD 0

108: NOP ;END OF TEST
INC STESTN ; INCREMENT TEST COUNTER
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TEST #

966

003344
967 003344

003346
003350
003352
003354
003356
968 003356
969 003364
970 003372
971 003376
003400
972 003402
973 003406
974 003410

977 003414
978 003416
003420

000004

003356
003364

000000
003376
012737

042737
013700

001403
104406

003410

000000
000240
005237

k3
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11 = TEST BIT 0 OF CCR

001415 1
000001 1
177746

000001

001472

77
77

7646
746

.SBTTL TEST # 11 = TEST BIT 0 OF CCR
QQ'Q.QQ'*Q'.QQQQQ'Q'QQ'Q't"t"iQ't'itttQttttt'ii't""'i.'lQ'Q
SRTEST 11 = TEST BIT 0 OF CCR

i WRITE ZERO INTO CCR BITOO THEN READ CCR

i IF CCR IS READ AS ONE THEN CACHE CCR REGISTER MAY BE BAD
i OR CACHE REGISTER DATA PATH COULD BE IN ERROR
is;;;""".'l"""'Q'i""'t"'QQQ""Q.Q""QQ'.QQ.Q"ii'i"'i
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
MORD 408 TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
MORD 0 “SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
g, WORD 258 LOOP ON ERROR END LOCATION
MOV WOFF+BITOB,CCR ;DISABLE AND FLUSH CACHE
1$:  BIC  #BIT00,CCR WRITE 0
MOV CCR,RO :SAVE CCR CONTENTS
258:  NOP SINSTRUCTION ‘JMP 18* PLACED HERE
NOP :FOR LOOP ON ERROR
BIT  #BITO0,RO :CHECK FOR 0
BEQ 108 :PASS; NXT TEST
ERROR $ERROR
MORD =2
sCCR DATA TEST
UROTE 0 INTO BITOO CCR; READ 1
MORD 0
108:  NOP ;END OF TEST

INC S$TESTN ; INCREMENT TEST COUNTER

e —————————
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TEST # 12 - TEST CLEARING OF BIT 2 OF CCR

984

13 27-0CT-80 08:39 PAGE 21 SEQUENCE 32

SBTIL TEST # 12 = TEST CLEARING OF BIT 2 OF CCR

t".""""'.""""""""""Q'Q"'Qt'l""'iQ'it'.'ittt't

tTﬁST 12 = TEST CLEARING OF BIT 2 OF CCR
WRITE ZERO INTO CCR BITO2(FMLO) THEN READ CCR

:- IF BITO2 IS READ AS ONE THEN CCR REGISTER MAY BE BAD
;v OR CACHE REGISTER DATA PATH MAY BE AT FAULT
X 2122222222222222222222X22223233223332333133333333333333332332222322323,]
003424 té112:
985 003424 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST

003426 003436 .WORD 408 STEST START LOCATION
003430 070000 "WORD  1$-40$+67764  :LOOP ON ERROR START LOCATION
003432 000000 WORD 0 *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
003434 070006 'WORD  258-408+67764  :LOOP ON ERROR END LOCATION
003436 012737 001015 177746 40S: MOV #OFF ,CCR :DISABLE CACHE
003444 004437 002370 JSR R4 ,RELCTH *LOCATE TEST CODE TO HIGH CACHE SPACE
003450 003514 LWORD  108+2 *ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10%
;ARE RELOCATED TO HI CACHE SPACE

986 003452 042737 00000« 177746 1%: BIC #B1702,CCR :WRITE 0
987 003460 000240 258:  NOP SINSTRUCTION 'JMP 18' PLACED MERE
003462 000240 - NOP :FOR LOOP ON ERROR
988 003464 013701 177746 MOV CCR,R1 :SAVE CCR CONTENTS
989 003470 012737 001015 177746 MOV #OFF ,CCR , :DISABLE CACHE
990 003476 032701 000004 BIT #81102 ,R1 :CHECK FOR C
991 003502 001403 BEQ 108 SPASS: NXT TEST
992 003504 104406 ERROR ERROR
003506 003504 WORD  .=2
3 :CCR DATA TEST
:WROTE 0 INTO CCR BITO2; READ 1
995 003510 000000 .WORD O
996 003512 000240 108:  NOP :END OF TEST
003514 005237 001472 INC $TESTN S INCREMENT TEST COUNTER
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TEST # 13 - TEST SETTING OF BIT 2 OF CCR

1002

003520
1003 003520 000004

003522 003532
003524 003532
003526 000000
003530 003540

003532 052737 000004 177746
003540 000240

003542 000240

003544 032737 000004 177746
001003

003554 104406

003556 003554

S §%2 5%
g

000000
000240
003564 005237 001472

- d h
(=]l
P Q- Gauard
N=O
S
W
i
3
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.SBTTL TEST # 13 = TEST SETTING OF BIT 2 OF CCR

R L L L R L L L R L e T T T e R T LR
;*TEST 13 = TEST SETTING OF BIT 2 OF CCR
j e WRITE ONE INTO CCR BITO2(FMLO) AND ASSURE THAT IT READS 1.
;® IF READS BACK AS O THEN CCR MAY BE BAD OR CACE DATA PATH
;e IS AT FAULT
S

Qttﬁt't'ii.t""""Qtt"'tt't"it'ttiiitlittt"'t."'.".""Q

SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

.WORD  40% ;TEST START LOCATION
MORD 1% ;LOOP ON ERROR START LOCATION
.WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
408 .WORD  25% :LOOP ON ERROR END LOCATION
1$: BIS #FMLO,CCR :
258: NOP ;INSTRUCTION *JMP 1$' PLACED HERE
NOP ;FOR LOOP ON ERROR
BIT #B81702,CCR s CHECK FOR 1
BNE 108 :PASS
ERROR :ERROR
.WORD  .=2
sCCR DATA TEST
:WROTE 1 INTO CCR BIT02; READ 0
.WORD 0
108: NOP ;END OF TEST
INC S$TESTN s INCREMENT TEST COUNTER
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TEST # 14 = TEST CLEARING OF CCR BIT 3

1018 .SBTTL TEST # 14 = TEST CLEARING OF CCR BIT 3
: :"t'.lﬁ"'ti't""i'tt"t"'i"t"".'it‘l"'l'tit't"'"QQ..Q"
SATEST 14 = TEST CLEARING OF CCR BIT 3
i WRITE Sao INTO CCR BITO3(FMHI) THEN READ CCR
i IF BITO3 READ BACK AS ONE THEN CCR REGISTER BIT MAY BE BAD
i OR CACHE REGISTER DATA PATH MAY BE AT FAULT
. :'QQ'Q"'"t't't'QQ'Q""""Q'.'!'Q"".lt.t"t'i.tt't""""t
003570 T$T14:
1019 003570 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
003572 003602 .WORD  40% STEST START LOCATION
003574 060000 "WORD  1$-40$+¢57764  :LOOP ON ERROR START LOCATION
003576 000000 WORD O 1SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
003600 060012 "WORD  25$-40$+57764  :LOOP ON ERROR END LOCATION
003602 012737 001015 177746 408: MOV #OFF,CCR :DISABLE CACHE
003610 004437 002342 JSR R4 ,RELCTL *LOCATE TEST CODE TO LOW CACHE SPACE
003614 003660 WORD  10$+2 ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
*ARE RELOCATED TO LOW CACHE SPACE
1020 003616 042737 000010 177746 18: BIC #B1T03,CCR :WRITE 0
1021 003626 013700 177746 MOV CCR,RO *SAVE CONTENTS OF CCR
1022 003630 000240 258:  NOP “INSTRUCTION *JMP 1$' PLACED HERE
003632 000240 NOP :FOR LOOP ON ERROR
1023 003634 012737 001015 177746 MOV #OFF ,CCR ‘:DISABLE CACHE
1024 003642 032700 000010 BIT #B1103,R0 :CHECK FOR 0
1025 003646 001403 BEQ 108 1PASS
1026 003650 104406 ERROR ERROR
003652 003650 JWORD  .=2
1027 :CCR DATA TEST
1028 *WROTE 0 INTO CCR BITO3; READ 1
1029 003654 JWORD O
1030 003656 000240 108:  NOP :END OF TEST
003660 005237 001472 INC $TESTN “INCREMENT TEST COUNTER
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TEST # 15 - TEST SETTING OF CCR BIT 3

1036 .SBT!L TEST # 15 = TEST SETVING OF CCR BIT 3

ttQ"tt'Q't..'."'(""""""'l"'i."'."l'.ttt"'.""..t't

S*TEST 15 - TEST SETTING OF Sga BIT 3
i WRITE 1 INTO CCR BITOS(.MHI) AND ASSURE IT READS 1
. IF CCR BITOS READ AS ZERO THEN CCR REGISTER BIT MAY BE BAD
;v UR CACHE REGISTER DATA PATH MAY BE AT FAULT
.itti'itt'titt't'tit't""t""'QQt"l"".'.."'Q!QQ"""QQQ"
003664 T$115:
1037 003664 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
003666 003676 .MORD  40S% :TEST START LOCATION
003670 003676 .MORD 1% :LOOP ON ERROR START LOCATION
003672 000000 JMORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THWIS TEST
88%2;: 003704 A .MORD 258 :LOOP ON ERROR END LOCATION
1038 003676 052737 000010 177746 1$: BIS #FMHIL, CCR ;
1039 003704 000240 258:  NOP :INSTRUCTION 'JMP 1$' PLACED MERE
003706 000240 NOP :FOR LOOP ON ERROR
1040 003710 032737 000010 177746 BIT #B1703,CCR :CHECK FOR 1
1041 003716 001003 BNE 108 :PASS
1042 003720 104406 ERROR ERROR
003722 003720 JMORD =2
1043 :CCR DATA TEST
1044 :WROTE 1 INTO CCR BITO3; READ 0
1045 003724 000000 .WORD 0
1046 003726 000240 108:  NOP :END OF TEST
003730 005237 001472 INC $STESTN *INCREMENT TEST COUNTER
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TEST # 16 = TEST CLEARING OF BIT 6 OF CCR

1052

SBTTL TEST # 16 = TEST CLEARING OF BIT 6 OF CCR

'ti""!."'t"""""""""tt'..'.'tt".t"tt't'tiittltit..

tTEST 16 = TEST CLEARING OF BIT 6 OF CCR

e WRITE O INTO CCR BITO6(WWPD) THEN READ CCR
v IF BITO6 READ AS ONE THEN CCR REGISTER BIT MAY BE BAD
" OR CACHE REGISTER DATA PATH MAY BE AT FAULT
..QitiQQQ'ti.'.'i""""Q"i'"'Q..Q"'.".Q..""..QQ'Q'.QQQ'Q'
003734 TST16:
1053 003734 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST
003736 003746 .WORD  40$% :TEST START LOCATION
003740 003746 .WORD 1% ;LOOP ON ERROR START LOCATION
003742 WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88;;:: 003754 408 .WORD  25% ;LOOP ON ERROR END LOCATION
1054 003746 042737 000100 177746 1§: BIC #B81706,CCR ;WRITE 0
1055 003754 000240 258: NOP ;INSTRUCTION 'JMP 1$' PLACED HERE
003756 000240 NOP :FOR LOOP ON ERROR
1056 003760 032737 000100 177746 BIT #B1706,CCR ; CHECK FOR 0
1057 003766 001403 BEQ 108 :PASS
1058 003770 104406 ERROR ;ERROR
003772 003770 .WORD  .-2
1059 ;CCR DATA TEST
1060 ;WROTE 0 INTO CCR BITO06; READ 1
1061 003774 WORD 0
1062 003776 000240 108: NOP ;END OF TEST
004 005237 001472 INC STESTN ; INCREMENT TEST COUNTER
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TEST # 17 = TEST CLEARING OF BIT 7 OF CCR

1068

1070 004016

042737 000200 177746

0
032737 000200 177746

000240
005237 001472

MACRO M1113 27-0(1-80 08:39 PAGE kb SEQUENCE 37

.SBTIL TEST # 17 = TEST CLEARING OF BIT 7 OF CCR

t'tl"it"".""'.""iit"'i.."....."t.'..'.!'Q'...'Q'Q'."

'TEST 17 = TEST CLEARING OF BIT 7 OF CCR

o ITE ZERO INTO CCR BITO7(PEA} THEN READ CCR
e lF CCR BITO7 READ AS ONE THEN CCR REGISTER BIT MAY BE BAD
:® OR CACHE REGISTER DATA PATH MAY BE AT FAULT
fg;;;!tttt!Q'Qtt"tttt""ttt'.'ttt.tttt'tttt.ttQittittﬂitttﬁtttt
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST
.WORD 408 ;TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
408 .WORD  25% :LOOP ON ERROR END LOCATION
18: BIC #81707,CCR ;WRITE 0
25%: NOP ;INSTRUCTION *JMP 18°' PLACED HERE
NOP :FOR LOOP ON ERROR
BIT #B81707,CCR ;CHECK FOR 0
BEQ 108 :PASS
ERROR ;ERROR
WORD .=2
;CCR DATA TEST
:WROTE 0 INTO CCR BITO7; READ 1
.WORD 0
108: NOP ;END OF TEST
INC STESTN ; INCREMENT TEST COUNTER
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1084

004054
1085 004054 000004

004056 004066

004060 004066

004062 000000

004064 004100

004066
1086 004066 052737 000200 177746
1087 004074 013700 177746
1088 004100 000240

004102 000240
1089 004104 012737 001015 177746
1090 004112 032700 000200
1091 004116 001003
1092 004120 104406

004122 004120
1093
1094
1095 0051%6
1096 004126 000240

004130 005237 001472
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TEST # 20 - TEST SETTING OF BIT 7 OF CCR

.SBTTL TEST # 20 = TEST SEVVING OF BIT 7 OF CCR

!'l"!"i.l'.'"""""""""i""i.."'Qt.".iit""iit't"

'YEST 20 = TEST SETTING OF BIT_7 OF CCR

't ITE ONE_INTO CCR BITO7 THEN READ CCR
:® lF CCR BITO7? READ AS ZERO THEN CCR IEGISTER BIT MAY BE BAD
i OR CACHE REGISTER DATA PATH MAY BE AT FAULT
ig;sactttctcttQ.QQtoctctvt'tt'cctttctttﬁcatt'ttttttﬁcttttatttttta
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40$% sTEST START LOCATION
WORD 1% :LOOP ON ERROR START LOCATION
WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
o .WORD  25% :LOOP ON ERROR END LOCATION
1$: 8IS #B81707,CCR sWRITE 1
MOV CCR,RO ;SAVE CCR CONTENTS

25%: NOP ;INSTRUCTION *JMP 18* PLACED HERE
NOP :FOR LOOP ON ERROR
MOV #OFF ,CCR :DISABLE CACHE

BIT #81107,R0 :CHECK FOR 1
BNE 108 :PASS
ERROR :ERROR
JMORD  .=2
:CCR DATA TEST
:WROTE 1 INTO CCR BITO7; READ 0
JWORD O
108:  NOP :END OF TEST
INC STESTN : INCREMENT TEST COUNTER
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TEST # 21 - TEST CLEARING OF BIT 8 OF CCR

1102
004134
1103 004134
004136
004140
004142
004144
004146
1104 0046146
1105 004154
004156
1106 004160
1107 004166
1108
1109
1110 004170
1111 004172
004174

0‘2735 000400 177746

0
032737 000400 177746

000240
005237 001472

SBTTL TEST # 21 - TEST CLEARING OF BIT 8 OF CCR

'tt'Qtttti.'it.""'".'i'Q""'Q.Qi't.'..t.'tt'...'"Q.'Q't'.'

'TEST 21 = TEST CLEARING OF BIT 8 OF CCR

;e WRITE ZERO INTO CCR BITOS8(FC) THEN READ CCR
" IF CCR BITO8 READ AS ONE THEN CCR REGISTER BIT MAY BE BAD
:* OR CACHE REGISTER DATA PATH MAY BE AT FAULT
*s;s;ﬁﬁﬁttt.ttQt'tt"QQQ""!t't'tt.tttlt!'!tttt't'ttttt'ttﬁtittt
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST
.WORD  40$% ;TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
.WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
08 .WORD  25% :LOOP ON ERROR END LOCATION
1$: BIC #81708,CCR ;WRITE 0
258: NOP ;INSTRUCTION *JMP 18° PLACED HERE
NOP ;FOR LOOP ON ERROR
BIT #B1708,CCR ;CHECK FOR 0
BEQ 108 s PASS
;CCR DATA TEST
:WROTE 0 INTO CCR BITO8; READ 1
.WORD O
108: NOP ;END OF TEST
INC S$TESTN : INCREMENT TEST COUNTER
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TEST # 22 - TEST SETTING OF BIT 9 OF CCR

Mz

004200
1118 004200

004202
004204
004206
004210
004212
1119 004212
1120 004220
004222
1121 004224
1122 004232
1123 004234
« 004236
1124
1125
1126 004240
1127 004242
- 0046244

MACRO M1

000004

004212
004212

052735 001000 177746

000240
032737 001000 177746
104406
004234

000000
000240
005237 001472
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.SBTTL TEST # 22 - TEST SETTING OF BIT 9 OF CCR

::tQtttt'itt.'"Q'iQ""""QQQQ'..!.Q"'QQ"Q""i.""'i"'t"'

s#TEST 22 = TEST SETTING OF BIT 9 OF CCR .
i WRITE 1 INTO CCR BITO9(UCB) AND ASSURE IT READS 1.
o IF CCR BITO9 READ AS ZERO THEN CCR REGISTER BIT MAY BE BAD
i OR CACHME REGISTER DATA PATH MAY BE AT FAULT
%g;;;tit'ttttttt'tQ'ttitt"tQtt"ttttttttttttttii'ttttt'tttttt"t
H \
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

WORD 408 :TEST START LOCATION

MORD 1% :LOOP ON ERROR START LOCATION

WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
s .WORD 25% :LOOP ON ERROR END LOCATION
18: BIS #UCB,CCR : -
25%:  NOP SINSTRUCTION 'JMP 1$' PLACED HERE

NOP :FOR LOOP ON ERROR \

BIT #B1T09,CCR :CHECK FOR 1

BNE 108 :PASS

ERROR ' :ERROR

MORD .=2 .

4 :CCR DATA TEST
:WROTE 1 INTO CCR BIT09; READ 0

™ UORD 0 g

108: NOP :END OF TEST

INC $TESTN ; INCREMENT TEST COUNTER
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TEST # 23 - TEST CLEARING BIT 10 OF CCR

SBTTL TEST # 23 = TEST CLEARING BIT 10 OF CCR

131
ttttﬁttttttt!titt"titt'titit"ti"..."!Q!t""t.".'!tt'!Q'QQ
'rssr 23 - TEST CLEARING BIT 10 OF CCR
v WRITE ZERO INTO CCR BIT10(WWPT) AND READ 0
X222 2222333232323 22322322323233323223322 2333233322330 3032323023232330202202223]
004250 tér23:
1132 004250 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
oo«%sz ooazeg .WORD  40% STEST START LOCATION
004254 00426 .WORD 1% LOOP ON ERROR START LOCATION
004256 000000 .WORD 0 SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
882%2% 004270 408 .WORD 25% .LOOP ON ERROR END LOCATION
1133 004262 042737 002000 177746 18: BIC #B1710,CCR ;WRITE 0
1134 004270 000240 25%: NOP :INSTRUCTION "JMP 1$' PLACED HERE
004272 000240 NOP FOR LOOP ON ERROR
1135 0042764 032737 002000 177746 BIT #B1710,CCR :CHECK FOR 0
1136 004302 001403 BEQ 108 iPASS
1137 004304 104406 ERROR ERROR
004306 004304 JWORD  .=2
1138 ;CCR DATA TEST
1139 UROTE 0 INTO CCR BIT 10; READ 1
1140 004310 000000 JWORD O
1141 004312 000240 108:  NOP :END OF TEST
004314 005237 001472 INC $TESTN s INCREMENT TEST COUNTER
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TEST # 24 - CACHE CONTROL REGISTER UNUSED BIT TEST(CCR)

1146 SBTTL TEST # 24 - CACHE CONTROL REGISTER UNUSED BIT TEST(CCR)

i'ttQ'QtiQQ'ﬁt"'ﬁ""'fﬁii""i....t'..tit.".t."".'.""'Ql

;*TEST 24 - CACHE CONTROL REGISTER UNUSED BIT TEST(CCR)

i WRITE INTO UNUSED CCR REGISTER BITO1 THEN READ CCR
i IF CCR BITO1 READ AS ONE THEN CACHE DATA PATH
X 2222222222222 22222 2322222222223 2332223232333 333223333232323232322223143}
004320 #8124
1147 006320 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
004322 004332 .WORD 408 :TEST START LOCATION
004324 004332 .WORD 1% :LOOP ON ERROR START LOCATION
004326 000000 .WORD 0 1SCOPE SYNC. NOT IMPLEMENTED FOR THMIS TEST
882%%% 004340 o .WORD  25% :LOOP ON ERROR END LOCATION
1148 004332 052737 000002 177746 1$: BIS #B1T01,CCR ;WRITE 1 INTO UNUSED BIT
1149 004340 000240 25$:  NOP SINSTRUCTION 'JMP 1$' PLACED MERE
004342 000240 NOP :FOR LOOP ON ERROR
1150 004344 032737 000002 177746 BIT #B1T01,CCR SCHECK THAT BIT READS 0
1151 004352 001403 BEQ 108 :PASS
1152 004354 104406 ERROR :ERROR
004356 004354 WORD  .=2
1153 ;CCR UNUSED BIT TEST
1154 *READ 1 FROM UNUSED CCR BITO1
1155 :SHOULD READ 0
1156 004360 000000 .WORD 0
1157 004362 000240 108:  NOP :END OF TEST
004364 005237 001472 INC $TESTN L INCREMENT TEST COUNTER
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CKKKABO 11=44 KK11B CACHE
TEST

000004
004402
004402
000000
004410
052737 000020
000240
000240
032737 000020
001403
104406

004424

000000
000240
005237 001472
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# 25 - TEST UNUSED BIT & OF CCR

177746

177746

.SBTTL TEST # 25 = TEST UNUSED BIT & OF C(R

tQQ"Q'Qi!".'Q"'Q""'Q"'."i..'."'l""t"'ti't"Q"QQ"i'

;*TEST 25 = TEST UNUSED BIT & OF CCR

;e WRITE ONE INTO UNUSED CCR BITO4 THEN READ CCR
¥ IF CCR BITO4 READ AS ONE THEN CACHE REGISTER DATA PATH ERROR
is;sgttttttﬂttﬁttttﬁl"ti'QQtit"'ttt'ttt'ttt'ttttt'ttﬁt'titt'ttt
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40% ;TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
WORD O ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
408 .WORD  25% :LOOP ON ERROR END LOCATION
18: BIS #B1T04,CCR ;WRITE 1 INTO UNUSED BIT
258: NOP ;INSTRUCTION *JMP 18' PLACED HERE
NOP :FOR LOOP ON ERROR
BIT #B1704,CCR :CHECK THAT BIT READS 0
BEQ 108 :PASS
ERROR ; ERROR
.WORD  .=2

;CCR UNUSED BIT TEST
:READ 1 FROM UNUSED CCR BITO4
; SHOULD READ 0

.WORD 0

108: NOP ;END OF TEST
INC STESTN ; INCREMENT TEST COUNTER
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TEST # 26 - TEST UNUSED BIT 5 OF CCR

1178 .SBTTL TEST # 26 = TEST UNUSED BIT 5 OF CCR
Qttt'tt"'!.tt""t""'Q"'Q't't!!t"tt't'!ttt"".tttttt"'tt
-rest 26 = TEST UNUSED BIT 5 OF CCR
v WRITE ONE INTO UNUSED CCR BITOS THEN READ CCR
i IF CCR BITOS READ AS ONE THEN CACHE REGISTER DATA PATH ERROR
2222222322322 22222223332222332322223323233233133213332232323322022323214;
004440 16126
1179 004440 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
‘ERROR/LOOP ON TEST
004442 004452 MORD  40% :TEST START LOCATION
00444k 004452 MORD 1% :LOOP ON ERROR START LOCATION
004446 000000 .WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88222% 004460 o .WORD  25% :LOOP ON ERROR END LOCATION
1180 004452 052737 000040 177746 18: BIS #B1T0S,CCR sWRITE 1 INTO UNUSED BIT
1181 004460 000240 258:  NOP SINSTRUCTION 'JMP 1$8' PLACED HERE
004462 000240 NOP FOR LOOP ON ERROR
1182 004464 032737 000040 177746 BIT #B1T0S5,CCR :CHECK THAT BIT READS 0
1183 004472 001403 BEQ 108 :PASS
1184 004474 104406 ERROR :ERROR
004476 004474 JWORD  .=2
1185 :CCR UNUSED BIT TEST
1186 :READ 1 FROM UNUSED CCR BITOS
1187 :SHOULD READ 0
1188 004500 000000 JWORD 0
1189 004502 000240 108:  NOP :END OF TEST
004504 005237 001472 INC $TESTN : INCREMENT TEST COUNTER
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CKKKABO 11-44 KK11B CACHE
TEST # 27 - TEST UNUSED BIT 8 OF CCR

000400

000400
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SBTTL TEST # 27 = TEST UNUSED BIT 8 OF CCR
R L O R T T T R R R R T T
;*TEST 27 = TEST UNUSED BIT 8 OF CCR
e WRITE ONE INTO UNUSED CCR BITOB THEN READ CCR
" IF CCR BITO8 READ AS ONE THEN CACHE REGISTER DATA PATH ERROR

sttt RRRRRRTERARRRCRSCCORRRORORRRRRNRNRRRANRRNOARNRARAORORORCIOOOQOOROIOTORTSE

téra7:
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LGOP ON
:ERROR/LOOP ON TEST
.WORD  40$ :TEST START LOCATION
.WORD 1% :LOOP ON ERROR START LOCATION
.WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
- .WORD 258 :LOOP ON ERROR END LOCATION
177746 1$: BIS #BITO8,CCR ;WRITE 1 _INTO UNUSED BIT
25%:  NOP SINSTRUCTION "JMP 18' PLACED HERE
NOP :FOR LOOP ON ERROR
177746 BIT #B1T08,CCR :CHECK THAT BIT READS 0
BEQ 108 :PASS
ERROR *ERROR
JWORD =2
;CCR UNUSED BIT TEST
:READ 1 FROM UNUSED CCR BITO8
:SHOULD READ 0
JWORD 0
108:  NOP ;END OF TEST
INC $TESTN :INCREMENT TEST COUNTER
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TEST # 30 = TEST UNUSED BIT 11 OF CCR

1210 .SBTTL TEST # 30 = TEST UNUSED BIT 11 OF CCR
t't"!t'tt'tt"tttt"ti."""Q"QQQ"'Q'Q'Q.'C"'Q!tttttitttt'
;*TEST 30 = TEST UNUSED BIT 11 OF CCR
e WRITE ONE INTO UNUSED CCR BIT11 THEN READ CCR
i IF CCR BIT11 READ AS ONE THEN CACHE REGISTER DATA PATH ERROR
R 1222222223322 2222 3233332233223 333322338332333233133323333323232243223]
004560 t4130:
1211 006560 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
004562 004572 MORD  40% :TEST START LOCATION
004564 004572 .MORD 1% :LOOP ON ERROR START LOCATION
004566 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
8822%% 004600 - .MORD  25% :LOOP ON ERROR END LOCATION
1212 004572 052737 004000 177746 1$: BIS #8IT11,CCR sWRITE 1 INTO UNUSED BIT
1213 004 000240 25%:  NOP :INSTRUCTION 'JMP 18' PLACED HERE
004602 000240 NOP :FOR LOOP ON ERROR
1214 004604 032737 004000 177746 BIT #BIT11,CCR :CHECK THAT BIT READS 0
1215 004612 001403 BEQ 108 :PASS
1216 004614 104406 ERROR ERROR
004616 004614 JMORD =2
1217 ;CCR UNUSED BIT TEST
1218 *READ 1 FROM UNUSED CCR BIT11
1219 :SHOULD READ 0
1220 004620 000000 JMORD 0
1221 004622 000240 108:  NOP :END OF TEST
0046264 005237 001472 INC STESTN :INCREMENT TEST COUNTER

R —
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TEST # 31 = TEST UNUSED BIT 14 OF CCR
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SB'TL TEST # 31 = TEST UNUSED BIT 14 OF CCR

'!"""".t't"'Q""i"".""QQ.Q'Q".Q.Qtit"".t'QQ'.".'Q

'TEST 31 = TEST UNUSED BIT 14 OF CCR

i WRITE ONE INTO UNUSED CCR BIT14 THEN READ CCR
i IF CCR BIT14 READ AS ONE THEN CACHE REGISTER DATA PATH ERROR
*g;i;ﬁﬂiﬁﬁQ"."'Q'.'Q"i'Q"'"."i."'.Q..Q.""'."'Q'Q.'Q"Q.
000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
00464 .WORD 408 TEST START LOCATION
00464 .WORD 1% :LOOP ON ERROR START LOCATION
000000 .WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
004650 R .MORD  25% :LOOP ON ERROR END LOCATION
052737 040000 177746 18: BIS  #BIT14,CCR ;WRITE 1 INTO UNUSED BIT
000240 25$:  NOP :INSTRUCTION *JMP 18* PLACED HERE
000240 NOP :FOR LOOP ON ERROR
032737 040000 177746 BIT #B1T14,CCR :CHECK THAT BIT READS 0
001403 BEQ 108 iPASS
104406 ERROR *ERROR
004664 JMORD =2
;CCR UNUSED BIT TEST
:READ 1 FROM UNUSED CCR BIT14
:SHOULD READ 0
.MORD 0
000240 108:  NOP ;END OF TEST
005237 001472 INC STESTN : INCREMENT TEST COUNTER
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TEST # 32 - TEST UNUSED BIT 15 OF CCR

1242

004700
1243 004700

052735 100000 177746

0
032737 100000 177746

000000
000240 -
005237 001472

J_ &
MACRO M1113 27-0CT-80 08:39 PAGE 47 SEQUENCE 48

.SBTTL TEST # 32 = TEST UNUSED BIT 15 OF CCR
QQ"'.""Q..".""""""""".l""'."!'."'"'.Q.Q'Q.Q'Q
-155: 32 = TEST UNUSED BIT 15 OF CCR

INTO UNUSED CCR BIT1S THEN READ CCR

IF CCR BIT1S READ AS ONE THEN CACHE REGISTER DATA PATH ERROR

CRRRRARRRARARRANRRERRENCEREROOERQRRNRNRNAANARANARARNAOANCONOROOOOCROOOTER

;t

tér32:

408:
25%:

108:

WRITE 1

SCPCND

.WORD
.WORD
.WORD
.WORD

BIS
NOP
NOP
BIT
BEQ
ERROR

.WORD

.WORD
NOP
INC

40%
1%

0
25%
#BIT15,CCR

#BIT15,CCR
108
.-2

0
S$TESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;WRITE 1 INTO UNUSED BIT
;INSTRUCTION *JMP 1$' PLACED HERE
:FOR LOOP ON ERROR

CHECK THAT BIT READS 0

;CCR UNUSED BIT TEST
:READ 1 FROM UNUSED CCR BIT1S
: SHOULD READ 0

;END OF TEST
; INCREMENT TEST COUNTER
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TEST # 33 = CME UNUSED BIT O TEST

e —— —— —

1258

.SBTTL TEST # 33 = CME UNUSED BIT 0 TEST

JRRRRRRRRRRRRRRERCERCRRICRCCERCRCRRRORRRRNRRRRARRERORAROERRROROIOIORET

;*TEST 33 = CME UNUSED BIT 0 TEST

i ATTEMPT WRITE 1 INTO ALL UNUSED BITS OF CME.
i ALL BITS SHOULD READ 0.
B L 222ttt i i s s i ittt iiiiiiiiiadiiiidiiiiiial]]
004750 tér33.
1259 004750 000004 SCPCND ; SCOPE conoxtxons co SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
004752 004762 .WORD  40% STEST START LOCATION
004754 004762 WORD 1% :LOOP ON ERROR START LOCATION
004756 000000 MORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
ggz;gg 004770 ad .MORD  25% :LOOP ON ERROR END LOCATION
1260 004762 052737 000001 177744 1%: BIS #B1T00,CME ;WRITE 1 INTO BITOO
1261 004770 000240 25%:  NOP SINSTRUCTION 'JMP 18° PLACED HERE
004772 000240 NOP :FOR LOOP ON ERROR
1262 0047764 032737 000001 177744 BIT #B1700,CME SCHECK FOR 0
1263 005002 001403 BEQ 108 :PASS
1264 005004 104406 ERROR ERROR
005006 005004 MORD  .=2
1265 :CME UNUSED BIT TEST
1266 READ 1 FROM UNUSED CME BITO0
1267 005010 JMORD O
1268 005012 000240 108:  NOP :END OF TEST
005014 005237 001472 INC $TESTN S INCREMENT TEST COUNTER
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TEST # 34 - CME UNUSED BIT 1 TEST

1269 .SBTTL TEST # 34 = CME UNUSED BIT 1 TEST

‘:.t'.".""'.."""""'.Q""."C'Q't'l'.'!'t't't"'.."'t"'

STEST 34 = CME UNUSED BIT 1 TEST

sehttRRARCRRRRRROCERRRERRRCERRACRRCRRARARRRARNAARARRANARARCNQOORCCQROCSRNETS

005020 15134
1270 005020 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005022 005032 .MORD 408 *TEST START LOCATION
005024 005032 .WORD 1% :LOOP ON ERROR START LOCATION
005026 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
&o)gggg 005040 e .WORD 258 :LOOP ON ERROR END LOCATION
1271 005032 052737 000002 177744 1%: BIS #B1101,CME sWRITE 1 INTO BITO?
1272 005040 000240 258:  NOP SINSTRUCTION 'JMP 18' PLACED MERE
005042 000240 NOP :FOR LOOP ON ERROR
1273 005044 032737 000002 177744 BIT #B1701,CME :CHECK FOR 0
1274 005052 001403 BEQ 108 PASS
1275 005054 104406 ERROR ERROR
005056 005054 NORD  .=2
1276 ;CME UNUSED BIT TEST
1277 :READ 1 FROM UNUSED CME BITO1
1278 005060 000000 WORD O
1279 005062 108: NOP :END OF TEST

000240
005064 005237 001472 INC $TESTN s INCREMENT TEST COUNTER
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TEST # 35 = CME UNUSED BIT 2 TEST
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L
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SBTTL TEST # 35 = CME UNUSED BIT 2 TEST

".QQ'.Q.t""..QQ""""Q."'...'Q...QQ".!.""Q"Q'QQQ'QQ"

'TEST 35 = CME UNUSED BIT 2 TEST

sttt dRadeReRe TR RRCRCRRRCERERORRRRRARRARNOARRRARARRARONRRORNROERNOONTS

tér3s:

SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

+WORD ‘OS :TEST START LOCATION

-WORD :LOOP ON ERROR START LOCATION

-WORD g :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
.08 .WORD 5% :LOOP ON ERROR END LOCATION
18: BIS #81702,CME ;WRITE 1 INTO BITO2
258: NOP ;INSTRUCTION "JMP 1$°' PLACED HERE

NOP :FOR LOOP ON ERROR

BIT #81702,CME :CHECK FOR 0

BEQ 108 :PASS

ERROR :ERROR

.WORD .=2

; CME UNUSED BIT TEST
;READ 1 FROM UNUSED CME BITO2
WORD O

108: NOP sEND OF TEST
INC STESTN ; INCREMENT TEST COUNTER
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TEST # 36 = CME UNUSED BIT 3 TEST

1291 JSBTTL TEST # 36 = CME UNUSED BIT 3 TEST
:;tttttlttt'tt"t"'tQ'Q'CQ"""QQ.Qt'ttttttt!'!.tit'ttt"'ttttt
;*TEST 36 = CME UNUSED BIT 3 TEST
.o ttttttt!t'Qtttt'QQ'Q"Q'!'"t'ittt't'tti.ttt..."t.Qt"t"tt..'
005140 t§136:
1292 005140 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005142 88515 MORD 40% :TEST START LOCATION
005144 00515 LMORD 1% :LOOP ON ERROR START LOCATION
005146 000000 .WORD g :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88;};(2) 005160 08 .WORD 5$ :LOOP ON ERROR END LOCATION
1293 005125 052737 000010 177744 1§: BIS #B1T03,CME :WRITE 1 INTO BITO3
1294 0051 000240 25%: NOP :INSTRUCTION *JMP 1$' PLACED HERE
005162 ooo;«.o NOP :FOR LOOP ON ERROR
1295 0051?6 032737 000010 177744 BIT #81T03,CME :CHECK FOR 0
1296 005172 001403 BEQ 108 PASS
1297 005174 104406 ERROR ;ERROR
005176 005174 JNORD  .=2
1298 :CME UNUSED BIT TEST
1299 ;READ 1 FROM UNUSED CME BITO3
1300 005 JWORD O
1301 005202 000240 108: NOP :END OF TEST
005204 005237 001472 INC S$TESTN :INCREMENT TEST COUNTER
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TEST # 37 - CME UNUSED BIT & TEST

000020

000020

001472

: . ;
MACRO M1113 27-0CT-80 08:39 PAGE gZ SEQUENCE 53

SBTTL TEST # 37 = CME UNUSED BIT & TEST

SRRRARARRRAARNRCEERRRATERRRCERORERNRNARRNANNROENRORRNONRNRANONORORNS

:*TEST 37 = (ME UNUSED BIT 4 TEST

cRRARARARARARARCCCCCERRCCRREORRRROERARARRNAARONANANORANORANACROONRETS

t&137:

40$:

177744 1%:

25%:

1777464

108:

SCPCND

.WORD
.WORD
-WORD
.WORD

BIS
NOP
NOP
BIT
BEQ
ERROR

.WORD
.WORD

NOP
INC

40%
1%
0
25%
#B1T04,CME

#B1T04,CME
108

o=t

0
S$TESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

:TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

:WRITE 1 INTO BITO4

;INSTRUCTION 'JMP 1$' PLACED HERE
FOR LOOP ON ERROR

:CHECK FOR 0

;PASS

:ERROR

;CME UNUSED BIT TEST
:READ 1 FROM UNUSED CME BITO4

;END OF TEST
s INCREMENT TEST COUNTER
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TEST # 40 - CME UNUSED BIT 8 TEST

1313 SBTTL TEST # 40 = CME UNUSED BIT 8 TEST

'IQQ.Q'Qt'l'."Q""'.'"""'Q".'.'Q"""!"i""""i.'.QQ'

*TESY 40 - CME UNUSED BIT 8 TEST

CRRRRRRR AR AR AR RN RN RN RRERRRANRNNARANARANANARARERARNOROSOOES

005260 $8140: -
1314 005260 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
“ERROR/LOOP ON TEST
005262 005272 .MORD 408 “TEST START LOCATION
005264 005272 ‘WORD 1% “LOOP ON ERROR START LOCATION
005266 000000 "WORD 0 “SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
005270 005300 s, | -ORD 258 “LOOP ON ERROR END LOCATION
1315 005272 052737 000400 177744 1%:  BIS  #BITOB,CME ;WRITE 1 INTO BITO8
1316 005300 000240 25§:  NOP TINSTRUCTION 'JMP 18' PLACED HERE
005302 000240 NOP “FOR * LOOP ON ERROR
1317 005304 032737 000400 177744 BIT  #BITOB,CME "CHECK FOR 0
1318 005312 001403 BEQ 108 "PASS
1319 005314 106406 ERROR *ERROR
005316 005314 WORD  .=2
1320 :CME UNUSED BIT TEST
1321 "READ 1 FROM UNUSED CME BITO8
1322 005320 000000 .WORD O
1323 005322 000240 108:  NOP JEND OF TEST
0053264 005237 001472 INC  STESTN " INCREMENT TEST COUNTER
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TEST # 41 = CME UNUSED BIT 9 TEST

1324 .SBTTL TEST # 41 = CME UNUSED BIT 9 TEST

A A A R R R AR ARt R Rt ddRRRidldRdidddiididddidldd)

S4TEST 41 = CME UNUSED BIT 9 TEST

PeRARRRAARRERAARETRRCRCCRCOCEROERORRNORARANERNAARNRPAROAOCOOOIOROOORTES

005330 : t5T41:
1325 005330 000004 , SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005332 005342 JMORD  40% :TEST START LOCATION
005334 005342 .WORD 1% :LOOP ON ERROR START LOCATION
005336 000000 JWORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
88?3:% 005350 = .WORD  25% :LOOP ON ERROR END LOCATION
1326 005342 052737 001000 177744 18: BIS #B1T09,CME :WRITE 1 INTO BITO9
1327 005350 000240 25$:  NOP SINSTRUCTION 'JMP 1$' PLACED HERE
005352 000240 NOP ‘FOR LOOP ON ERROR
1328 005354 032737 001000 177744 BIT #B1109,CME :CHECK FOR 0 :
1329 005362 001403 BEQ 108 ‘PASS
1330 005364 104406 ERROR ERROR
005366 005364 JWORD  .=2
1331 :CME UNUSED BIT TEST
1332 :READ 1 FROM UNUSED CME BITO9
1333 005370 000000 JWORD O
1334 005372 108:  NOP :END OF TEST

000240
005374 005237 001472 INC S$TESTN ; INCREMENT TEST COUNTER
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TEST # 42 - CME UNUSED BIT 10 TEST

1335 SBTTL TEST # 42 = CME UNUSED BIT 10 TEST

Q!'!!'.Q"'Q"'Qt""Q'Q'Q"""'.""'t.'Q".".'.QQ'I'i."'tt

*TEST 42 = CME UNUSED BIT 10 TEST

R I s R I R AR AR R R R R0 RRdddRRRdddRidddiddl)

005400 t4142:
1336 005400 000004 SCPCND ;SCOPE CONDITIONS: co SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005402 005412 JMORD  40% STEST START LOCATION
005406 005412 .WORD 1% :LOOP ON ERROR START LOCATION
005406 000000 .WORD 0 SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
83321% 005420 . .WORD  25% :LOOP ON ERROR END LOCATION
1337 005412 052737 002000 177744 1%: BIS #B1T10,CME :WRITE 1 INTO BIT10
1338 005420 000240 258:  NOP TINSTRUCTION 'JMP 18°' PLACED HERE
005422 000240 NOP ‘FOR LOOP ON ERROR
1339 005424 032737 002000 177744 BIT #B1T10,CME :CHECK FOR 0
1340 005432 001403 BEQ 108 PASS
1341 005434 104406 ERROR ERROR
005436 005434 JWORD =2
1342 ;CME UNUSED BIT TEST
1343 READ 1 FROM UNUSED CME BIT10
1344 005440 000000 JMORD O
1345 005442 000240 108:  NOP :END OF TEST

005444 005237 001472 INC S$TESTN s INCREMENT TEST COUNTER
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TEST # 43 = CME UNUSED BIT 11 TEST

1346

.SBTTL TEST # 43 = CME UNUSED BIT 11 TEST

PrRARRRRANRRANRANIERRRRNRCORORRRRORRERARRARRRANAAARAARNARROOOOOOROOOIREDY

S4TEST 43 = CME UNUSED BIT 11 TEST

SRR RRRRARRRRRRRRCERACERCRRRARORORAOARNRARRANARRNAANAROAOROROOROROETS

005450 T§143:
1347 005450 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005452 005&6% JWORD  40$ ;TEST START LOCATION
005454 00546 .MORD 18 :LOOP ON ERROR START LOCATION
005456 000000 WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
883223 005470 e .MORD 258 :LOOP ON ERROR END LOCATION
1348 005462 052737 004000 177744 18: BIS #BIT11,CHE :WRITE 1 INTO BIT11
1349 005470 000240 258:  NOP SINSTRUCTION 'JMP 18' PLACED HERE
005472 000240 NOP :FOR LOOP ON ERROR
1350 005474 032737 004000 177744 BIT #BIT11,CME :CHECK FOR 0
1351 005502 001403 BEQ 108 :PASS
1352 005504 104406 ERROR *ERROR
005506 005504 JWORD  .=2
1353 :CME UNUSED BIT TEST
1354 :READ 1 FROM UNUSED CME BIT11
1355 005510 000000 .WORD O
1356 005512 000240 108:  NOP :END OF TEST
005514 005237 001472 INC $TESTN s INCREMENT TEST COUNTER
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TEST # 44 - CME UNUSED BIT 12 TEST

1357 .SBTTL TEST # &4 = CME UNUSED BIT 12 TEST

A 2222 S AR R R R0 RRRRddRRdRRddRRddddRdd))

TATEST 44 = CME UNUSED BIT 12 TEST

soRRRRRRRARRRRORRRERCRRORCOCERRCRCERRRRRARRNARRNRARRRNOANARONOREORQCOONNTS

005520 15144
1358 005520 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005522 005532 .MORD  40% STEST START LOCATION
005524 005532 .WORD 1% :LOOP ON ERROR START LOCATION
005526 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
882233 005540 . .WORD  25% :LOOP ON ERROR END LOCATION
1359 005532 052737 010000 177744 1%: BIS #B1T12,CME :WRITE 1 INTO BIT12
1360 005540 000240 25$:  NOP SINSTRUCTION 'JMP 18' PLACED MERE
005542 00024 NOP :FOR LOOP ON ERROR
1361 005544 032737 010000 177744 BIT #BIT12,CME :CHECK FOR 0
1362 005552 00140 BEQ 108 PASS
1363 005554 104406 ERROR ERROR
005556 005554 MORD .2
1364 :CME UNUSED BIT TEST
1365 SREAD 1 FROM UNUSED CME BIT12
1366 005560 000000 MORD O
1367 005562 000240 108:  NOP :END OF TEST
005564 005237 001472 INC STESTN *INCREMENT TEST COUNTER




1368

005570
1369 005570

005626
375
1376
1377 005630
1378 005632
005634

CKKKABO 11=44 KK11B CACHE
TEST # 45 - CME UNUSED BIT 13 TEST

——
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.SBTTL TEST # 45 - CME UNUSED BIT 13 TEST

SRR RARRREARRRARRERRERTERNCECRCERRRCRRNARNRARNNAACAONAANNAONAOCCONCOROORNETS

STEST 45 = CME UNUSED BIT 13 TEST

i i R R R R R R RS R R R dddddiRiRddRdddddd])

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON

T§145:

000004

005602
005602

000000
005610

40$:

052737 020000 177744 1$:

000240 25%:

000240
03273; 020000 177744

005624

000000
000240
005237 001472

108:

SCPCND

.WORD
.WORD
.WORD
.WORD

BIS
NOP
NOP
BIT
BEQ
ERROR

.WORD

NOP
INC

40%
1%

0
25%
#BIT13,CME

#BIT13,CME
108

=2

0
STESTN

;ERROR/LOOP ON TEST
;TEST START LOCATION

;LOOP ON ERROR START LOCATION
;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
;LOOP ON ERROR END LOCATION

;WRITE 1 INTO BIT13

;INSTRUCTION *JMP 1$' PLACED HERE

;FOR LOOP ON ERROR

;CHECK FOR 0

;CME UNUSED BIT TEST

;READ 1 FROM UNUSED CME BIT13
;END OF TEST

; INCREMENT TEST COUNTER




—

CKKKABO 11-44 KK11B CACHE
TEST # 46 - CME UNUSED BIT 14 TEST

1379

005640
1380 005640

)
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SBTTL TEST # 46 - CME UNUSED BIT 14 TEST

"""".'Q"""""'""""'i""'.""'.l..Q.QQ""."""'

tTEST &6 = CME UNUSED BIT 14 TEST

SRR RN NAR TR R RN RN RO RRRNANANARRARNAERAONOCOOORRROO OO

t6146:

000004
00565%
00565

000000
005660

40$:
052737 040000 177744 ;3:

000
03273; 040000 177744

000000
000240 108:

005237 001472

SCPCND

.WORD
.WORD
+WORD
.WORD

BIS
NOP
NOP
BIT
BEQ
ERROR

.WORD
.WORD

NOP
INC

40%
1%
0
25%

#BIT14,CME

#BIT14,CHE
108

=

0
S$TESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;WRITE 1 INTO BIT14

;INSTRUCTION 'JMP 18" PLACED HERE
:FOR LOOP ON ERROR

CHECK FOR 0

‘o ooee

: CME UNUSED BIT TEST
:READ 1 FROM UNUSED CME BIT14

;END OF TEST
; INCREMENT TEST COUNTER
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TEST # 47 - CACHE CONTROL REGISTER BYTE TESTS (CCR)

1395 .SBTTL TEST # 47 = CACHE CONTROL REGISTER BYTE TESTS (CCR)
Q'ttiii.'."i"'."'Q'"fﬁ"'Qi".l.'.t""""""'."".'."Q
#TEST 47 = CACHE CONTROL REGISTER BYTE TESTS (CCR)
e REGISTER BYTE SELECTION LOGIC TEST
i WRITE ONE INTO LOW BYTE WRITE ZERO INTO WIGH BYTE
;* VERIFY THAT LOW BYTE DATA IS NOT EFFECTED BY WRITE TO HIGM BYTE
23 22222323 Y I R R AR R AR 202 003 00002 000000 0ddd])
005710 t8147:
1396 005710 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005712 005722 MORD 408 TEST START LOCATION
005714 005722 WORD 1% :LOOP ON ERROR START LOCATION
005716 000000 WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
005720 005736 g, WORD 258 :LOOP ON ERROR END LOCATION
1397 005722 152737 000004 177746 18: BISB  #BIT02,CCR sMRITE 1 INTO CONTROL REGISTER BIT02
1398 005730 142737 000004 177747 BICB  #BITO2.CCR*1  ;WRITE O INTO CONTROL REGISTER BIT10
1399 005736 000240 258:  NOP INSTRUCTION 'JMP 1$° PLACED WERE
005740 000240 NOP :FOR LOOP ON ERROR
1400 005742 032737 000004 177746 BIT  #BIT02,CCR :CHECK FOR 1
1401 005750 001003 BNE 108 *PASS
1402 005752 104406 ERROR :ERROR
005754 005752 MORD =2
1403 ;CACHE CONTROL REGISTER BYTE TESTS
1404 :WROTE ONE INTO LOW BYTE BITO2
1405 *WROTE 2ERG INTO WIGH BYTE BIT10
14 “READ ZERO FROM BITO2
1407 005756 000000 LMORD 0
1408 005760 000240 108:  NOP ;END OF TEST
005762 005237 001472 INC  STESTN *INCREMENT TEST COUNTER

e — ————————— e ——a
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CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0(7-30 08:39 PAGE 61 SEQUENCE 62
TEST # 50 - SET TOP BYTE, CLEAR LOW BYTE OF CCR

14613

.SBTTL TEST # 50 = SET TOP BYTE, CLEAR LOW BYTE OF ((R
'Qt".'t!..""""""'""""".""'"Q.Q'.'.Q"..'.'.i"it

;4TEST 50 - SET TOP BYTE, CLEAR LOV BYTE OF CCR

WRITE ZERO INTO WIGH BYTE WRITE ONE INTO LOW BYTE

VERIFY HIGH BYTE NOT EFFECTED BY WRITE INTO LOW BYTE

CHARARRARANANARRCARRERRERRERRRORRRARARANRARONOAANOOAROCAOAORERONOOS

:'

005766 t§150:
1414 005766 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
005770 006000 .MORD  40% :TEST START LOCATION
005772 006000 .MORD 1% :LOOP ON ERROR START LOCATION
005774 000000 .WORD 0 SCOPS SYNC. NOT IMPLEMENTED FOR THIS TEST
005776 006014 S .WORD  25% :LOOP ON ERROR END LOCATION
1415 3&3636 142737 000004 177747 18: BICB  #BITO2,CCR#1  :WRITE O INTO CONTROL REGISTER BIT1D
1416 006006 152737 000004 177746 BISB  #BIT02.CCR ‘WRITE 1 INTO CONTROL REGISTER BITO02
1417 006014 000240 25%: NOP :INSTRUCTION *JMP 1$' PLACED HERE
006016 000240 NOP :FOR LOOP ON ERROR
1418 006020 032737 002000 177746 BIT #B1T10,CCR :CHECK FOR 0 BIT10
1419 006026 001403 BEQ 10% :PASS
1420 006030 104406 ERROR sERROR
006032 006030 MORD  .=2 ,
1421 :CACHE TONTROL REGISTER BYTE TESTS
1422 ‘WROTE 2ERO INTO HIGH BYTE BIT10
1423 :WROTE ONE INTO LOW BYTE BITO2
1424 :READ ZERO FROM BITO2 OR READ ONE FROM BIT10
“SZ 006034 000000 WORD O
14 006036 000240 108: NOP JEND OF TEST
006040 005237 001472 INC $TESTN s INCREMENT TEST COUNTER




1430
006044
1431 006044
006046
006050
006052
006054
006056
143; 006056
1433 006064
1436 00607g
00607
1435 006074
1436 006100
1437 006104
1438 006106
006110
1439
1440
1641 006112
1442 006114
006116

CKKKABO 11=44 KK118 CACHE
TEST #

177750

177750
000001

001472

5
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51 = CACHE MAINTENANCE REGISTER DATA TEST (CMR)

.SBTTL TEST # 51 = CACHE MAINTENANCE REGISTER DATA TEST (CMR)

33 sttt Rttt RteRRRORCRRARROROROROORRARNRNARARORNORARORARNORONONONCERTY

s*TEST 51 = CACHE MAINTENANCE REGISTER DATA TEST (CMR)
it VERIFY CMR BITOOCTDAR) CAN BE WRITTEN TO A 0

cRARRARRRARRRRRRRAREREICRQERCRARORRAANANANARACANAROOAROOOICOOOONIERY

té1s1:
SCPCND
MORD 40%
MWORD 1%
MORD O
LMORD 25%
40$:
177750 1%: BIC #81T00,CMR
MOV CMR,RO
25%: NOP
NOP
CLR CMR
BIT #81T7T00,R0
BEQ 108
ERROR .
LMORD ,=2
LWORD O
108: NOP
INC STESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
;TEST START LOCATION

:LOOP ON ERROR START LOCATION

:SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST

:LOOP ON ERROR END LOCATION

;WRITE O INTO CMR BITO0

:SAVE CONTENTS OF CMR
;INSTRUCTION *JMP 18" PLACED MERE
:FOR LOOP ON ERROR

:CLR MAINT

C:ECK FOR 0 IN BITOO

; ERROR

;MAINTENANCE REGISTER DATA TEST
;WROTE O INTO CMR BITOO; READ 1

;END OF TEST
; INCREMENT TEST COUNTER




L
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CKKKABO 11-44 KK11B CACHE
TEST # 52 = TEST CMR BIT 0

SITYL TEST # 52 = TEST CMR BIT 0

1446
tttt'it.t!tt'tlt"tt"t'tt't"ittttt'tt't'ttQttlttttttttttttttt
'resr §2 = TEST (MR '50
.- VERIFY CMR BITOOCTDAR) CAN BE WRITTEN TO A 1
2112222322221 222222222322322322333212 3333133333333 338331332833322323233213}
006122 té152:
1447 006122 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
006124 0061 JMORD  40S STEST START LOCATION
006126 0061 .WORD 1% :LOOP ON ERROR START LOCATION
006130 000000 JMORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
882} 006146 o .MORD  25% :LOOP ON ERROR END LOCATION
1448 006134 052737 000001 177750 18: BIS #81700,CMR :WRITE 1 INTO CMR BITO0
1449 006142 013700 177750 MOV CMR, RO :SAVE CONTENTS OF CMR
1450 0061;8 000240 25$:  NOP SINSTRUCTION 'JMP 18’ PLACED HERE
006150 000240 NOP :FOR LOOP ON ERROR
1451 006152 005037 177750 CLR CMR :CLR MAINT
145; 006156 032700 000001 BIT #81700,R0 cnecx FOR 1 IN BITO0
1453 006162 001003 BNE 108 PASS
1454 006164 104406 ERROR :snaoa
006166 006164 MORD  .=2
1455 sMAINTENANCE REGISTER DATA TEST
1456 :WROTE 1 INTO CMR BITOO; READ 0
1457 006170 MORD O
1458 006172 000240 108:  NOP ;END OF TEST
006174 005237 001472 ' INC S$TESTN s INCREMENT TEST COUNTER
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CKKKABO 11-44 KK11B CACHE
TEST # 53 = TEST BIT 1 OF CMR

1462 JSBTTL TEST # 53 = TEST BIT 1 OF CMR
H ; " T12222223232333222323010] Qt""t'tl'.tQtttl.tt!tt'.!tt.i'tt"tttt
;*TEST 53 = TEST BIT 1 OF CMR
* VERIFY CMR BITO1(HODO) CAN BE WRITTEN AS A 0.
.. Qt't'tt.ttttttt"ttt't"Qt"'t'i!'ttl!tt't!'t.t'tttt'tt'."t..t
ooegoo t§153:
1463 006200 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
ooe%oz 006 13 JMORD  40% STEST START LOCATION
006204 00621 .WORD 1% :LOOP ON ERROR START LOCATION
882%08 .WORD g :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
} 006224 408 .WORD 5% :LOOP ON ERROR END LOCATION
1464 5% 042737 000002 177750 1%: BIC #817T01,CMR :WRITE 0 INTO CMR BITO?
1465 013700 177750 . MOV CMR,RO :SAVE CONTENTS OF CMR
1466 & 000240 25$:  NOP SINSTRUCTION ‘JMP 18' PLACED WERE
006226 000240 NOP :FOR LOGP ON ERROR
1467 005037 177750 CLR CMR :CLR MAINT
1468 032700 000002 BIT #81701,R0 :CHECK FOR 0 IN BITO1
1469 40 001403 BEQ 108 :PASS
1470 006242 1044 ERROR +ERROR
006244 006242 JMORD  .=2
1%n . sMAINTENANCE REGISTER DATA TEST
1472 :WROTE O INTO CMR BITO1; READ 1
1473 006246 MORD O
1474 006250 000240 108: NOP :END OF TEST
006252 005237 001472 INC $TESTN :INCREMENT TEST COUNTER




S —— |

CKKKABO 11-44 KK11B CACHE
TEST # 54 = TEST CMR BIT 1

1478
006256
1479 006256 000004

80 006270 052737 000002
81 006%7 013700 177750

14
14
14

04 0
1483 006306 005037 177750
}28& 006312 032700 000002
14

006322 006320

9 006324 000000
90 006326 000240
006330 005237 001472
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177750

.SBTTL TEST # 54 = TEST CMR BIT 1

t"'tt.'QQQ"""Q""'Q"""'Q"'t'QQ'QQ""Q.Qt"it'.t't!'t'

;*TEST 54 = TEST CMR BIT 1
.' VERIFY CMR BITO1(HODO) CAN BE WRITTEN AS A 1.

I i T I SR AR R R R R R R R RRRdRRRR0ddddRiddnds)

t8154:

SCPCND

.WORD
-WORD
-WORD
.WORD

1%: BIS
MOV

25%: NOP
NOP
CLR
BIT
BNE
ERROR

.WORD

40$:

.WORD
108: NOP
INC

40%
1$

0
25%

#B1701,CMR
CMR.RO

CMR
#81701,RO
108

o=

0
S$TESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

;TEST START LOCATION

.LOOp ON ERROR START LOCATION

:SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;WRITE 1 INTO CMR BITO1

; SAVE CONTENTS OF CMR
;INSTRUCTION ‘JMP 18' PLACED HERE
;FOR LOOP ON ERROR

iCLR MAINT

CHECK FOR 1 IN BITO1

;MAINTENANCE REGISTER DATA TEST
;WROTE 1 INTO CMR BITO1; READ 0

;END OF TEST
; INCREMENT TEST COUNTER




1494

006334
1495 006334

Ve

8838
SRR
LY NN

T O e
v
o
-
w
~
o

000000
000240
005237

CKKKABO 11-44 KK11B CACHE
TEST # 55 = TEST CMR BIT 3

177777
000374
177750
177750

177750
000010

001472
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SBTTL TEST # 55 = TEST CMR BIT 3

Q"tl".'it!t""""'"Q"Q'Qﬁ'itt"i'.'.'Q'Q'Q..'QQ'Q"!'O"'

'TEST 55 = TEST (MR BIT 3

; VERIFY CMR BITO3(AM) CAN BE WRITTEN AS A 0.
*é;;;Q..i"i.l""i"""""""'.'.'.'.".Q'".'i'ti..'.'.."C'
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
- :ERROR/LOOP ON TEST
WORD 408 STEST START LOCATION
WORD 1% :LOOP ON ERROR START LOCATION
JWORD O *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
- .WORD  25% :LOOP ON ERROR END LOCATION
177752 18 MOV #-1,CHR sALL 1'S TO AMR
177751 MOVB csrl.cna+1
CLRB :WRITE 0 INTO CMR BITO3
MOV cna RO :SAVE CONTENTS OF CMR
25$:  NOP SINSTRUCTION 'JMP 18' PLACED MERE
NOP :FOR LOOP ON ERROR
CLR CMR :CLR MAINT
BIT #81703,R0 :CHECK FOR 0 IN BITO3
BEQ 108 ‘PASS
ERROR :ERROR
JWORD  .=2
sMAINTENANCE REGISTER DATA TEST
*WROTE O INTO CMR BITO3; READ 1
JWORD O
108:  NOP ;END OF TEST

INC

$TESTN

; INCREMENT TEST COUNTER




TEST

1512

006424
1513 006424

006436

sssenes
SANSTERNESER

g

223
ViV
B 1
osN

000004
006436

000000
000240
005237

CKKKABO 11-44 KK11B CACHE
# 56 - TEST (MR BIT 3

177777
000374
177750
000010
177750

177750
000010

001472
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177752
177751

177750

SBTTL TEST # 56 - TEST (MR BIT 3

't'Qtt"it'tQQ'"'"'Q"'Q'i"tii"'.i't't.'.'Q't'.t"'tt""'.

*TEST 56 = TEST CMR BIT 3

i VERIFY BITO3C(AM) CAN BE WRITTEN AS A 1.
i&;;;'."."""""""'"'"'"".'."'."'.'.".."'."""".
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40% :TEST START LOCATION
WORD 1% :LOOP ON ERROR START LOCATION
WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
aos .WORD  25% :LOOP ON ERROR END LOCATION
1$: MOV #-1,CHR
MOVB  #374,CMR+1
CLRB  CMR -PRECOHDITION AM BIT TO 0
MOVB  #AM,CMR :WRITE 1 INTO AM BIT
MOV CMR, RO :SAVE CONTENTS OF CMR
258:  NOP SINSTRUCTION ‘JMP 18' PLACED HERE
NOP , {FOR LOOP ON ERROR
CLR CMR :CLR MAINT
BIT #81T03,R0 {CHECK FOR 1 IN BITO3
BNE 108 :PASS 4
ERROR :ERROR
JWORD  .=2
:MAINTENANCE REGISTER DATA TEST
:WROTE 1 INTO CMR BITO3; READ 0
JWORD 0
108:  NOP ;END OF TEST
INC $STESTN {INCREMENT TEST COUNTER




1532

-
w
W
W

1541 006562
1542 006564
006566

CKKKABO 11-44 kK118 CACHE
TEST # 57 = TEST UNUSED BIT 5 IN THE CMR

000004
006534
006534
000000
006542
052737 000040

00 0
03273; 000040

000000
000240
005237 001472
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177750

177750

.SBTTL TEST # 57 = TEST UNUSED BIT 5 IN THE (MR

'.""'"t"ﬁ."'Q"t"""t'.i'ttttQt.'ii".Qt"l""'.t"'.tt

*TESI 57 = TEST UNUSED BIT 5 IN THE CMR

ATTEMPT WRITE 1

INTO ALL UNUSED BITS OF CMR. ALL

X 2222223332222 22 2R a2 Rttt didlatidl)

:' BITS SHOULD READ 0.
tirs7:
SCPCND
.MORD  40%
WORD 1%
WORD 0
.WORD 258
408:
1$: BIS #B1T0S,CMR
25$:  NOP
NOP
BIT #B1T05,CMR
BEQ 108
ERROR
MORD  .=2
WORD 0
108: NOP
INC $STESTN

;SCOPE CONDITIONS: GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

;TEST START LOCATION

;LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;WRITE 1 INTO BITO5

sINSTRUCTION 'JMP 18' PLACED HERE
:FOR LOOP ON ERROR

:CHECK FOR 0

:PASS

;CMR UNUSED BIT TEST
:READ 1 FROM UNUSED CMR BITOS

;END OF TEST
; INCREMENT TEST COUNTER
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TEST # 60 - TEST UNUSED BIT 6 IN THE CMR

1543 JSBTTL TEST # 60 = TEST UNUSED BIT 6 IN THE CMR
:.'QQ'QQ'Q'!Q'QQ"'Q"Qt'tt!""it'ttt'!t.'.ttt'.ttttttttttttttt't
;#TEST 60 = TEST UNUSED BIT 6 IN THE CMR
B 2222223222032 2222222222 8222222232222 2222223222223 2222222222322321;
006572 1$160:
1544 006572 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
006574 006604 MORD  40% *TEST START LOCATION
006576 006604 JWORD 1% :LOOP ON ERROR START LOCATION
006600 000000 WORD 0 *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
ooeegg 006612 . .WORD  25% :LOOP ON ERROR END LOCATION
1545 006604 052737 000100 177750 1$: BIS #B1T06,CMR :WRITE 1 INTO BITO06
1546 006612 000240 25%:  NOP SINSTRUCTION *JMP 18' PLACED HERE
006614 000240 NOP :FOR LOOP ON ERROR
1547 006616 032737 000100 177750 BIT #B1T06,CMR :CHECK FOR 0
1548 006624 001403 BEQ 108 :PASS
1549 006626 1046406 ERROR *ERROR
006630 006626 MORD .2
1550 ;CMR UNUSED BIT TEST
1551 :READ 1 FROM UNUSED CMR BITO02
1552 006632 000000 JWORD 0
1553 006634 000240 108:  NOP :END OF TEST
006636 005237 001472 INC $TESTN s INCREMENT TEST COUNTER




-

CKKKABO 11-44 KK11B CACHE
TEST # 61 = TEST UNUSED BIT 7 IN THE CMR

1554

006642
1555 006642

1562

1563 006702

1564 006704
006706

052735 000200 177750

0
03273; 000200 177750
104406
006676

000000
000240
005237 001472

MACRO M1113 27-0CT-80 08:39 PAGE gﬂ SEQUENCE 71

SBTTL TEST # 61 = TEST UNUSED BIT 7 IN THE CMR

'i"'l".""i."""""""""'i"QQ."Qtt'iti"'ltttt"'t.t

'TEST 61 = TEST UNUSED BIT 7 IN THE (MR

TR AR AR RN AR E RO E R A E N RN ANRRRNAAANAONAANARAONNOOOOOORES

t5161:

1$:

40$:
25%:

108:

SCPCND

+WORD
.WORD
.WORD
.WORD

BIS
NOP
NOP
BIT
BEQ
ERROR

.WORD
.WORD

NOP
INC

40%
1%
0
25%

#B1707,CMR

#B1T07,CMR
108

.-2

0
S$TESTN

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

;TEST START LOCATION

;LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;WRITE 1 INTO BITO?

;INSTRUCTION 'JMP 1$' PLACED HERE
:FOR LOOP ON ERROR

:CHECK FOR 0

s PASS

ERROR

; CMR UNUSED BIT TEST
:READ 1 FROM UNUSED CMR BITO3

;END OF TEST
s INCREMENT TEST COUNTER
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TEST # 62 = TEST AMR
157 SBTTL TEST # 62 = TEST AMR

';QQ'.Q't'Qﬁt'."!Q"""t"t""'i"t"t'ttt'it"i't'tt'lttt'itt

TTEST 62 = TEST AMR

it HA<%1:0> ADDRESS LINES ALL 1'S
e CA<21:0> ADDRESS LINES ALL 0'S
i AMR<21:0> DATA LINES ALL O'S
T AM BIT SHOULD READ 1.
-;t'tttttttttttttttt"tttt't'ttt'ttttt't'tt!ﬁt"'t'!t!'tt.t"'ttt
006712 15162:
1572 006712 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
006714 006724 WORD  40$ :TEST START LOCATION
006716 006724 MWORD 1% :LOOP ON ERROR START LOCATION
006720 000000 MORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
882;%2 006764 5 MORD  25% :LOOP ON ERROR END LOCATION
1573 006724 012737 177777 177752 1%: MOV #-1,CHR :ALL 1'S TO AMR
1574 006732 112737 000374 177751 MOVB  #374,CMR+1
1575 006740 105037 177750 CLRB (MR ;PRECONDITION AM BIT TO 0
1576 006744 005037 177752 CLR CHR . :ALL 0'S TO AMR<21:0>
1577 006750 105037 177751 CLRB  CMR+1
1578 006754 005737 000000 TST 0 :PLACE ALL 0'S ON CA<21:0>.HOWEVER,
1579 :THIS IS NOT WHEN THE AM BIT IS SET:
1580 :WHEN PAX ADDRESS LINES ARE NOT BEING
1581 :ACCESSED BY THE CPU, THE CACHE DEFAULTS
1582 :TO SELECTING MA<21:0> ADDRESS LINES.
1583 :IN THIS SITUATION, MA<21:0> DEFAULTS
1584 ;TO ALL 1°'S THEREBY PLACING ALL 0'S
1585 :ON CA<21:0>, THEREFORE, FOLLOWING THE LOADING
1586 0F ALL 0'S INTO AMR<21:0>,AND BEFORE THE
1587 :'TST 0' INSTRUCTION, THE AM BIT SHOULD
1588 :BE SET DUE TO MATCH BETWEEN AMR<21:0> AND CA<21:0>
1589 : ADDRESS LINES.
1590 006760 013703 177750 MOV CMR,R3 :SAVE AM BIT RESULT IN CMR
1591 006764 000240 25%: NOP :INSTRUCTION *JMP 1$°' PLACED MERE
006766 000240 NOP :FOR LOOP ON ERROR
1592 006770 032703 000010 BIT #AM,R3 :AM BIT SHOULD READ 1 INDICATING MATCH
1593 006774 001003 BNE 10$ :PASS
1594 006776 104406 ERROR : ERROR
007000 006776 MORD .=2
1595 :AMR TESTS
1596 :AMR BIT DID NOT READ 1 INDICATING
1597 :A MATCH OF ALL 0°'S BETWEEN MA TO CA<21:0>
1598 :ADDRESS LINES AND AMR<21:0> DATA
1599 007002 000000 WORD O :ERROR PRINT TERMIN,
1600 007004 000240 108: NOP :END OF TEST
007006 005237 001472 INC $TESTN : INCREMENT TEST COUNTER
}gg; .SBTTL MEMORY MANAGEMENT AND UNIBUS MAP REGISTERS SETUP
1603 ;;ttttttttQ'.t'.!!i"ttttt""tt"ttt!t'tttttttt'ttttttt'ttttiltt
1604 I MEMORY MANAGEMENT SETUP
1605 L A A A A R L L Al Al L Ll bbbl ik
1606 007012 012737 077406 172300 MAGPRE: MOV #77406.KPDRO  ;ALLOW ALL ACCESS TO KERNEL PAGE 0
1607 007020 012737 077406 172302 MOV #77406,KPDRY ;ALLOW ALL ACCESS TO KERNEL PAGE 1
1608 oorogz 012737 077406 172304 MOV #77406,KPDR :ALLOW ALL ACCESS TO KERNEL PAGE g
1609 007034 012737 077406 172306 MOV #77406,KPDR ;ALLOW ALL ACCESS TO KERNEL PAGE
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MEMORY MANAGEMENT AND UNIBUS MAP REGISTERS SETUP

1610 007042 01 gr 077406 17$§1o MOV #77406,KPDR4  ;ALLOW ALL ACCESS TO KERNEL PAGE &
1611 00705 01 077406 172312 MOV #77406.KPDRS  ;ALLOW ALL ACCESS TO KERNEL PAGE S
1m§wm% mnn 077406 172314 MOV #77406,KPOR :ALLOW ALL ACCESS TO KERNEL PAGE 6
1613 007 012737 077406 172316 MOV #77406,KPOR :ALLOW ALL ACCESS TO KERNEL PAGE 7
1614 007072 005037 172340 CLR KPARO :MAP PAGE 0 FOR 0-4K

1615 007076 012737 000200 172342 MOV #200,KPAR1 :MAP PAGE 1 FOR &-8K

1616 007104 012737 000400 172344 MOV #400,KPAR :MAP PAGE 2 FOR 8-12K

1617 007112 012737 000600 172346 MOV #600 , KPAR :MAP PAGE 3 FOR 12-16K

}g}g 007120 012737 177600 172356 MOV #177600,KPAR?  ;MAP PAGE 7 FOR 124=128K

1620 L L A A A A AR A ity
1621 i UNIBUS MAP REGISTERS SETUP

1622 R L L A A A A A A AR il
1623 007126 012737 000000 170200 MOV #0,UMPROO :MAP REGISTER SET 0 FOR 0-4K

1624 007134 012737 000000 170202 MOV #0 ,UMPRO1

1625 007142 012737 020000 170204 MOV czbooo UMPRO2  ;MAP REGISTER SET 1 FOR 4K=8K

1626 007150 012737 000 170206 MOV PRO3

1627 007156 012737 040000 170210 MOV caéooo UMPRO4  ;MAP REGISTER SET 2 FOR 8K=-12K
1628 007164 012737 000000 170212 MOV 0,UMPROS

1629 007172 012737 060000 170214 MOV ceéooo UMPRO6  ;MAP REGISTER SET 3 FOR 12K=16K
1630 007200 012737 000000 170216 MOV #0,UMPRO7




CKKKABO 11-44 KK11B CACHE
TEST # 63 - AMR CHECK

1637

007206
1638 007206 000004

177777

37

007246
645 007250 032737 000010
646 007256 001003
647 007260 104406

007262 007260
1648

1649
1650
1651
1652 007264 000000
1653 007266 000

24
007270 005237 001472
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SBYTL TEST # 63 = AMR CHECK

Q.Q'Q.!"'t'.'Q'QQ"Q""'QQ".'."!.'Q'Q"'t'.Q"t..tti"".i.

'TEST 63 - AMR CHECK

.WORD
.WORD
.WORD
.WORD

177752 1%: Mov
177751 Move
CLRB
TsT8

25%: NOP
NOP
177750 BIT
BNE
ERROR

- 108: NOP

40%
1%

0
25%

#-1,CHR
c;?l CMR+1

CMR
1

#AM,CMR
108

o2

0
STESTN

MA<21:0> ADDRESS LINES ALL 0'S
CA<21:0> ADDRESS LINES ALL 1'S
AMR<21:0> DATA LINES ALL

AM BIT SHOULD READ 1.

.Qti.ii.i'.t.""""'"Q"Q.'t.iIt.."!.'."."t..'..ltl"'ti'

SCPCND

1's

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

:SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

:LOAD AMR<15:0> WITH 1'§ FROM CHR<15:0>

LDAD AMR<21:16> ALL

PRECONDITION AM SIT 00

SPUT ALL 1°S ON MA AND PA ADDRESS LINES
‘MA WILL BE SELECTED

lNSTRUCTlON *JMP 18" PLACED HERE

“FOR LOOP ON ERROR

::sglt SHOULD READ 1 INDICATING MATCH
' ERROR

:AMR TESTS

:AMR BIT DID NOT READ 1 INDICATING
:A MATCH OF ALL 1'S BETWEEN CA<21:0>
:ADRESS LINES AND AMR<21:0> DATA
:ERROR PRINT TERMIN.

;END OF TEST

s INCREMENT TEST COUNTER
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TEST # 64 = AMR 1.INES NOT SHORTED & NOT SHORTED TO CA LINES
1660 .SBTTL TEST # 64 = AMR LINES NOT SHORTED €& NOT SHORTED TO CA LINES

'.t'!"l."tt'.'Q'Q'."""""'."Q"t'l"ti'.".t""i.t'CQ'.

s*TEST 6‘ - AHR LINES NOT SHORTED & NOT SHORTED TO CA LINES

i 1:0> ADDRESS LINES ALL 1'S
i CA< :0> ADDRESS LINES ALL 0°'S
i AMR<15:0> FLOATING 1 PATTERN
i FOR EACH FLOATING 1 PATTERN AM BIT SHOULD READ 0.
't!ttt"'.'t'tt"i""t'!"'tt"'tiiti't't'Qtttttttttttttttt'.tt
007274 TS164:
1661 007274 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
007276 007306 .NORD 408 :TEST START LOCATION
007300 060006 "WORD  18-408+57764  :LOOP ON ERROR START LOCATION
007302 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
007304 060034 "WORD  25$-40$+57764 :LOOP ON ERROR END LOCATION
007306 012737 001015 177746 40$: MOV #OFF,CCR :DISABLE CACHE
007314 004437 002342 JSR R4, RELCTL *LOCATE TEST CODE TO LOW CACHE SPACE
007320 007466 LWORD  10$¢2 :ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
:ARE RELOCATED TO LOW CACHE SPACE

1662 007322 012737 000001 002066 MOV #1,CHRPAT :SETUP 1ST PATTERN FOR CHR<15:0>
1663 007330 013737 002066 177752 1%: MOV CHRPAT, CHR .LOAD AMR<15:0> FROM CHR<15:0>
1664 007336 105037 177751 CLRB  CMR+1 LOAD AMR<21:16> FROM CMR<15:10>
1665 007342 105037 177750 CLRB (MR pneconoxrxou AM BIT T0 0
1666 007346 005737 000000 ST 0 :PLACE ALL 0'S ON CA<21:0>.
1667 :WHEN PAX ADDRESS LINES ARE NOT BE ING
1668 :ACCESSED BY THE THE CACHE DEFAULTS
1669 170 SELECTING MA<21: 6> ADDRESS LINES.
1670 1IN rnxs SITUATION, MA<21:0> DEFAULTS
1671 70 ALL 1'S THEREBY PLACING ALL 0'S
1672 :ON CA<21:0>. THEREFORE, FOLLOWING THE LOADING
1073 :0F ALL 0'S INTO AMR<21: :0> (AND BEFORE THE
1674 :*TST 0' INSTRUCTION,ALL 0°S ARE PLACED
1675 : ON CA<21:0> ADDRESS LlNES.
1676 007352 013703 177750 MOV CMR,R3 SSAVE AM BIT RESULT IN C
1677 007356 000240 258:  NOP :INSTRUCTION *JMP 18° PLACED HERE
7360 ooo;&o NOP :FOR LOOP ON ERROR
1678 007362 032 gs 000010 BIT #AM,R3 *CHECK FOR 0.
1679 73?3 0014 ; BEQ 9% :PASS
1680 007370 00503 7314 CLR CA210+2 ‘PREPARE CA210 FOR TYPEOUT
1681 007374 oosogr 7312 CLR CA210
168% 007400 013737 002066 047320 MOV CHRPAT ,AMR210+2 :PREPARE PATTERN USED FOR AMR<21:0>
168 :FOR ERROR TYPEOQUT
1684 007406 013737 2069 837313 MOV CHRPAT ,AMR210
i Sl B G el Ry g
123 oon& 7 1 047316 BIC #100000, AMR210
1688 0074 g 7 DEC goor
1689 ooratg 1 I
1690 007442 104406 ERROR :ERROR
007444 007442 JMORD  .=2
AMR TESTS

Al BIT SHOULD WAVE READ O INDICATING A
:NO-MATCH CONDITION.

232
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TEST # 64 = AMR LINES NOT SHORTED & NOT SHORTED TO CA LINES

1694 007446 047312 CA210 ;PRINT PATTERN USED FOR CACHE ADDRESS LINE CA<21 0>
1695 88;253 047316 Acgsao 0 ;PRINT FLOATING 1 PATTERN USED FOR AMR<21:0> DATA
169 007454 002066 98: ASL CHRPAT sNEXT FLOATING 1 PATTERN
1698 0074 ?8?631 8CS 108 ;1F PHYSICAL ADDRESS 100000 DONE; THEN FINISHED
1699 0074 0007 5 BR 1% :1F NOT CONTINUE WITH NXT PATTERN
1700 007464 000%6 108: NOP :END OF TEST

007466 005237 001472 INC STESTN ; INCREMENT TEST COUNTER




1707

00747
1708 00747

33333333§
O® NONF WO

sSesssss s 5555
T2SIIFTELYSE  FELON

i;:!::
838888838888

I datd

o ol B el =R B B I e R e )
~N~

NINDN
A

D2

- B e b D e ol e d =D =D
~
vV oy
SNNNNNNNNY ;:
333375 J
o

CKKKABO 11=-44 KK11B CACHE
TEST # 65 - FLOATING BIT TEST OF AM
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000000

177750

001472

L
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177746

38
“%

047316

002064

SlTTL TEST # 65 = FLOATING BIT TEST OF AM

itt"."ii'.'Q'Q"Q'Q'."'QQ"".'...QQQ.Q'.""".Q'Q".'QQ."

ATING BLIT TEST OF AM

-TEST 65 = FL
i MA<21:0> ADDRESS LINES ALL 1'S
i CA<21:0> ADDRESS LINES ALL 0°S
v AMR<21:16> FLOATING 1 PATTERN
e FOR EACH FLOATING 1 PATTERN AM BIT SHOULD READ 0.
is;;;."'.'!Qt!"!!"tQ""!"'Q'Q'.t"'iit"tt.t"t.tttt'it.t.'i
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.NORD 408 sTEST START LOCATION
WORD  1$-408+57764  :LOOP ON ERROR START LOCATION
-WORD :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
.WORD  258-40$+57764 :LOOP ON ERROR END LOCATION
408: MOV #OFF,CCR :DISABLE CACME
JSR aa RSLCTL SLOCATE TEST CODE TO LOW CACHE SPACE
.WORD :ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO LOW CACHE SPACE
MOV #4,CHRPAT :SETUP 1ST PATTERN FOR CMR<21:16>
18: MOVB  CMRPAT,CMR+1  :LOAD AMR<21:16> FROM CMR<15:10>
CLR CHR SLOAD ALL 0'S TO AMR<15:0> FROM CHR<15:0>
CLRB (MR :PRECONDITION AM BIT T0 0
13 0 :SAVE CMR CONTENTS. neron THE FETCH
SOF THIS lnsrauctigu 'S WILL
:BE PLACED ON CA<21:0> LINE .
MOV CMR,R3 :SAVE CMR CCONTENTS
258:  NOP SINSTRUCTION 'JMP 18° PLACED WERE
NOP :FOR LOOP ON ERROR
BIT #AM,R3 SCHECK FOR 0.
BEQ 98 PASS
Et: E: }802 :PREPARE CA210 FOR PRINTOUT
CLR AMR210+2 ;PREPARE PATTERN USED FOR AMR<21:0>
MOV CMRPAT,AMR210
ASR AMR210
ERROR ;: ERROR
MORD  .=2
AMR TESTS
Aﬂ BIT SHOULD MAVE READ O INDICATING A
:NO-MATCH CONDITION.
CA210 SPRINT PATTERN USED FOR CACHE ADDRESS LINES CA<21:0>
‘:33;0 5 :PRINT FLOATING 1 PATTERN USED FOR AII( 1:0> DATA
93 ASL CMRPAT ;NEXT FLOATING 1 PAIIE
=§E :3g0.cnar51 SIF PHYSICAL ADDRESS 10000000 DONE ;F INISHED
BR 1% :1F NOT CONTINUE WITH NXT PATTERN
108:  NOP :END OF TEST
INC STESTN : INCREMENT TEST COUNTER
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TEST # 66 = VERIFY NO MA TO CA LINES ARE SHORT TO EACH OTHER

1743 JSBTTL TEST # 66 = VERLFY NO MA TO CA LINES ARE SHORT TO EACH OTHER

':'!"'l""'...QQ.."".."'.""Q..""tQ.Q'..i'.""""t'.lt'

TaTEST 66 = VERIFY NO MA TO CA LINES ARE SHORT TO EACH OTHER
i MAC<! ’8’ ADDRESS LINES FLOATING
i CA<12:0> ADDRESS LINES FLOATING
e AMR<12:0> FLOATING 1 PATTERN
i AM BIT READS 1
'°ttQQttQt't't"tt"tt""'i"0""..""'......!0"'.t.'tt"'t"
ooress t$166:
1744 007652 000004 SCPCND +SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
007654 007664 JNORD  40% STEST START LOCATION
007656 060020 "WORD  18-408457764  :LOOP ON ERROR START LOCATION
007660 000000 -WORD g :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
007662 860116 "WORD 258-408+57764 :LOOP ON ERROR END LOCATION
007664 12727 001225 177746 40$: MOV #0FF ,CCR :DISABLE CACHE
007672 004437 002342 JSR R& lsLCtL - *LOCATE TEST CODE TO LOW CACHE SPACE
007676 010112 WORD 106+ ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 10
*ARE RELOCATED TO LOW CACHE SPACE
1745 007700 012737 000001 047344 MoV #1,FLTPAT :1ST FLOATING 1 PATTERN: 00001
1746 007706 012701 100001 MOV #100001,R1 :LOAD VIRTUAL ADDRESS. SELECTS KPAR4
1747 *AND SPECIFIES OFFSET FOR PHYSICAL ADDRESS.
1748 007712 012737 170000 172350 MOV #170000,KPARSL :MAP PAGE & FOR TOP 124K ADDRESSING.
1749 :TOGETH%I WITH VIRTUAL ADDRESS WILL
1750 :PLACE 17000001 ON PA LINES AND
1721 : 1 ON MA LINES FOR 1ST FLOATING
17 1 PATTERN.
1753 007720 012737 000001 177572 18: MOV #1,5R0 TENABLE MEM. MNGMENT.
1754 007726 o1§7 7 20 17251 MOV #20,5R3 SENABLE 22-BIT MAPPING
1755 0077 013737 047344 17775 MOV FLT‘AY.CNI :LOAD AMR WITH FLOATING 1 PATTERN
1n?£nu 105037 177751 CLRB  CHR+1
1757 007746 105037 177750 CLRB  CMR :PRECONDITION AM BIT T0 0
175: 00775 3727 047344 000001 (MP FLTPAT, M *FOR 1ST PATTERN USE TSTB
1759 0077 190& BNE 28
1760 007762 105711 1sT8  (R1) ;
1761 007764 40 NOP
1re§ 77 ‘g NOP
1763 0077 0 BR 48
1764 mm 2%: TST (R1) :
1765 00777 4 NOP
175, 77 4 NOP
176 10003 13703 177750 4s: MOV CMR,R3
1768 01 sog 177572 CLR sag :DISABLE MEM. MNGMNT.
1;;3 1 12 7 172516 CLR SR
1 1001 258:  NOP :INSTRUCTION 'JMP 18° PLACED HERE
1001 4 NOP :FOR LOOP ON ERROR
1771 0 03 000010 BIT #AN,R3 :CHECK FOR
1 10024 1;1 BNE 9% PASS
1773 0 13737 047344 047320 MOV FLTPAT.AMR210+2 :PREPARE PATTERN USED FOR AMR<21:0>
1774 ‘FOR ERROR TYPEOUT
1775 010034 7 047316 CLR AMR210
117, 1 13737 047344 047314 MOV FLTPAT.CA21042 ;PREPARE PATT. USED FOR CA<21:0 > FOR ERROR TYPE
1777 01 7 047312 CLR CA210
1778 01005 ERROR : ERROR
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010054 010052 WORD  .=2
1779
1780
1781 010056 047;12 CA210
178§ 010060 047316 AMR210
1783 010062 000029 WORD 0
1784 01009‘ 0033 047344 ASL FLTPAT
1785 010070 032737 020000 047344 BIT #20000,FLTPAT
1786 010076 001004 BNE 108
1787 010100 006301 ASL R1
1788 010102 052701 100000 BIS 0100000 R
1789 010106 000704 BR 1%
1790 010110 000240 108: NOP
010112 005237 001472 INC $TESTN

SEQUENCE 79

;AMR TESTS

:AM BIT DID NOT READ 1

:PRINT FLOATING 1 PATTERN USED FOR CA<21:0>
:PRINT FLOAT 1 PATTRN. USED FOR AMR<21: 0>

;NXT PATTERN
;1F PATTERN 10000 DONE; FINISHED

; IF NOT NEXT PASS

;END OF TEST
; INCREMENT TEST COUNTER
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TEST_# 67 = AM FLOATING PATTERN TEST
1797 SBTTL TEST # 67 = AN FLOATING PATTERN TEST

SRR AR RN RN RN RN R AR R RN NN NN ANANANANANARRARAANNANROORRROORRNS

(+TEST 67 = AM FLOATING PATTERN TEST
i HA<S1:1 > ADDRESS LINES FLOATING 0

S——— |

e CA<21:13> ADDRESS LINES FLOATING 1
e AMR<21:13> FLOAT. 1 PATTRN.
i AM BIT READS 1
';i'.ttt!tt'ititt"tttttt".tti*'t'tttt'tttttttttttltttt'tQttt't'
010116 t§167:
1798 010116 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
010120 010130 WORD  40$ :TEST START LOCATION
010122 060036 WORD  1$-408+57764  :LOOP ON ERROR START LOCATION
010124 000000 JWORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
010126 060144 WORD  258-40$+57764  :LOOP ON ERROR END LOCATION
010130 012737 001015 177746 40S: MOV #OFF ,CCR :DISABLE CACME
010136 004437 002342 JSR R4 ,RELCTL SLOCATE TEST CODE TO LOW CACHE SPACE
010142 010470 WORD  10$+2 :ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
*ARE RELOCATED TO LOW CACHE SPACE
1799 010144 012737 171000 172350 2%: MOV #171000,KPARG  :MAP PAGE & FOR TOP 124K ADDRESSING
138? :gé%L‘sto SELECT UNIBUS MAP REGISTER
1802 010152 012737 000040 047344 MOV #40,FLTPAT SSETUP 1ST PATTERN FOR UMPRO9
1803 010160 012737 020000 170220 MOV #20000,UMPRO8  :SETUP 1ST PATTERN FOR UMPROS
1804 :ACCESSING TOP 124K,AND ENABLING
1805 SUNIBUS MAP, THME 1S ADDRESS WILL BE
1806 SCONSTRUCTED THRU THE PA<21:)>
1807 :LINES AS 17020000 AND AS 00020000
1808 :THRU THE MA<21:0> LINES. DUE TO TOP 124K
1809 SADDRESSING CA<21:0> WILL SELECT THE MA LINES.
1810 010166 012737 000200 002064 MOV #200,CMRPAT SSETUP 1ST PATTERN FOR CMR<15:10>
1811 010174 012737 020000 002066 MOV #20000,CHRPAT  :SETUP 1ST PATTERN FOR CHR<15:0>
131; 010205 012737 060126 000004 1%: MOV #38-2$+60000,4 :
1813 01021 0127 7 ooog&g 0006 - MOV #340,6
1814 010216 11 7§7 7345 170222 - MOVB  FLTPAT+1,UMPRO9 ;LOAD UPPER BITS OF UNIBUS MAP REGISTER
1815 102;4 113737 002065 177751 MOVEB  CMRPAT+1,.CMR+1 :LOAD AMR<21:16> FROM CMR<15:10>
1819 10; 5 013737 2066 177753 MOV CHRPAT, CHR :LOAD AMR<15:0> FROM CHR<15:0>
1817 010240 012737 000001 17757 MOV #1,5R0 :ENABLE MEM MNGMENT
1818 01osao 012737 0000go 172516 MOV #60,SR3 :ENABLE UNIBUS MAP AND 22-BIT MAPPING
1819 010254 105037 177750 CLRB  CMR :PRECONDITION AM BIT WITH 0
1820 010260 005737 100000 ST 100000 :TOP 124K ADDRESSING WILL BE DONE PLACING
1821 STHE APPROPRIATE FLOATING 1 ADDRESS PATTERN
1az§ sON CA<21:0>.MHOWEVER, THIS IS NOT WHEN THE
182 SAM BIT IS SET: WHEN PAX ADDRESS LINES ARE
1824 :NOT BEING ACCESSED BY THE CPU,THE CACHE
1825 :DEFAULTS TO SELECTING MA<21:0> ADDRESS
1829 sLINES. IN THIS SITUATION,MA<21:0> DEFAULTS TO
182 ‘WHATEVER ADDRESS PATTERN 1S BEING SET UP
1828 :VIA THE UNIBUS MAP,
13;3 :THEREFORE AFTER THE 'CLRB CMR' INSTRUCTION
18 SAND BEFORE 'TST 100000 THE AM BIT SHOULD
1331 :BE SET
1a§?gu ww% NOP
1833 010266 00024 NOP
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TEST # 67 = AM FLOATING PATTERN TEST

1834 010 7g ogo« 1 BR 48 :NO TRAP
1835 010272 0 gg 3%: CMP (SPY+, (SP)+ :
1836 010274 01 17775g 4$: MOV CMR,RS ‘SAVE CMR CONTENTS
1a§ 10300 005037 17757 CLR SRO
1838 010304 005037 172516 CLR SR3 ;DISABLE UNIBUS MAP
1839 010 1g 240 25¢:  NOP SINSTRUCTION "JMP 18' PLACED HERE
01031 °§° Ag NOP :FOR LOOP ON ERROR
1840 010314 032703 000010 BIT #AM,R3 *CHECK FOR 1
1841 010320 801040 BNE 9% PASS
1aa§ 010322 012737 000006 000004 MOV 86,4
1843 010330 005037 00000 CLR 6
1844 010334 013737 002066 047320 MOV CHRPAT ,AMR210+2 :PREPARE AMR210 AND CA210 FOR PRINTOUT
1845 010345 o1g7 7 002066 047314 MOV CHRPAT,CA210+2
1846 010350 013737 047344 047316 MOV FLTPAT,AMR210
1847 010356 013737 047344 047312 MOV FLTPAT.CA210
1uamwg 012737 000007 002062 MOV #7,L00P
1849 010372 006237 047312 68: ASR CA210
1850 010376 006237 047316 ASR AMR210
1851 010402 005337 002062 DEC LOOP
1as§ 010406 001371 BNE 68
1853 010410 104406 ERROR :ERROR
010412 010410 JWORD .2
1854 :AMR TESTS
1855 SAM BIT DIT NOT READ 1
1856 010414 047312 CA210 ‘PRINT CA<21:0> PATTERN USED
}agr 0}0416 047316 snnz1o ‘PRINT AMR<21:0> PAT. USED
1353 318232 06 047344 98: ASL FLTPAT :NEXT PATTERN FOR UMPRO1
1860 010452 032737 040000 047344 BIT #40000,FLTPAT  :IF ADDRESS PATTERN 10000000 DON; FINISHED
1861 010434 001007 BNE 8s
1a¢§ 010436 006337 170220 ASL UMPRO8 sNEXT PATTERN FOR UMPROS
1863 010442 006337 002064 ASL CMRPAT *NEXT PATTERN FOR CMR<15:10>
1864 010446 006337 002066 ASL CHRPAT NEXT PATTERN FOR CHR<15:0>
1865 010452 53 BR 1%
1866 010454 012737 000006 000004 8S: MOV 86,4 ;RESTORE VECTORS
1867 010462 005037 000006 CLR &
1868 010466 000240 108:  NOP SEND OF TEST
010470 005237 001472 INC STESTN *INCREMENT TEST COUNTER
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TEST # 70 = VERIFY NO STUCK PA LINES OR SHORTED TO EACH
1875 .SBTTL TEST #

bbbl bedededed A4 2

;*TEST 70 = VER

7
Ol;ag' PAGE ;7 SEQUENCE 82
78 = VERIFY NO STUCK PA LINES OR SHORTED TO EACH OTHER

O L O T T T TR T R T
IFY NO STUCK PA LINES OR SHORTED TO EACH OTHER

> ADDRESS LINES FLOATING

> ADDRESS LINES FLOATING 1

AMR<14:0> FLOATING 1 PATTERN

AM BIT READS 1

-

40%
18-408+57764
g5$-603057764

#OFF ,CCR
R4, RELCTL
10$+2

tt!"'l.""."""!'Q"tQ""'t't".""ii.'t'it"t'titt'tt'.!

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;DISABLE CACHE

:LOCATE TEST CODE TO LOW CACHE SPACE
;ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
;ARE RELOCATED TO LOW CACHE SPACE

e PA<14:
1 CA<14:
't
.t

010474 t§170:

1876 010474 000004 SCPCND
010476 010506 .WORD
010500 060004 .WORD
010502 000000 .WORD
010504 060034 .WORD
010506 012737 001015 177746 40S: MOV
010514 004437 002342 JSR
010520 010636 .WORD

1877 010522 012701 000001 MOV

1878 010526 010137 177752 1%: MOV

1879 010532 105037 177751 CLRB

1880 010536 105037 177750 CLRB

1881 010542 022701 000001 CMP

1882 010546 001002 BNE

1883 81055 105711 1ST8

1884 010552 000401 BR

1885 010554 005711 28: ST

1886

1887

1888 010556 38:

1889 010556 000240 258:  NOP
010560 000240 NOP

1890 010562 032737 00uN10 177750 BIT

1891 010570 001015 BNE

}ggg 010572 010137 047320 MOV

1894 010576 005037 047316 CLR

1895 010602 010137 047314 MOV

1896 01 005037 047312 CLR

1897 010612 104406 ERROR
010614 010612 .WORD

1898

1899

1900

}331 010616 047312 CA210

1905 10620 047316 AMR210

1904 010622 .WORD

1905 010624 1 98: ASL

1909 106 g 701 100000 BIT

190 8106 1735 BEQ

1908 010634 000240 108:  NOP

fM.m ;R1 CONTAINS IST FLOATING 1 PATTERN: 000001
R1,CHR :LOAD AMR<15:0> FROM CHR<15:0>
CMR+1 ;LOAD AMR<21:16> FROM CMR<15:10>
CMR :PRECONDITION AM BIT TO 0
g;.R1 ;IF PATTERN IS 000001 USE TSTB
4
(R1) ;READ ADDRESS SPECIFIED IN R1

:WHICH WILL PLACE FLOATING 1 PATTERN ON ADDRESS LINES

;PA WILL BE SELECTED TO FEED CA LINES.

;INSTRUCTION *JMP 1$°' PLACED HERE

:FOR  LOOP ON ERROR
#AM, CHR :CHECK FOR 1
9s :PASS
R1,AMR210+2 :PREPARE PATTERN USED FOR AMR<21:0>

:FOR ERROR TYPE.
AMR210
E}QCA21°’2 ;PREPARE PATTREN USED FOR CA<21:0>

;ERROR
=2

;AMR TESTS

:AM BIT SHOULD MAVE READ 1 INDICATING A

:MATCH CONDITION,

:PRINT FLOATING 1 PATTERN USED FOR

:CACHE ADDRESS LINES CA<21:0>
0 ;PRINT  PATTERN USED FOR AMR<21:0> DATA
R1 ;NEXT FLOATING 1 PATTERN
:100000.!1 lS ADDIESS PATTERN 40000 DONE?

ONT INUE
:EN6 or TEST




T
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TEST # 70 = VERIFY NO STUCK PA LINES OR SHORTED TO EACH OTHER
010636 005237 001472 INC  STESTN

: INCREMENT TEST COUNTER




- — = =9

C
1

K
3

KKABO_11-44 KK11B CACHE MACRO M1113 27-0CT-80
ST # 71 = AFTER EACH FLOATING 1 PAT. CHECK AM BIT REA

1914 LSBTTL TEST #
::"t.l."i"'.
seTEST 71 = AFT
it PA(%1:1
o CA<21:1
in AMR<21:
;;i"'ii...'.i'

010642 TST71:

1915 010642 000004 SCPCND
010644 010654 .WORD
010646 060022 .WORD
010650 000000 .WORD
010652 060116 .WORD
010654 012737 001015 177746 408: MOV
010662 004437 002342 JSR
010666 011166 .WORD

;s THE FOLLOWING
sARE RELOCATED

1916 010670 012737 000002 002064 2%: MOV

1917 010676 012737 100000 002066 MOV

}3}8 010704 012737 001000 172350 MOV

1920

1921

1922

19%3

1924

1925 010712 012737 060104 000004 1§%: MOV

1926 010720 012737 000340 000006 MOV

1927 010726 113737 002064 177751 Move

1928 010734 013737 002066 177752 MOV

1929 010742 012737 000001 177572 MOV

1930 010750 012737 000020 172516 MOV

1931 010756 105037 177750 CLRB

1932 010762 005737 TST

1933

1934

1935 010766 000240 NOP

1936 010770 000240 NOP

1937 010772 000401 BR

1938 010774 022659 6%: CMP

1939 010776 0050 177572 7$: CLR

1940 011002 005037 172516 CLR

1941 011003 000240 25%: NOP
01101 000;49 NOP

19‘; 110}3 832 37 000010 177750 BIT

1943 0110 1?66 BNE

1944 0110 012737 000006 000004 MOV

1945 0110 88 037 009808 CLR

1969 110 S037 04732 CLR

194

1948 011040 SO;T 047314 CLR

1949 81104& 13737 17 58 047316 MoV

1950 011052 013737 172350 047312 MoV

- :
0g:?9 PAGE ?8 SEQUENCE 84
91 « AFTER EACH FLOATING 1 PAT. CHECK AM BIT READS 1

R L L T L R L T T
R EACH FLOATING 1 PAT. CHECK AM BIT READS 1

> FLOATING 1 PATTERN

5> FLOATING 1 PATTERN

15> FLOATING 1 PATTERN

2R3 22 222220 RR R0 RRRRRRRRRRRRR0RRRRRRRRZRRR Q)

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

40$ ‘TEST START LOCATION

1$=408+57764  ;LOOP ON ERROR START LOCATION

0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
25$-408+57764  :LOOP ON ERROR END LOCATION

#OFF ,CCR :DISABLE CACHE

R4, RELCTL *LOCATE TEST CODE TO LOW CACHE SPACE

10§+2 *ADDRESS OF START OF NEXT TEST

LOCATIONS INCLUDING 10$
TO LOW CACHE SPACE

#2 ,CMRPAT :1ST PATTERN FOR CMR<15:10>

#100000, CHRPAT :IST PATTERN FOR CHR<15:0>

#1000, KPARG *SETUP IST PATTRN. FOR PAGE ADDRESS FIELD
‘KPARG CONTAINS THE FLOATING 1
:PATTERN AND REPRESENTS THE PAGE ADDRESS FIELD
:DATA USED BY MEM. MNGMNT. TO
SCONSTRUCT THE PHYSICAL ADDRESS.
11000 IS THE 1ST FLOATING 1 PATTER

N
sWHICH WILL BE CONSTRUCTED AS PHYS. ADDRESS 100000.

362-23*60000.6 ;ALLOW FOR NEX TRAP

#340,6

CMRPAT.CMR#1  :LOAD AMR<21:16> FROM CMR<15:10>
CHRPAT . CHR *LOAD AMR<15:0> FROM CHR<15:0>
#1,S5R0 TENABLE MEM. MNGMNT.

#20,5R3 {ENABLE 22-B1T MAPPING

CMR ;PRECONDITION AM BIT TO 0

100000 :WILL CHOOSE KPAR4 FOR ADDRESSING.
:PHYSICAL ADDRESS WILL BE DETERMINED
:BY FLOATING PATTERN USED.

7% ;:NO TRAP

(SP)+,(SP)+ :ADJUST STACK

g:g :DISABLE MEM. MNGMNT.
;INSTRUCTION 'JMP 1$' PLACED HERE
;:FOR LOOP ON ERROR

#AR,CMR :CHECK FOR 1

9% :PASS

:6.&

AMR210+2 :PREPARE PATTERN USED FOR AMR<21:0>
;AND CA<21:0> FOR TYPEOUT

CA210+2

KPARG ,AMR210

KPARGL,CA210
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TEST # 71 = AFTER EACH FLOATING 1 PAT. CHECK AM BIT READS 1

1951 011060 012727 000011 002062 MOV #9..L00P
195; 011 006237 047316 ASR AMRZ10
1953 011072 006237 047312 ASR CA210
1954 011076 042737 100000 047316 BIC #100000, AMR2
1955 011104 042737 100000 047312 BIC #100000, CA21
1956 011112 005337 002062 DEC LOOP
1957 011116 001363 BNE 5%
1958 011120 104406 ERROR : ERROR
011122 011120 WORD .2
1959 :AMR TESTS
1960 011124 047312 CA210 :PRINT FLOAT. ADDRESS PATTERN USED
1961 ‘FOR CA<21:0>
1962 011126 047316 AMR210 :PRINT PATTERN USED FOR AMR<21:0>
1963 011130 0000 WORD O
1964 011132 006337 172350 98 ASL KPARG sNEXT FLOATING 1 PATTERN
1965 011136 103405 BCS 13 *IF PHYSICAL ADDRESS 10000000 DONE; FINISHED
1966 011140 006337 002064 ASL CMRPAT :NEXT CMR PATTERN
1967 011144 006337 002066 ASL CHRPAT :NEXT CHR PATTERN
1968 011150 BR 1% : CONTINUE
1969 011152 012737 000006 000004 8S$: MOV 86,4 :RESTORE VECTORS
1970 011160 005037 000006 CLR &
1971 011164 000240 108: NOP sEND OF TEST
011166 005237 001472 INC $TESTN : INCREMENT TEST COUNTER
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TEST # 72 = LOADING TAG STORE FROM ADDRESS MATCH REGISTERS

1975 .SBTTL TEST # 72 = LOADING TAG STORE FROM ADDRESS MATCH REGISTERS

':Q.'itl'.i""t.'Q"'i""i""'.'QQQ."Q.IQ"."""...Q""QQQ

1#TEST 72 = LOADING TAG STORE FROM ADDRESS MATCH REGISTERS

i ALL 0'S TO TAG STORE ADDRESS LOCATION 0000.
"Itt"itt"!tQ'ttt'i't"it"t"t"lﬁi'.Qt"t'.i.i'tititt"t't't.
011172 t§172:
197% 011172 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
011174 011204 .WORD  40% STEST START LOCATION
011176 070000 "WORD  18-408+67764  :LOOP ON ERROR START LOCATION
011200 000000 WORD O *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
011202 070042 "WORD  258-40$+67764  :LOOP ON ERROR END LOCATION
011204 012737 001015 177746 40$: MOV #OFF,CCR :DISABLE CACHE
011212 004437 002370 JSR R4 ,RELCTH *LOCATE TEST CODE TO HIGH CACHE SPACE
011216 011354 WORD  108+2 :ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 108
;ARE RELOCATED TO HI CACHE SPACE

1977 011220 005037 177752 18: CLR CHR :LOAD AMR<8:0> BY WRITING ALL 0'S TO CHR<8:0>
1978 011224 112737 000003 177750 MOVE  #HODO+TDAR,CMR :ALLOWS CACHE TAG FIELD BITS TO BE
1979 ‘WRITTEN TO CHR<15:07> ONLY DURING
1980 *THE DESTINATION MEMORY ACCESS
1981 S0F AN INSTRUCTION
1982 "ENABLE CACHE TAG FIELD TO BE WRITTEN
1983 “INTO FROM AMR<S:0>
1984 011232 012737 000015 177746 MOV #15,CCR “NO UCB SO AS TO WRITE ENABLE TAG STORE
1985 01154 005737 0400 ST 40000
1986 011244 005737 0600 31 60000 :WRITE INTO TAG STORE
1987 011250 005737 060000 3 60000 WRITE TAG FIELD DATA FROM CACHE ADDRESS
1988 *LOCATION 0000 INTO CHR.
1989 011254 013737 177752 047322 MOV CHR,CHR157 *SAVE CHR DATA
1990 011262 000240 258:  NOP “INSTRUCTION 'JMP 18' PLACED HERE

011264 000240 NOP ‘FOR LOOP ON ERROR
1991 011266 105037 177750 CLRB (MR *DISABLE MAINTENANCE MODE
1992 011272 012737 001015 177746 MOV #OFF ,CCR
1993 011300 042737 000177 047322 BIC #177.CHR1S7 :PREPARE CHR157 FOR ERROR CHECK
1994 011306 005737 047322 TST CHR167 :BITS <15:07> SHOULD BE ALL 0'S
1995 011312 001417 BEQ 108 :PASS
1996 011314 012737 000007 002062 MOV #7,L00P ERROR:PREPARE CHR157 FOR TYPEOUT
1997 011322 006237 047322 2%: ASR CHR1S7
1998 omgg 062737 100000 047322 BIC #100000, CHR157
1999 011334 005337 002062 DEC 5oop
2000 011340 001370 BNE $
2001 011342 104406 ERROR :ERROR

011344 011342 JNORD  .=2
zoog :TAG STORE DATA TESTS

READING TAGD<21:13> THRU CHR<15:07>
DID NOT RESULT IN ALL 0'S.
S 011346 047322 CHR157 *PRINT CHR<15:07>

011350 000000 WORD O

011352 000249 108:  NOP :END OF TEST

011354 005237 001472 INC $TESTN  INCREMENT TEST COUNTER




CKKKABO_11-44 KK
TEST # 73 = ALL

20N
011360
2012 011360
011362
011364
011366
011370
011372
011400
011404
2013 011406
2014 011414
2015
2016
2017
2018
2019
2020 011422
58%1 811630
2 011434
2023 011440
2024
2025 011444
2026 011452
; 011454
2027 011456
2028 011668
2029 01147
2030 011476
31 011504
3§ 011506
33 011514
34 0115
35 011526
36 0115
2037 011534
011536
38
39
Tm
i e
011544
011546

1
1

000004

011372
070000

000000
070044
012737
004437
011546

012737
005737
005737
005737

013737
000240
000

18 CACHE
'S TO TAG STORE ADDRESS LOCATION 0000

001015
002370

177777
000003

0083
0000
060000

177752

177750

001472

7
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177746

177752
177750

177746

047322

177746

.SBTTL TEST # 73 = ALL 1'S TO TAG STORE ADDRESS LOCATICN 0000

"ttt"'tt.'."'Q"f."t"""'.iiQti.t'.'i.t..Q..QQQ'.Q'Q'.QC'

*TEST 73 - ALL 1'S TO TAG STORE ADDRESS LOCATION 0000

i ALL 1'S TO TAG STORE ADDRESS LOCATION 0000
?s;;it'Qt'ltt'tt't'tit't"""Qttttt!tttttttttttt'ttt'ttttt"t't'
SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40% ;TEST START LOCATION
WORD  18-408+67764 :LOOP ON ERROR START LOCATION
WORD 0 ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST

.MORD  258-408+67764  :LOOP ON ERROR END LOCATION

40$: MoV #OFF ,CCR ;:DISABLE CACHE
JSR R4, RELCTH :LOCATE TEST CODE TO WIGH CACHE SPACE ——
.WORD  108+2 ;ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10%
;ARE RELOCATED TO HI CACHE SPACE

18: MOV #-1,CHR :LOAD AMR<8:0> BY WRITING ALL 1'S TO CHR<8:0>
MOVE  #HODO+TDAR,CMR :ALLOWS CACHE TAG FIELD BITS TO BE
:WRITTEN TO CHR<15:07> ONLY DURING
rne DESTINATION MEMORY ACCESS
AN INSTRUCTION
:ENABLE CACHE TAG FIELD TO BE WRITTEN
:INTO FROM AMR<8:0>
MOV #15,CCR ‘NO UCB SO AS TO WRITE ENABLE
ST 40000
ST 60000 :WRITE INTO TAG STORE
ST 60000 *WRITE TAG FIELD DATA FROM CACHE ADDRESS
:LOCATION 0000 INTO CHR.
MOV CHR,CHR157 :SAVE CHR DATA
258:  NOP SINSTRUCTION ‘JMP 18' PLACED HERE
NOP :FOR LOOP ON ERROR
CLRB  CMR :DISABLE MAINTENANCE MODE
MOV #OFF ,CCR
BIC #177.CHR157
CMP #177600,CHR1S7  :BITS <15:07> SHOULD BE ALL 1'S
BEQ 108 ‘PASS
MOV #7,L00P ERROR;PREPARE CHR157 FOR TYPEOUT
2%: ASR CHR1S7
BIC c1ooooo CHR157
DEC
BNE 2:
ERROR :ERROR
JNORD  .=2
:TAG STORE DATA TESTS
IEADING TAGD<21:13> INRU Cnn<15 o
:DID NOT RESULT IN ALL 1
CHR157 :PRINT CHR<15:07>
MORD O
108:  NOP :END OF TEST
INC $STESTN S INCREMENT TEST COUNTER

e ——————



CKKKABO_11-44 KK11B CACHE

oo
-

1552
2048 011552 000004
011554 011564
011556 070006
011560
011562 07005
011564 012737 001015
011572 004437 002370
011576 011756

000001
2050 011606 012737 000015
2051 011614 013737 047326

2052
2053 011622 112737 000003
2054 .
2055
2056
20;7
§§S 011630 005737 040000
011634 005737 060000
2061 011640 005737 060000
gggs 011644 013737 177752
011652 000240
011654 000262
5 0116 1050 177750
m . 012737 001015
011670 012737 000007
%828 01167 826;37 047322
9 811 g 37 100822
70 011710 00 3;7 002
71 011714 8013 9
7% 011716 023737 047326
73 011724 001405
2074 011726 104406
011730 011726
75
7
7
78
79

4
728 m 047326

MACRO M1113 27-0CT-8
TEST # 74 = FLOAT 1 ACROSS 0°'S TO TAG STORE ADRS LOC
2047 (SBTTL "TEST # 74 = FLOAT 1 ACROSS 0'S TO TAG STORE ADRS LOC 0
""'."t'ttt"i""'i'.""""."t""tt'."""".Q'."Q""

S4TEST 74 = FLOAT 1 ACROSS 0'S TO TAG STORE ADRS LOC 0
FLOAT 1 ACROSS 0'S TO TAG STORE ADDRESS LOCATION 0000

CHARARRRRRRRRRRRRRCCRRRRRRRRRRRORNRARARRRRARERARANARCACRNCOOOOOOIOESD

-

t8174:

177746 40S:

SCPCND

.WORD
.WORD
.WORD
.WORD
MOV

JSR

.WORD

40%
18-408+67764

0
258=408+67764

L,
1oi 5

K 7
08:39 PAGE 81 SEQUENCE 88

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
:LOOP ON ERROR END LOCATION

;:DISABLE CACHE

:LOCATE TEST CODE TO WIGH CACHE SPACE
sADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$

:ARE RELOCATED TO WI CACHE SPACE

047326
177746 18:
177752

177750

047322

25%:

177746
002062

3s:
047322

047322

MoV
MoV
MOV

Move

CHR157
CHR80

.WORD
ASL

#1,CHRB0
1§, Cer
CHRBO0, CHR

#HODO+TDAR ,CMR

40000
60000
60000

CHR,CHR157

CMR
#OFF, CCI
:7 L

0100000 CHR157

S
CHR80,CHR157
5%

=2

0
CHRBO

:1ST FLOATING 1 PATTERN:001

:NO UCB SO AS TO WRITE ENABLE CACHE STORE
.LOAo AMR<B:0> VIA CHR<8:0> WITH
sFLOATING 1 PATTERN

:ALLOWS CACHE TAG FIELD BITS TO BE
URI!TEN TO CHR<15:07> ONLY DURING

THE DESTINATION MEMORY ACCESS

:0OF AN INSTRUCTION

:ENABLE CACHE TAG FIELD TO BE WRITTEN
;INTO FROM AMR<B:0>

;WRITE INTO TAG STORE

IWRITE TAG FIELD DATA FROM CACHE ADDRESS
:LOCATION 0000 INTO CHR.

:SAVE CHR DATA

:INSTRUCTION *JMP 18* PLACED WERE

:FOR LOOP ON_ERROR

:DISABLE MAINTENANCE MODE

:DISABLE CAC

:PREPARE CHR157 FOR COMPARISON

;CHECK FOR CORRECT PATTERN

:PASS

;ERROR

:TAG STORE DATA TESTS

IEADING CHR<15:07> FOR TAGD<21:13%>
DID NOT RESULT IN CORRECT FLOATING
:1 PATTERN.

Pllut CHR<15:07>

;PRINT FLOAT NG 1 PATTERN LOADED
: INTO CHR<8:

sNEXT PATTERN
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TEST # 74 = FLOAT 1 ACROSS 0'S TO TAG STORE ADRS LOC 0

2084 011744 032737 001000 047326 BIT #1000, CHRBO ;IF PATTERN 400 DONE;F INISHED
2085 011752 001715 BEQ 1% ;1F NOT, NEXT PASS
2086 011754 108: NOP ;END OF TEST

000240
011756 005237 001472 INC STESTN ; INCREMENT TEST COUNTER
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CKKKABO_11-44 KK11B CACHE
155503075 = CHECK ALL LOW CACHE

001015
002370

N7
MACRO M1113  27-0CT-80 08:39 PAGE 82 SEQUENCE 90
TAG STORE ADRS LOCS
(SBTTL 'TEST # 75 = CHECK ALL LOW CACHE TAG STORE ADRS LOCS
t'l'..Q.t'tt'Q"'Q""Q'.Q""'!"..C.'.'..i""."'..."'..'Q'
-rest 75 = CHECK ALL LOW CACME TAG STORE ADRS LOCS
WRITE AND READ 0'S TO ALL LOW CACHE TAG STORE ADDRESS LOCATIONS

t't"'.i""..Q"'it""'t"'i"'Q'Q..Q'.Q..QQQQQOQQ'.i'ﬁ"t."

177746

177746
177750

047322

17774
04732

002062
047322

té17s:

40$:

SCPCND

+WORD
.WORD
+WORD
.WORD
MOV

JSR

-WORD

40%
18-408+67764

gSS-kOi*é??b&

#0FF,CCR
R4 asLCTu
10§+

;SCOPE CONDITIONS: GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

:SCOPE SYNC. NOT [MPLEMENTED FOR TMIS TEST
:LOOP ON ERROR END LOCATION

:DISABLE CACHE

;LOCATE TEST CODE TO HIGH CACHE SPACE
;ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 108

:ARE RELOCATED TO HI CACHE SPACE

1$:

25%:

6%

CLR
MOV
MOV
MoV
Move

TST

CHR
#60000, RS
#40000,R3
#5,CCR

#1000+ TDAR, CMR

(R3)
(RS)
(RS)

CHR,CHR157

Cﬂl

CCR
0177 Hl\S?
cnliis

:g CA210+2
cné

a%??'

0100000 CHR157

6‘

;LOAD AMR<B:0> BY WRITING ALL 0°'S TO CHR<8:0>
;ADDRESS 60000 INTO RS

;ADDRESS 40000 INTO R3

:NO UCB SO AS TO WRITE ENABLE CACHE STORE
;ALLOWS CACHME TAG FIELD BITS TO BE

;WRITTEN TO CHR<15:07> ONLY DURING

;THE DESTINATION MEMORY ACCESS

:OF AN INSTRUCTION

ENABLE CACHE TAG FIELD TO BE WRITTEN

: INTO FROM AMR<8:0>

UIITE INTO TAG STORE

;WRITE TAG STORE DATA INTO CHR FROM CACHE ADDRESS
:LOCATION SPECIFIED BY CA<i2:1> IN RS.

;SAVE CHR DATA

;INSTRUCTION *JMP 18 PLACED MERE

:FOR LOOP ON_ERROR

;DISABLE HAINYENANCE MODE

:DISABLE Hi

:PREPAR CHR 7 FOR ERROR CHECK
llTS <15:07> SHOULD BE ALL 0'S

PASS
.SAVE CACHE ADDRESS USED: CA<21:0>
;ERROR:PREPARE CHR157 FOR TYPEOUT

sTAG STORE DATA tigts

IEADING TAGD<21:15> !nﬂg CNR<15 o

Dlo NOT RE gtt IN ALL O

Plll! CHR<

PIINT gu<i1 0> Abbltss USED

.llts <q2:» 1s THE CACHE TAG STORE ADDRESS
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TEST # 75 = CHECK ALL LOW CACHE TAG STORE ADRS LOCS

5127 ;LOCATION FAILURE
128 01 124 JNORD O
} 8} } ! §§§§§§ 98: :gg :2.:; sNEXT CACHE STORE LOCATION
} 1 8‘ } 03¢7 g:z ?‘Ic 0000 :zsve ALL LOW CACHE ADDRESS LOCATIONS BEEN CHECKED?
1 § 012174 &9 108:  NOP SEND OF TEST
012176 005237 001472 INC STESTN  INCREMENT TEST COUNTER

e e e e el e - —




CKKKABO_11-44 KK11B CACHE
TES;1§B76 = TEST ALL LOW CACHE TAG STORE LOCATIONS

MACRO M1113 27-0CT-80 08:39 PAGE ‘3 gEOUENCE 92

SBTTL TEST # 76 = TEST ALL LOW CACHZ TAG STORE LOCATIONS

JINRRRARRRRARRARCECERCRCCCEROCORRNORRRAANNRAANAONNNONOANANOCOOOOTES

s*TEST 76 = TEST ALL LOW CACHE TAG STORE LOCATIONS
;;9)1'5 TO ALL LOW CACHE TAG STORE ADDRESS LOCATIONS

SRR A RRRANRRARAR RN AR PR RN CRRRRANNANNONANNRNNNNRANOOPOOOORNROND

;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

sTEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
;LOOP ON ERROR END LOCATION

;DISABLE CACHE

;LOCATE TEST CODE TO HIGH CACHE SPACE
;ADDRESS OF START OF NEXT TEST

;LOAD AMR<B:0> BY WRITING ALL 1'S TO CHR<8:0>
;ADDRESS 60000 INTO RS

;ADDRESS 40000 INTO R3

:NO UCB SO AS TO WRITE ENABLE CACHE STORE
;ALLOWS CACHE TAG FIELD BITS TO BE

;WRITTEN TO CHR<15:07> ONLY DURING

sTHE DESTINATION MEMORY ACCESS

;OF AN INSTRUCTION

;ENABLE CACHE TAG FIELD TO BE WRITTEN

;INTO FROM AMR<8:0>

;WRITE INTO TAG STORE

;WRITE TAG STORE DATA INTO CHR FROM CACHE ADDRESS
;LOCATION SPECIFIED BY CA<12:1> IN RS

:SAVE CHR DATA

s INSTRUCTION *JMP 1$°' PLACED HERE

:FOR LOOP ON ERROR

sDISABLE MAINTENANCE

:811S <15:07> SHOULD BE ALL 1'S
*SAVE CACHE ADDRESS USED: CA<21:0>

;ERROR; PREPARE CHR157 FOR TYPEOUT

;TAG STORE DATA TESTS

;READING TAGD<21:13> THRU CHR<15:07>
;:DID NOT RESULT IN ALL 1'S.

:PRINT CACHE ADDRESS CA<21:0>

i WRITE AND R
e (0000 TO 37
012205 t8176:
2139 012202 000004 SCPCND
0122064 012214 .WORD 408
012206 070016 "WORD  18-408+67764
012210 000000 WORD 0
012212 070046 WORD  258-408+67764
012214 012737 001015 177746 40$: MOV #OFF,CCR
012222 004437 002370 JSR R4 ,RELCTH
012226 012422 .WORD  10$+2
:THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO HI CACHE SPACE
2140 012230 012737 177777 177752 MOV #-1,CHR
2141 012236 012705 060000 MOV #60000, RS
2142 012242 012703 040000 MOV #40000,R3
2143 012246 012737 000015 177746 18: MOV #S,CCR
5}:; 012256 112737 000003 177750 MOVB  #HODO+TDAR,CMR
2146
2147
i
14
5150 012262 005713 ST (R3)
151 012264 005715 ST (R5)
3125 012266 005715 31 (RS)
5154 012270 013737 177752 047322 MOV CHR,CHR1S57
2155 012276 000240 258:  NOP
012300 000240 NOP
2156 012302 105037 177750 CLRB  CMR
157 812306 012737 001015 177746 MOV #OFF ,CCR
158 012314 042737 000177 047322 BIC #177,CHR1S7
159 01 g 022737 177600 047322 CMP #177600, CHR157
160 01 14;& BEQ 9%
161 01 10537 047314 MOV RS,CA210+2
516; 8'% sogr 7 1; CLR CA210
163 01 % 12737 83000 002062 MOV #7,L00P
164 01235 ; 7 047322 48: ASR CHR1S7
165 012354 7 1oooog 047322 BIC #100000, CHR157
169 1 337 00206 DEC LOOP
167 01 oglsro BNE s
168 01 104406 ERROR
012372 012370 JNORD  .=2
2169
170
};' 12374 04731 CA210
1r§ 15 76 oarizf CHR157

:PRINT CHR<15:07>
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TEST # 76 = TEST ALL LOW CACHE TAG STORE LOCATIONS

176 012400 0009 WORD O
175 012402 00000 9s: ADD #2,R5 sNEXT CACH LOCATION
179 1 &Og 0000 ADD #2,R3
177 01241 7000 CMP R5,#70000 HAVE ALL LOCATIONS BEEN DONE?
178 012416 001 BNE 1% :NO
179 0N 650 000 “ 108: NOP :END OF TEST
012422 005 3 001472 INC $TESTN lNCREHENT TEST COUNTER
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155;13‘77 = TEST CLEARING OF ALL HI CACHE TAG STORE LOCA

01%626
2185 012426
012430
012432
012434
012436
012440
012446
012452
2186 012454
2187 012460
2188 012464
2189 012470
2190 012476
219
2192
2193
3195
195
2196 012504
2197 012506
2198 012510
2199
2200 012512
2201 012520
12522
20; 12524
208 0125
204 0125
205 012544
509 012550
5 fas
209 81 523
210 12570
11 012574
21; 12602
21 1
214 01261
012612
2}5
14
213 815616

000004
012440

013737
000240

105% g

ouers?
1053‘

127;7

i
104406

012610

ar3is

001015
002342

177752
070000
050000
000015
000003

177752

17775
00101
000177
047322

iz
067322
100000
002062

TION _ :
SB TL TEST # 77 = TES! CLEARING OF ALL HWI CACHE TAG STORE LOCATIONS

Ql!"!.t!'..'.""""Q"""i.""t."l'it""ﬁ't.t"."."t"

'TEST 77 = TEST CLEARING OF ALL HI CACHE TAG STORE LOCATIONS

.: ?265 Tg°7; %D 0'S TO ALL HI CACHE TAG STORE ADDRESS LOCATIONS
;st;;t!ﬁt'tt.ttt"ttt'tttt'tt't'it'tttttt!!tttttttttt'tttt.'t!'t.
T
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
.WORD  40$% ;TEST START LOCATION

WORD  18-40$+57764 :LOOP ON ERROR START LOCATION

WORD O ;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST

WORD  258-408+57764 ;LOOP ON ERROR END LOCATION

177746 40$: MOV #OFF ,CCR :DISABLE CACME
JSR R4, RELCTL :LOCATE TEST CODE TO LOW CACHE SPACE
LWORD  108¢2 *ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 108
;ARE RELOCATED TO LOW CACHE SPACE

CLR CHR
MOV #70000,R5
MOV #50000,R3

;ADDRESS 70000 INTO RS
;ADDRESS 50000 INTO R3

177746 18: MOV #15,CCR INO UCB SO AS TO WRITE ENABLE CACHE STORE
177750 MOVE  #HODO+TDAR,CMR ;ALLOWS CACHE TAG FIELD BITS TO BE
‘WRITTEN TO CHR<15:07> ONLY DURING
:THE DESTINATION MEMORY ACCESS
:OF AN INSTRUCTION
SENABLE CACME TAG FIELD TO BE WRITTEN
; INTO FROM AMR<8:0>
ST (R3)
ST (R5) ‘WRITE INTO TAG STORE
ST (R5) ‘WRITE TAG STORE DATA INTO CHR FROM CACHE ADDRESS
:LOCATION SPECIFIED BY CA<12:1> IN RS.
047322 MOV CHR, CHR157 :SAVE CHR DATA
258:  NOP SINSTRUCTION 'JMP 18' PLACED WERE
NOP :FOR LOOP ON ERROR
CLRB  CMR :DISABLE MAINTENANCE MODE
177746 MOV #OFF ,CCR :DISABLE CACHE
047322 8IC #177,CHR1S7 :PREPARE CHR157 FOR ERROR CHECK
ST CHR157 :BITS <15:07> SHOULD BE ALL 0°S
BEQ 9% :PASS
gf: nzécA21002 :SAVE CACHE ADDRESS USED: CA<21:0>
002062 MOV #7,L00P :ERROR; PREPARE CHR157 FOR TYPEOUT
48: ASR CHR157
047322 BIC #100000, CHR157
DEC LOOP
BNE i
ERROR :ERROR
JMORD .2
:TAG STORE DATA TESTS
:READING TAGD<21:13> THRU CHR<15:07>
:DID NOT RE th INALL 0°S.
CHR157 :PRINT CHR<
CA210 (PRINT CA<21:0> Aooness USED

:LOAD AMR<B8:0> BY WRITING ALL 0'S TO CHR<B:0>
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TEST # 77 = TEST CLEARING OF ALL HI CACHE TAG STORE LOCATIONS

2220 :BITS <12:1> IS THE CACHE TAG STORE ADDRESS

2l ;LOCATION FAILURE

2% 01%6 0 000000 WORD O

23 012622 832705 000002 9%: ADD #2,R5 ;NEXT CACHE STORE LOCATION

224 012626 870; 000002 ADD #2,R3

225 012632 020327 100000 CMP R5,#100000 ;MAVE ALL HI CACHE ADDRESS LOCATIONS BEEN CHECKED?
222? 012636 001314 BNE 18 :NO |
2227 012640 000240 108: NOP ;END OF TEST i

012642 5237 001472 INC $TESTN ; INCREMENT TEST COUNTER |




01%666
22133 012646
012650
012652

012726
2245 012730
2246 012732
2247
248 012734
2249 012742
012744
2250 01274
2251 01275
25; 81 7
23 N 796
254 012774
gSS } 773
339 01
SSO 13014
59 013020
361 013082
262 0130
013036
263
264
265
266 013040

267 013042

CKKKABO 11-44 KK11B CACHE

001015
002342

177777

—
~
~
~
w
~N

- —B
3883
|
g3=3
~NwOo

orRSRR
S
NO — —
~N NN S

8
&
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TEST # 100 = TEST CLEARING OF ALL Wl CACHE TAG STORE LOCATIONS
2232 .SBTTL "TEST # 100 = TEST CLEARING OF ALL WI CACHE TAG STORE LOCATIONS
.t't'itt"'i"""""""""'Q'."."....'."'.""..".'.C"
LRTEST 100 = TEST CLEARING OF ALL HI CACME TAG STORE LOCATIONS
VRITE AND_READ 1°S TO ALL W1 CACHE TAG STORE ADDRESS LOCATIONS

R I I RS R R R AR R R R R R R R0 R dRRddddRdidddiliddd)

177746

%

t§1100:

40$:

SCPCND

-WORD
+WORD
.WORD
.WORD
MoV

JSR

.WORD

40%
18-408+57764

58=408+57764

#OFF ,CCR
R4, RELCTL

108+2

:SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

sTEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
;LOOP ON ERROR END LOCATION

:DISABLE CACHE

;LOCATE TEST CODE TO LOW CACHE SPACE
;ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 108
;ARE RELOCATED TO LOW CACHE SPACE

177752 MOV #-1,CHR
MOV #70000, RS
MOV #50000,R3

177746 18: MOV #15,CCR

177750 MOVB

;ADDRESS 70000 INTO RS
;ADDRESS 50000 INTO R3

:0F AN INSTRUCTION

;ENABLE CACHE TAG FIELD TO BE WRITTEN

INTO FROM AMR<8:0>

ST (R3)
31 (R5) ‘WRITE INTO TAG STORE
ST (RS) :WRITE TAG STORE DATA INTO CHR FROM CACHE ADDRESS
SLOCATION SPECIFIED BY CA<12:1> IN RS
047322 MOV CHR,CHR157 :SAVE CHR DATA
258:  NOP SINSTRUCTION 'JMP 1$' PLACED HERE
NOP :FOR LOOP ON ERROR
CLRB  CMR :DISABLE MAINTENANCE
177746 MOV #OFF ,CCR
047322 BIC #177.CHR1S7
047322 gg: 3177600 LCHR157 g{;s <15:07> SHOULD BE ALL 1'S
?f: cm3210’2 :SAVE CACME ADDRESS USED: CA<21:0>
002062 MOV #7,L00P :ERROR; PREPARE CHR157 FOR TYPEOUT
48: ASR CHR157
047322 BIC #100000, CHR157
DEC LOOP
BNE 11
ERROR :ERROR
NORD =2
:TAG STORE DATA ngis
:READING TAGD<21:13> THRY CHR<15:07>
:DID NOT RESULT IN ALL 1°S.
CA21 SPRINT CAC Aogness CA<21:0>
CHR157 SPRINT CHR<15:0

;LOAD AMR<B8:0> BY WRITING ALL 1'S TO CHR<8:0>

:NO UCB SO AS TO WRITE ENABLE CACHE STORE
#HODO+TDAR,CMR  :ALLOWS CACHE TAG FIELD BITS TO BE
;WRITTEN TO CMR<15:07> ONLY DURING

;THE DESTINATION MEMORY ACCESS
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TEST # 100 = TEST CLEARING OF ALL HI CACHE TAG STORE LOCATIONS

2268 013044 000000 .WORD 0
2269 01 0&3 062705 00000% 9%: ADD RS
2270 01305 83 7g; 00000 ADD R3
2271 01 Sg ] 100000 CMP l ,#100000
227% 013062 001313 BNE 1%’
2273 013064 000240 108: NOP
013066 005237 001472 INC STESTN

sNEXT CACH LOCATION

HAVE ALL LOCATIONS BEEN DONE?

:NO
":END OF

TEST
; INCREMENT TEST COUNTER
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TEST # 101 = LOADING TAG STORE FROM CACHE ADRS LINES CA(21:13)

2279 SBTTL TEST # 101 = LOADING TAG STORE FROM CACHE ADRS LINES CA(21:13)

'Q!Qt.'Q'.""".""Q"""i""'..'Q'.Q.Q't.'."titttttt"t't

tTEST 101 = LOADING TAG STORE FROM CACHE ADRS LINES CA(21:13)

i CHECK LOADING OF TAG stoae ATA(TAG WRTD<21:13>) FROM
e CACHE ADDRESS LINES CA<21:1
i WRITE ALL 0'S IN TAG STORE LOCAtxou 0000 FROM CA<21:13>
2222222222222 2222 2222822223322 232 3338228832338 02RR2R220 ]|
013072 t41101:
2280 013072 000004 SCPCND :SCOPE CONDITIONS: co SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
013074 013104 MORD  40% STEST START LOCATION
013076 070000 JWORD  18=-40$+67764 .LOOP ON ERROR START LOCATION
013100 000000 WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
013102 070036 : JWORD  258-408+67764 :LOOP ON ERROR END LOCATION
013106 012737 001015 177746 40S: MOV #OFF,CCR :DISABLE CACME
013112 004437 002370 JSR R& ,RELCTH SLOCATE TEST CODE TO HIGH CACHE SPACE
013116 013250 LWORD  10$+2 ‘ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO Wl CACHE SPACE
2281 013120 112737 000002 177750 1%: MOVE  #HODO,CMR :ALLOWS CACHE TAG FIELD BITS TO BE
2282 ‘WRITTEN TO CHR<15:07> ONLY DURING
2283 :THE DESTINATION MEMORY ACCESS
2284 :OF AN INSTRUCTION
2285 013126 012737 000015 177746 MOV #15,CCR INO UCB SO AS TO WRITE ENABLE CACHE STORE
2286 013134 005737 040000 ST 40000
s 87 013140 005737 000000 3 0 ;WRITE ALL 0°'S INTO TAG srone LOCATION 0000
88 :FROM CACHE ADDRESS CA<21:1
2289 013144 005737 000000 ST 0 ‘WRITE TAG STORE DATA FROM LOCAYION
2290 ’ 0000 INTO CHR<15:07>.
2291 013150 013737 177752 047322 MOV CHR,CHR157 :SAVE CHR DATA
2292 013156 000240 258:  NOP SINSTRUCTION 'JMP 1$' PLACED HERE
013160 000240 NOP :FOR LOOP ON ERROR
2293 013162 105037 177750 CLRB (MR :DISABLE MAINTENANCE MODE
2294 o131g6 012737 001015 177746 MOV #OFF ,CCR :DISABLE cncng
2295 013174 042737 000177 047322 BIC #1177 CHR157 *PREPARE CHR157 FOR ERROR CHECK
2296 013202 005737 047322 ST cun1§7 :BITS <15:07> SHOULD BE ALL 0'S
gzor 013206 001417 BEQ 93 :PASS
298 013210 012737 7 002062 MOV #7,L00P *ERROR:PREPARE CHR157 FOR TYPEOUT
ggg 1§%15 ; 7 047322 28: ASR CHR1S7
1 gs 83 7 100000 047322 BIC #100000, CHR157
301 1;; 337 002062 DEC LOOP
2302 013234 001370 BNE 28
2303 013236 104406 ERROR :ERROR
013240 013236 NORD  .=2
304 ;TAG STORE DATA TESTS
305 TREADING TAGD<21:13> THRU CHR<15:07>
sog :DID NOT RESULT IN ALL 0°S.
307 013242 047322 CHR1S7 :PRINT CHR<15:07>
308 81 4 000000 NORD O
309 01 &3 8305‘9 108:  NOP :END OF TEST
01325 5237 001472 INC $STESTN : INCREMENT TEST COUNTER
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TEST_#_102 - WRITE FLOATING 1 ACROSS 0'S INTO TAG LOC 0

2317 SBTTL TEST # 102 = WRITE FLOATING 1 ACROSS 0'S INTO TAG LOC O

"".tt."."""i""'t""""i'.".'itt.'.i.""'.t..."QQQQ

'TEST 102 = WRITE FLOATING 1 ACROSS 0'S INTO TAG LOC 0

i WRITE FLOATING 1 ACROSS 0'S INTO TAG STORE LOCATION 0000
e FROM CA<21:13> USING AVAILABLE MEMORY.
v PROCEDURE: STARTING AT 8K BOUNDARY (ADDR. 20000) CHECK
i FOR AVAILABLE FLOATING ADDRESS UP TO ADDR. 10000000
i WHEN THE FLOATING ADDRESS EXISTS PERFORM THE TEST.
.t't'i""t't""'t'0."""'1"'.".".'ti..t'tttt'titt't.ttt..
013254 t$1102:
2318 013254 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
013256 013266 JNORD 408 STEST START LOCATION
013260 070006 WORD  18-408+67764  :LOOP ON ERROR START LOCATION
013262 000000 WORD O 1SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
013264 070100 .WORD  25$-408+67764 :LOOP ON ERROR END LOCATION
013266 012737 001015 177746 40%: MOV :orr CCR :DISABLE CACHE
013274 004437 002370 JSR 4, RELCTH {LOCATE TEST CODE TO WIGH CACHE SPACE
013300 013566 .WORD 1o£ ‘ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 108
sARE RELOCATED TO WI CACHE SPACE

2319 013302 012737 000200 172350 2%: MOV #200, KPARG :KPARG CONTAINS THE FLOATING 1 PATTERN
2320 AND REPRESENTS THE THE PAGE ADDRESS FIELD
2321 DATA USED BY MEMORY MNGMNT. TO CONSTRUCT
2322 THE PHYSICAL ADDRESS. 200 IS THE 1ST
2323 FLOATING 1 PATTERN WHICH WILL BE CONSTRUCTED
5356 TO ADDRESS 20000
325 013310 012737 070240 000004 18: MOV #78-28+70000,4 :ALLOW FOR NEX TRAP
2326 013316 012737 000340 000006 MOV #340,6
2327 013324 112737 000002 177750 MOVE  #HODO,CMR ;ALLOWS cAcn; TAG STORE TO BE WRITTEN
2328 TO CHR<15:07> ONLY DURING THE DESTINATION
2329 *MEMORY ACCESS OF AN INSTRUCTION.
2330 013332 012737 000001 177572 MOV #1,SR0 :ENABLE MEMORY MNGMNT.
2331 013340 012737 000020 172516 MOV 220,583 :ENABLE 22-BIT MAPPING
2332 013346 012737 000015 177746 MOV #15,CCR NO UCB SO AS TO WRITE ENABLE CACHE STORE
5333 013354 005737 040000 ST 40000
334 013360 005737 100000 3 100000 { CHOOSES KPARG FOR ADDRESSING. PHYSICAL
2335 :ADDRESS WILL BE DETERMINED BY FLOA!ING
339 PAT!EIN USED IN KPAR4&. TAG STORE WIL
33 BE WRITTEN WITH DATA PLACED ON cA<21 13> ADDRESS LINES.
338 013364 000240 NOP
339 013 00024 NOP :NO TRAP
2340 013370 005737 100000 ST 100000 SWRITE TAG STOR E DATA FROM LOCATION
341 0000 INTO CHR<15:07>.
34§ 013374 013737 177752 047322 MOV CHR,CHR1S7 SSAVE CHR INFO.
343 013402 00024 258:  NOP SINSTRUCTION 'JMP 18' PLACED HERE
13404 4 NOP :FOR LOOP ON ERROR
1 5 177572 CLR SR :DISABLE MEM MNGMENT.
S 01341 sg 7 17251 CLR SR
1316 012737 og 9 177746 MOV corr CCR :DISABLE CACHE
13424 105037 177 sg CLRB (MR :DISABLE MAINTENANCE
1 ; 7 7 327§S§ 8IC 177, CHR1S7
1 737 sso 7 CMP KPARL,CHR1S7 ;1S THERE ERROR?
50 81 4 001437 BEQ 9% PASS
51 01 12737 000006 000004 MOV 6.4
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CKKKABO 11-44 KK11B CACHE
TEST # 102 = WRITE FLOATING 1 ACROSS 0'S INTO TAG LOC 0

2352 013454 005037 000 CLR &
%gsg 81 60 127 7 09 228 047324 MOV KPAIA CA2113  :SAVE PATTERN gsso FOR CA<21:13>.

54 01 96 12737 02062 MOV 7.L00P :PREPARE CHR157 AND CA2113 FOR ERROR PRINT

55 013474 006237 8: g 5%: ASR cui1sr

s; 013500 7 047324 ASR CA2113
357 013504 042737 100000 047322 BIC #100000, CHR157
zgsa 013512 042737 100000 047324 BIC #100000,CA2113
2359 01 sso 005337 002062 DEC goop
2360 o1§s & 001343 BNE
2361 013526 104406 ERROR :ERROR

013530 013526 JNORD =2
236§ ;TAG STORE TESTS
236 *READING CHR<15:07> FOR TAG DATA (TAGD <21:13>)
2364 :DID NOT RESULT gu coaaecr ADDRESS PATTERN
2365 :LOADED FROM CA<21
2366 013532 047322 CHR157 SPRINT CHMR<15:07>
2367 013534 047324 CA2113 :PRINT ADDRESS PATTERN USED: CA<21:13>
2368 013536 000000 .WORD 0 :PRINT TERMINATE
2369 013540 000401 BR 9s INEXT PATTERN
2370 013542 022629 78: CMP (SP)+,(SP)+ :RESTORE STACK DUE TO INTERRUPT
2371 013544 006337 172350 9s: ASL KPARL INEXT PATTERN;IF PHYSICAL ADDRESS
2372 110000000 HAS BEEN DONE; FINISHED
2373 013550 103257 BCC 1%
2374 013552 012737 000006 000004 MOV 96,4 ;RESTORE VECTORS
2375 013560 005037 000006 CLR 6
2376 013564 000240 108:  NOP SEND OF TEST
013566 005237 001472 INC STESTN INCREMENT TEST COUNTER

e e e ——— —— ————— —
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TEST _#_103 = FLOAT 1 ACROSS 0°'S INTO TAG STORE ADRS LOC
2387 SBTTL TEST l 103 = FLOAT 1 ACROSS 0°'S INTO TAG STORE ADRS LOC 0
R T e T L L T T R ST T P R T
'TEST 103 - FLOAT 1 ACROSS 0'S INTO TAG STORE ADRS LOC 0
;® gATING 1 ACROSS 0'S INTO TAG ST E ADDRESS LOCATION 0000
. FIOH CA<21:13> USING RM1 REGISTER (65179)
* PROCEDURE: START AT 16K BOUNDARY (ADDR. 100000) AND CHECK FOR
* AVAILABLE FLOATING ADRESSES UP TO ADDR. 10000000
: WHEREEVER A FLOATING ADDRESS DOES NOT EXIST USE
*
t§

THE RM] REGISTER. IF ADDRESS EXISTS DO NOT PERFORM
THE TEST SINCE THAT LOCATION WOULD HAVE BEEN TESTED
BY THE PREVIOUS TEST.

R T I I IR AR 2R R R0 R dddRddddddRiddddddidd])

013572 T103:
2388 013572 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
013574 013604 .NORD  40$ STEST START LOCATION
013576 070050 'WORD  13-408+67764  :LOOP ON ERROR START LOCATION
013600 000000 -WORD g :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
013602 070159 WORD  258-408+67764 :LOOP ON ERROR END LOCATION
013606 012737 001015 177746 40S: MOV #OFF ,CCR :DISABLE CACHE
013612 004437 002370 JSR R4 ,RELCTH SLOCATE TEST CODE TO WIGH CACHE SPACE
013616 014344 WORD  10$+2 ‘ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
*ARE RELOCATED TO M1 CACME SPACE
2389 013620 132737 000200 001507 2%: BITB  #APTSIZE.SENVM ;DOES APT SIZE?
2390 013626 001405 BEQ 1% INO ,GO AUTDSIZE
5291 013630 032737 000200 001512 BIT #200, SUSWR :DOES APT INDICATE
92 STHAT nnx REGISTER IS PRESENT
2393 013636 oo1oog BNE 53 SYES,USE IT
2394 013640 00055 BR 4 SAPT “SAYS DO NOT PERFORM TEST
2395 013642 012737 070352 0000064 11$: MOV os;-;soroOuo.& SAUTO-SIZE FOR RMI,PREPARE FOR TRAP
2396 013650 005737 177770 ST 177770 :READ RMI
zgg; 013654 012737 001000 172350 S$: MOV 21000, KPARG :g;g:sgslﬁ . PAGE & FOR FIRST FLO.TING
§399 013662 012737 000002 047344 MOV #2,FLTPAT SSETUP 1ST FLOATING PATTERN FOR RMI
400 ’ :REG. CORRESPONDING TO ADDRESS 40000
401 013670 012737 070100 oooogt 18: MOV cas-zsoroooo.~ SSETUP FOR NEX MEMORY
&o; 013676 012737 000001 177572 MOV $RO SENABLE MEM.MNGMENT .
403 013704 012737 000020 172516 woy 026 SR3 :ENABLE 2 alr MAPP NG
04 013712 005737 100000 ST 100000 SSELECT PAGE 4. READ ADDRESS SPECIFIED BY KPARG.
405 013716 000512 BR 9: *NO TRAP.MEMORY LOCATION EXISTS,SO DON'T
4o$ :BOTHER TESTING WITH RMI FOR THIS LOCATION
407 013720 022626 8s: cMP (SP)+,(SP)¢ :TRAP WERE WHEN FLOATING ADDRESS
408 :LOCATION DOES NOT EXIST.USE RMI FOR TESTING
:?3 13722 8531 } 047344 ?3: ;%TPA!.II SPREPARE FLTPAT FOR LOADING INTO RMI
411 ig 110137 177770 MOVB  R1,177770 Lmom1nunn
61 112737 000002 177750 MOVB  #WODO,CMR SALLOWS TAG STORE TO BE WRITTEN
:T0 CHR< s o oums THE DESTINATION
16 :MEMORY ACCESS OF AN INSTRUCTION ONLY
15 01374 17774 MOV "36“' INO UCB TO ENABLE TAG STORE WRITING
16 0137 17777 8IS 2400,177770 ENAILE RMI
417 01 r ST 40000
418 0137 £ 100000 SSELECT PAGE & AND READ FLOATING ADDRESS

19 :SPECIFIED BY KPAR4. RMI WILL RESPOND
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TEST # 103 = FLOAT 1 ACROSS 0'S INTO TAG STORE ADRS LOC 0

420 ;RESULTING IN THE TAG STORE BEING LOADED
421 ‘FROM CA<21:13>
4 g 01§793 8057 7 19092g ST 100000 ‘WRITE TAG STORE DATA TO CHR<15:07>
423 0137 137 7 177 0473;2 MOV CHR,CHR157 :SAVE CHR DATA
424 014000 737 000400 177770 BIC #.00,177770 :DISABLE RMI
425 014 sko 25:  NOP SINSTRUCTION 'JMP 1$' PLACED MERE
01401 49 NOP :FOR LOOP ON ERROR
2«%9 014012 005037 177572 CLR SRO :DISABLE MEM MNGMENT.
4 o1so1g 005037 172516 CLR SR3
428 014050 o1§7 7 091015 177746 MOV #OFF,CCR :DISABLE CACHE
agouo 10071739 CLRB  CMR :DISABLE MAINTENANCE
430 014034 0£§7 7 000177 047322 BIC #177,CHR157
431 014042 023737 172350 047322 CMP KPARL,CHR1S7 ;1S THERE ERROR?
2&3; 014052 0014 ; BEQ 9% :PASS
5‘3 014052 012737 000006 000004 MOV 96,4
434 014060 005037 ooog CLR a
2435 81&064 13737 172350 047324 MOV KPARG,CA2113  ;SAVE PATTERN USED FOR CA<21:13>,
2436 014072 012737 000007 002062 MOV #7,L00P ‘PREPARE CHR157 AND CA2113 FOR ERROR PRINT
437 014100 006237 047322 68: ASR CHR157
438 014104 7 047324 ASR CA2113
439 014110 o«g 7 100000 047322 BIC #100000, CHR157
2440 014116 042737 100000 047324 BIC #100000,CA2113
z“1mn% 005337 002062 DEC LOOP
442 014130 001363 BNE 1
463 014132 104406 ERROR :ERROR
014134 014132 NORD  .=2
2444 :TAG STORE TESTS USING RMI REGISTER
445 :READING CHR<15:07> FOR TAG DATA (TAGD <21:1%)
‘49 :DID NOT RESULT IN CORRECT ADDRESS PATTERN
44 :LOADED FROM CA<21:13>.
448 014136 047322 CHR157 :PRINT CHR<15:07>
449 014140 047324 CA2113 SPRINT ADDRESS PATTERN USED: CA<21:13>
450 014142 .WORD™ 0 :PRINT TERMINATE
451 014144 00633 17;350 9s: ASL KPARG INEXT FLOATING ADDRESS
‘s; 14150 337 047344 ASL FLTPAT INEXT ADDRESS FO RMI
g‘ 14154 103245 BCC 13 ;ag?tgggg TEST. ADDRESS 10000000
§5 014156 o%gv 000006 000004 MOV 96,4 *RESTORE TRAP VECTORES
59 0141 7 000006 CLR s
§7 0141 BR 108 ;END THE TEST
ss 1417 ? ? 3%: CMP (SP)+,(SP)+ STRAP TO HERE IF NO RMI
59 014174 O1 000006 000004 &$: MOV 96,4 :RESTORE VECTORS
460 014 7 880006 CLR 2
1014 5737 001474 ST $PASS :1ST PASS?
66; 14621 195 BNE 108 :NO
14214 023737 000042 000046 CMP 42,46 11S THIS ACT11 QV OR AUTO ACCEPT
14222 001447 BEQ 10§ SYES,SKIP TYPEOUT
S 014224 401 014232 TYPE - ,65% $:TYPE ASCIZ STRING
1% 7 B8R [ L SGET gv;u THE ASCIZ
1% 122 115 658: .eeg;z <CRLF>/RNI REGISTER (G5179) NOT USED=SKIP W1 ORDER/
1% 18 648:
2466 014310 104401 014316 TYPE 678 ::TYPE ASCIZ STRING
14314 1 B8R 66$ *SGET OVER TME ASCIZ
14316 04 102 111 678: .ASC‘I / BIT ADDRESS TEST/<CRLF>
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CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0CT-80 08:39 PAGE ll-s SEQUENCE 103

TEST # 103 = FLOAT 1 ACROSS 0°'S INTO TAG STORE ADRS LOC

014 668:
2467 016;:% 000%&9 183: NOP
014344 005237 001472 INC

S$TESTN

END OF TEST
; INCREMENT TEST COUNTER
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1 MACRO M1113 27 ST-GO 08:39 PAGE 89 SEQUENCE 104
resg‘g61oa = VERIFY TAG STORE ADDRESS LINES (CA(12:1))

177746

047344

177750

177746

177746

047334

.SBTTL TEST # 104 = VERIFY TAG STORE ADDRESS LINES (CA(12:1))

AR RNR RN RRE RO RO ERCCRER RO RRRRRRRRERARRCANRNARANRRRORRRORNONES

;*TEST 104 = VERIFY TAG STORE ADDRESS LINE$1!C?§}2:1))

i VERIFY tag STORE ADDRESS LINES (CA<
:«PROCEDURE: WR g 2 {"“’ TAGG PARITY STORE ADDRESS LOCATION 0000.
v WRITE BIT PATTERN 11 INTO TAG PARITY STORE LOCATION 0001.
i READ TAG PARITY ADDRESS LOCATION ooSo FOR 0'S REPEAT THE ABOVE
i SEQUENCE .EACH TIME CHANGING THE ADDRESS LOCATION THE BIT PATTERN
i 1S WRITTEN TO BY SWIFTING THE 1 ONE PLACE TO THE LEFT.
ig;;;:.tt'.'OQ"Q""'"'Q"Qi'.0'......'.'!."""'t'...t'.t..tt
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
JNORD 408 STEST START LOCATION
‘WORD  18-408467764  :LOOP ON ERROR START LOCATION
.WORD g *SCOPE SYNC. NOT IMPLEMENTED FOR THMIS TEST
"WORD  258-408+67764 :LOOP ON ERROR END LOCATION
408: MOV #OFF ,CCR :DISABLE CACME
JSR R4 asucru SLOCATE TEST CODE TO WIGH CACHE SPACE
.WORD 10§+ *ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
;ARE RELOCATED TO WI CACME SPACE

MOV #2,FLTPAT :1ST FLOATING CACHE DATA STORE ADDRESS PATTERN
28: MOV c&boho.n ;
MoV #60000,R $
ADD FLTPAT.R ‘R2 CONTAINS 40000+FLTPAT
ADD FLTPAT R ‘R c?uraxns 60000+F L TPAT
MOV -1, (%) SALL 1°S TO MAIN MEM. LOCATION
:SPECIFIED BY RS
18: MOVE  #HODO,CMR :ALLOWS TAG stoa; w 10 BE
TWRITTEN TO CHR<15:07> ONLY DURING THE
*DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
?g¥ :1sﬁccn NO UCB SO AS TO WRITE ENABLE CACHE STORE
3] 0 :READ UPDATE: WRITE 35500.3 INTO CACME
sl - :TAG STORE LOCATION ¥
1St (R3) :READ UPDATE;WRITE BIT PATTERN 000000011
SINTO TAG STbl* LOCATION SPECIFIED
BY R3'S BITS 1 THRU 12: CA<12:1>
TST 60000 *LOAD TAG STORE LOCATION INTO CHR
MOV CHR,RY :SAVE CHR CONTENTS
258:  NOP SINSTRUCTION 'JMP 18°' PLACED HERE
NOP SFOR LOOP ON ERROR
CLRB  CMR ‘DISABLE MAINT. MODE
MOV #OFF ,CCR :DISABLE CACME
BIC N77.R INTERESTED IN ONLY BITS 15:07
3] R TCMECK FOR ALL 0'S
BEQ 9% :PASS
MoV FLTPAT .CAI2Y :SAVE CA<12:1> USED
ASR cA121 :PREPARE CA121 FOR TYPEOUT
ERROR ERROR
NORD =2

;TAG STORE ADRESS LINE TESTS
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TEST # 104 = VERIFY TAG STORE ADDIES NES (CACY

508 ;READING CHR<15:07> FOR CACHE TAG STORE
509 :DID NOT RESULT IN ALL 0'S

510 014534 047334 a2 :PRINT CACHE TAG STORE ADDRESS LOCATION
251 ;USED: CA<12:1>, NOTE THAT THE 1 IN

51§ :THIS PATTERN WiLL POINT TO THE ADDRESS
5 ;LINE THAT POSSIBLY CAUSES ERROR.

514 014536 WORD 0

515 014540 006 047344 9%: ASL FLTPAT sNEXT PATTERN

516 014544 022737 020000 047344 CMP #20000,FLTPAT  ;HAS CACHE TAG STORE LOCAT. 4000 BEEN DONE?
2517 014552 001314 BNE 2% :NO
2518 014554 000240 108: NOP :END OF TEST

014556 005237 001472 INC STESTN ; INCREMENT TEST COUNTER




CKKKABO 11-44 KK11B CACHE
TEST # 105 = WRITE ALL 0'S INTO DATA STORE LOCATION

9
MACRO M1113 27-0(7-88088:39 PAGE 80 SEQUENCE 106

2523 (SBITL TEST # 105 = WRITE ALL 0'S INTO DATA STORE LOCATION 0000
t.QQQQQ.'Q'Q"'Q""QQQ"""""'tt.'t"..'Qtt't'."ttt"ttt't
-test 1os - URITE ALL 0'S INTO DATA STORE LOCATION 0000
i E ALL 0'S INTO DATA STORE LOCATION 0000.
i nsao ALL 0'S FROM CACHE DATA REGISTER.
X 2222332213232 2222222222222 222 22022 222032000222 22 2R 0kd] )]
01456 t61105:
2524 01456 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
014564 014574 WORD  40% :TEST START LOCATION
014566 070004 JWORD  18-408+67764  :LOOP ON ERROR START LOCATION
014570 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
014572 07004; .WORD  258-40$+67764  :LOOP ON ERROR END LOCATION
014574 012737 001015 177746 408: MOV #OFF,CCR :DISABLE CACME
014602 004437 002370 JSR R4 nchru :LOCATE TEST CODE TO MIGH CACME SPACE
014606 014710 LWORD 10§+ :ADDRESS OF START OF NEXT TEST
;THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO HI CACHE SPACE
2525 014610 005037 060000 CLR 60000 :0'S TO MAIN MEMORY LOCATION
2526 014614 112737 000002 177750 18: MOVE  #HODO,CMR SALLOWS CACHE DATA STORE BITS TO BE
2527 ‘WRITTEN TO CDR<15:0> ONLY DURING THE
2528 ‘DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
zgomuz 012737 000015 177746 MOV #15,CCR uomemAsmumnemmeuwenms
2530 014630 005737 040000 TST 40000
2531 014634 005737 060000 ST 60000 "WRITE ALL 0°S TO DATA STORE
%ggi thATION 000 FROM MAIN MEMORY
2534 014640 005737 060000 ST 60000 :WRITE DATA STORE BITS FROM
2535 :L0C. 0000 INTO CDR<15:0>.
2536 014644 013737 177754 047330 MOV CDR,CDR150 :SAVE CDR CONTENTS
2537 014652 000240 258:  NOP SINSTRUCTION 'JMP 18' PLACED HERE
014654 000240 NOP :FOR LOOP ON ERROR
2538 014656 105037 177750 CLRB  CMR *DISABLE MAINTENANCE
2539 014662 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACME
2540 014670 005737 047330 ST coR150 :CHECK FOR 0
2541 014674 001404 BEQ 108 :PASS
2542 014676 104406 ERROR ERROR
014700 014676 MORD  .=2
543 : DATA STORE TESTS
2544 *READING CDR<15:0> DID NOT RESULT
2545 “IN ALL 0°S
2546 014702 047330 COR150 ‘PRINT CDR<15:0> DATA READ.
547 014704 000000 WORD O
548 014706 000240 108:  NOP ;END OF TEST
014710 005237 001472 INC STESTN *INCREMENT TEST COUNTER




CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0CT-88 08:39 PAGE 81 SEQUENCE 107
TEST # 106 = WRITE ALL 1'S INTO DATA STORE LOCATION 0000

2553 .SBTTL TEST # 106 = WRITE ALL 1'S INTO DATA STORE LOCATION 0000

'Q'i'."'.Q.i"'Q'Q"'Q'"""".'"'.QQ'.."'.'.tttitttitﬁ.ti'

*TEST 106 = WRITE ALL 1'S INTO DATA STORE LOCATION 0000

i WRITE ALL 1'S INTO DATA STORE LOCATION 0000.
i READ ALL 1'S FROM CACHE DATA REGISTER.
X 2222222222222 2222222222221 328233332323303320232232342}}
14714 $47106:
2554 014714 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST

014716 014726 JNORD 408 STEST START LOCATION
014720 070006 'WORD  18-408+67764  :LOOP ON ERROR START LOCATION
014722 000000 JWORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
014724 070044 "WORD  258-408+67764 :LOOP ON ERROR END LOCATION
014726 012737 001015 177746 40$: MOV #OFF,CCR :DISABLE CACME
014734 004437 002370 JSR R& ag LCTH SLOCATE TEST CODE TO HIGH CACHE SPACE
014740 015046 LWORD 10§+ *ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
:ARE RELOCATED TO HI CACHE SPACE

2555 014742 012737 177777 060000 MOV #-1,60000 :1'S TO MAIN MEMORY LOCATION
2556 014750 112737 000002 177750 18: MOVB  #HODO,CMR TALLOWS CACHE DATA STORE BITS TO BE
2557 URITTEN TO CDR<15:07> ONLY DURING THE
2558 ‘DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
2559 014756 012737 000015 177746 MOV 7S, CCR ;NO UCB SO AS TO WRITE ENABLE CACHE STORE
2560 014764 005737 040000 TST 40000
2561 014770 005737 060000 ST 60000 "WRITE ALL 1'S TO DATA STORE
gggi ,thATION 000 FROM MAIN MEMORY
2564 014774 005737 060000 st 60000 ‘WRITE DATA STORE BITS FROM
2565 :LOC. 0000 INTO CDR<15:07>.
2566 015000 013737 177754 047330 MOV COR,COR150 .SAVE CDR CONTENTS
2567 015006 000240 258:  NOP SINSTRUCTION *JMP 18' PLACED HERE
015010 000240 NOP :FOR LOOP ON ERROR
2568 015012 105037 177750 CLRB  CMR ‘DISABLE MAINTENANCE
2569 015016 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACHE
2570 015024 022737 177777 047330 CMP #-1,(DR150 SCHECK ALL 1'S
2571 015032 001404 BEO 108’ :PASS
2572 015034 104406 ERROR *ERROR
015036 015034 .WORD  .=2
2573 : DATA STORE TESTS
2574 :READING_CDR<15:0> DID NOT RESULT
2575 (IN ALL 1°S
2576 015040 047330 COR150 :PRINT CDR<15:0> DATA READ.
2577 015042 000000 WORD O
2578 015044 000240 108:  NOP ;END OF TEST
015046 005237 001472 INC STESTN *INCREMENT TEST COUNTER




“
CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0CT-80 08:39 PAGE SZ SEQUENCE 108
TEST # 107 = WRITE FLOATING 1 PATRN INTO DATA STORE LOC 0

2583 SOTTL TEST # 107 = WRITE FLOATING 1 PATRN INTO DATA STORE LOC 0

AR AR A A A A A A A A A A A A A A A A A AR AR AR ARl A ALl

'TEST 107 - URITE FLOATING 1 PATRN INTO DATA STORE LOC 0

i WRITE FLOATING 1 PATTERN INTO DATA STORE LOCATION 0000.
o i READ FLOATING 1 PATTERN FROM CACHE DATA REGISTER.
*g;;a;ﬁi'tﬁitffﬁﬁtt""i't'"iﬁ".i."Q."""..".'Q."'Q"Q"" ?
015052
2584 o1f052 000004 SCPCND ;SCOPE CONDITIONS:GO SET UP FOR LOOP ON |
:ERROR/LOOP ON TEST |
015054 015064 .WORD  40% STEST START LOCATION |
015056 070014 WORD  1$-408+67764  :LOOP ON ERROR START LOCATION '
015060 000000 WORD 0 *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
015062 07005 WORD  258-40%+67764  :LOOP ON ERROR END LOCATION
015064 012737 001015 177746 408: MOV #OFF ,CCR :DISABLE CACHE
015072 004437 002370 JSR R& RELCTH SLOCATE TEST CODE TO HIGHM CACHE SPACE
015076 015232 JWORD  10$+2 ‘ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
;ARE RELOCATED TO HI CACHE SPACE

2585 015100 012737 000001 047344 MOV #1,FLTPAT :1ST FLOATING 1 PATTERN: 000001
2586 015106 013737 047344 060000 2%: MOV FLTPAT,60000  :FLOATING PATTERN TO MAIN MEMORY
2587 015114 112737 000002 177750 1$: MOVE  #WODO,CMR *ALLOWS CACHE DATA STORE BITS TO BE
2588 ‘WRITTEN TO CDR<15:07> ONLY DURING THE
2589 ‘DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
2590 015122 012737 000015 177746 MOV #15,CCR -uo UCB SO AS TO WRITE ENABLE CACHE STORE
2591 015130 005737 040000 ST 40000
5595 015134 005737 060000 _ TST 60000 ‘WRITE FLOATING 1 PATTERN TO DATA STORE
59 *LOCATION 0000 FROM MAIN MEMORY
2594 :L0C. 60000
2595 015140 005737 060000 3] 60000 ‘WRITE DATA STORE BITS FROM
2596 :LOC. 0000 INTO CDR<15:0>.
2597 015144 013737 177754 047330 MOV COR,CDR150 :SAVE CDR CONTENTS
2598 015152 000240 25%:  NOP SINSTRUCTION 'JMP 18' PLACED HERE |
015154 000240 NOP :FOR LOOP ON ERROR
2599 015156 105037 177750 CLRB (MR :DISABLE MAINTENANCE
2600 015162 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACHE
2601 015170 023737 047344 047330 CMP FLTPAT,COR150  :CHECK FOR CORRECT PATTERN
2602 015176 001410 BEQ 9% :PASS
2603 015200 013737 047344 047332 MOV FLTPAT ,EXDATS SAVE FLOATING PATTERN FOR TYPEOUT
2604 015206 104406 ERROR :ERROR
015210 015206 JWORD  .=2
2605 : DATA STORE TESTS
zoog ‘READING CDR<15:0> DID NOT RESULT |
260 *IN CORRECT FLOATING 1 PATTERN
2608 015212 047332 EXDAT6 :PRINT FLOATING PATTERN EXPECTED |
2609 015514 047330 CDR150 :PRINT CDR<15:0> DATA READ.
%610 015216 000000 _ WORD O |
611 015220 oogzsr 047344 98: ASL FLTPAT :NEXT PATTERN i
zo1§ 015224 103401 BCS 108 *IF PATTERN 100000 HAS BEEN DONE ;F INISHED
261 0155 6 000727 B8R 28 SIF NOT, NEXT PASS
2614 015 ooozag 108:  NOP :END OF TEST
015232 005237 001472 INC $TESTN S INCREMENT TEST COUNTER
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CKKKABO 11-44 KK11B CACHE
19|10 = CLEAR ALL LOW CACHE DATA STORE LOCATIONS

001015
002370

060000
070000
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MACRO M1113 27-0CT-80 08:39 PAGE 93 SEOUENCE 109

177746

177750

177746

047330

177746
047330

.SBTTL TEST # 110 = CLEAR ALL LOW CACHE DATA STORE LOCATIONS

'Qﬁt..""i.'."'Q"""i""i't'iti.".Q'Q"QQ'.'QQ'.Q'QI'Q".

;*TEST 110 = CLEAR ALL LOW CACME DATA STORE LOCATIONS

i WRITE ALL 0'S INTO ALL LOW CACHE DATA STORE LOCATIONS (0000 TO 3777).
e READ ALL 0'S EACH CACHE LOCATION FROM CACHE DATA REGISTER.
*s;;;8'.'..."."""""'"""'.'..."'....'..."...'."'.""'
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
JWORD 408 STEST START LOCATION
"WORD  18-408+67764  :;LOOP ON ERROR START LOCATION
WORD 0 *SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
"WORD  258-40$+67764  :LOOP ON ERROR END LOCATION
408: MOV #OFF ,CCR :DISABLE CACHE
JSR R4 RELCTH TLOCATE TEST CODE TO HIGH CACHE SPACE
LWORD  108+2 *ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10$
;ARE RELOCATED TO HI CACHE SPACE

MOV #60000,R5 ;ADDRESS 60000 INTO RS
5%: CLR (RS) ¢ *CLEAR MAIN MEMORY LOW CACHE AREA
CMP RS, #70000 :FINISHED?
BNE 5% *NO
MOV #60000,RS SSTART WITH ADDRESS 60000
MOV #40000,R3 :ADDRESS 40000 INTO R3
18$: MOVB  #HODO,CMR *ALLOWS CACHE DATA STORE BITS TO BE
‘WRITTEN TO CDR<15:0> ONLY DURING THE
‘DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
?g¥ :Agscca uo UCB SO AS TO WRITE ENABLE CACHE STORE
ST (R5) “WRITE ALL 0'S TO DATA STORE FROM MAIN MEM.
ST (R5) ‘WRITE DATA STORE BITS INTO CDR<15:0>
MOV CDR,CDR150 SSAVE CDR CONTENTS
258:  NOP SINSTRUCTION 'JMP 18' PLACED HERE
NOP ‘FOR LOOP ON ERROR
CLRB (MR :DISABLE MAINTENANCE
MOV #OFF ,CCR :DISABLE CACME
CMP #0,COR150 TCHECK ALL 0'S
BEQ 9% :PASS
MOV RS,CA210+42 :SAVE ADDRESS USED THIS PASS
CLR CA210
ERROR :ERROR
JWORD  .=2
: DATA STORE TESTS
‘READING CDR<15:0> DID NOT RESULT
(IN ALL 0°S
CA210 PRINT CA<21 0> USED
cas;go : *PRINT CDR<15:0> DATA READ. -
9%: :gg :2.:; :NEXT CACHE LOCATION
g:: gibooo.as nsve ALL LOW CACHE LOCATIONS BEEN DONE?
108:  NOP SEND OF TEST
INC STESTN *INCREMENT TEST COUNTER
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tES£6g8111 = SET ALL LOW CACHE DATA STORE LOCATIONS

i WRITE ALL 1'S INTO ALL LOW CACHE DATA STORE LOCATIONS (0000 TO 3777).
;e READ ALL 1°S EACH CACHE LOCATION FROM CACME DATA REGISTER.
3‘ %g;;;;ﬁtttt.tttittiiit"'tt"."t"'....QQQC..Q"...QQ!"Qt'QQ"Q
0154 :
2659 015434 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
015436 015446 JWORD  40% STEST START LOCATION
015440 070026 JWORD  18-40$+67764  :LOOP ON ERROR START LOCATION
015442 000000 WORD O :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
015444 070056 .WORD  258=40$+67764 :LOOP ON ERROR END LOCATION
015446 012737 001015 177746 40$: MOV #OFF ,CCR :DISABLE CACHE
015454 004437 002370 JSR R4 ,RELCTH :LOCATE TEST CODE TO MIGH CACHE SPACE
015460 015630 JWORD  10$+2 :ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO MI CACME SPACE
2660 015462 012705 060000 MOV #60000,RS ;ADDRESS 60000 INTO RS
2661 015466 012725 177777 58: MOV #-1,(RS)+ :1'S TO MAIN MEMORY LOW CACHE AREA
2662 015472 020527 070000 CMP RS, #70000 :FINISHED?
2663 015476 001373 BNE 54 :NO
2664 015500 012705 060000 MOV #60000,RS SSTART WITH ADDRESS 60000
2665 015504 012703 040000 MOV #40000,R3 :ADDRESS 40000 INTO R3
2666 015510 112737 000002 177750 18: MOVE  #HODO,CMR SALLOWS CACME DATA STORE BITS TO BE
2667 SWRITTEN TO CDR<15:0> ONLY DURING THE
sooa *DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
669 015516 012737 000015 177746 MOV #15,CCR *NO UCB SO AS TO WRITE ENABLE CACHE STORE
2670 015524 005713 ST (R3) :
2671 015526 005715 TST (RS) :WRITE ALL 1°S TO DATA STORE FROM MAIN MEM.
2672 015530 005715 ST (R5) :WRITE DATA STORE BITS INTO CDR<15:0>
2073 015532 013737 177754 047330 MOV CDR,CDR150 :SAVE CDR CONTENTS
2674 015540 000240 - 258:  NOP :INSTRUCTION 'JMP 1$' PLACED MERE
015542 000240 NOP :FOR LOOP ON ERROR
2675 015544 105037 177750 CLRB  CMR :DISABLE MAINTENANCE
2676 015550 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACHE
2677 015556 022737 177777 047330 CMP #-1,CDR150 SCHECK ALL 1'S
2678 015564 001411 BEQ 98 :PASS
2679 015566 010537 047314 MOV RS,CA210+2 :SAVE ADDRESS USED THIS PASS
2680 015572 005037 047312 CLR CA210
2681 015576 104406 ERROR ;ERROR
015600 015576 WORD .=2
2682 : DATA STORE TESTS
2683 *READING CDR<15:0> DID NOT RESULT
2684 SIN ALL 1°'S
2685 015602 047312 CA210 ‘PRINT CA<21:0> USED
2639 015604 047330 CDR150 *PRINT CDR<15:0> DATA READ.
gu 015606 000000 WORD O
015610 062705 000002 98: ADD #2.R5 :NEXT CACHE LOCATION
2689 015614 gros 000002 ADD 92 R3
2690 015620 7gs 070000 CMP #70000,RS ;HAVE ALL LOW CACHE LOCATIONS BEEN DONE?
691 015624 001331 BNE 1% *NO
692 015626 2&9 108:  NOP CEND OF TEST
015630 005237 001472 INC $TESTN *INCREMENT TEST COUNTER

.SBTTL TEST # 111 = SET ALL LOW CACHE DATA STORE LOCATIONS

AR R AR R R R AR R AR AR AR R R R 00000 00 R0 ddRddddRRdddd)

S+TEST 111 = SET ALL LOW CACHE DATA STORE LOCATIONS
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TES£687112 = CLEAR ALL HIGH CACHE DATA STORE LOCATIONS

.SBTTL TEST # 112 = CLEAR ALL HIGH CACHE DATA STORE LOCATIONS
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;*TEST 112 = CLEAR ALL HIGH CACHE DATA STORE LOCATIONS

i WRITE ALL 0'S INTO ALL HIGH CACHE DATA STORE LOCATIONS (4000 TO 7777).
i READ ALL 0'S EACH CACHE LOCATION FROM CACHE DATA REGISTER.
X 2222222222323 2222232233332223332233333223323233332333332333232223323]
015634 tér112:
2698 015634 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
*ERROR/LOOP ON TEST
015636 015646 .WORD 408 STEST START LOCATION
015640 060024 WORD  1$-408+57764  :LOOP ON ERROR START LOCATION
015642 000000 .WORD 0 SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
015644 060054 .WORD 258-4L0%+57764 LOOP ON ERROR END LOCATION
015646 012737 001015 177746 40$: MOV #OFF,CCR :DISABLE CACHE
015654 004437 002342 JSR R& ,RELCTL *LOCATE TEST CODE TO LOW CACHE SPACE
015660 016026 .WORD 108+2 :ADDRESS OF START OF NEXT TEST
;THE FOLLOWING LOCATIONS INCLUDING 108
:ARE RELOCATED TO LOW CACHE SPACE
2699 015662 012705 070000 MOV #70000,RS ;ADDRESS 70000 INTO RS
2700 015666 005025 5%: CLR (RS)+ :CLEAR MAIN MEMORY HI CACHE AREA
2701 015670 020527 100000 CMP RS, #100000 :FINISHED?
2702 015674 001374 BNE {1 INO
2703 015676 012705 070000 MOV #70000,RS *START WITH ADDRESS 70000
2704 015702 012703 050000 MOV #50000,R3 :ADDRESS 50000 INTO R3
2705 015706 112737 000002 177750 18: MOVB  #HODO,CMR TALLOWS CACHE DATA STORE BITS TO BE
2706 URITTEN TO CDR<15:0> ONLY DPURING THE
57 7 DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
708 015714 012737 000015 177746 MOV #15,CCR NO UCB SO AS TO WRITE ENABLE CACHE STORE
2709 015722 005713 TST (R3)
2710 015724 005715 TST (RS) URITE ALL 0'S TO DATA STORE FROM MAIN MEM.
2711 015726 005715 TST (RS) URITE DATA STORE BITS INTO CDR<15:0>
2712 015730 013737 177754 047330 MOV CDR,CDR150 :SAVE CDR CONTENTS
2713 015736 000240 25%: NOP INSTRUCTION *JMP 1$%' PLACED HERE
015740 000240 NOP FOR LOOP ON ERROR
2714 015742 105037 177750 CLRB  CMR :DISABLE MAINTENANCE
2715 015746 012737 001015 177746 MOV #OFF ,CCR :DISABLE CACHE
2716 015754 022737 047330 CMP #0,CDR150 *CHECK ALL 0'S
2717 015762 001411 BEQ 9% :PASS
2718 015764 010537 047314 MOV RS, CA210+2 SAVE ADDRESS USED THIS PASS
2719 015770 005037 047312 CLR CA210
2720 015774 104406 ERROR : ERROR
015776 015774 JNORD  .=2
2721 : DATA STORE TESTS
2722 READING CDR<15:0> DID NOT RESUL?T
2723 :IN ALL 0°S
724 016000 CA210 *PRINT CA<21:0> USED
725 016002 CDR150 PRIN! CDR<1S 0> DATA READ.
729 016004 WORD O
727 01 000002 9s: ADD #2.RS sNEXT CACHE LOCATION
728 013553 000002 ADD #2°R3
7 016013 100000 CMP 0160000.!5 :HAVE ALL HIGH CACHE LOCATIONS BEEN DONE?
730 01602 BNE 13 :NO
731 016024 108:  NOP SEND OF TEST
016026 001472 INC $TESTN *INCREMENT TEST COUNTER




CKKKABO 11-44 KK11B CACHE MACRO M1113 27-0(!-80 08:39 PAGE bb SEQUENCE 112
TEST_# 113 = SET ALL HIGH CACHE DATA STORE LOCATIONS
2736 .SDTTL TEST # 113 = SET ALL HIGH CACHE DATA STORE LOCATIONS
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tTESl 113 = SET ALL HIGH CACHE DATA STORE LOCATIONS

v WRITE ALL 1'S INTO ALL MIGH CACHE DATA STORE LOCATIONS (4000 TO 7777).
i READ ALL 1'S EACH CACHE LOCATION FROM CACHME DATA REGISTER.
X :2222222323222222222282 2222322232232 33382233323323333332232332323323343}
016032 t81113:
2737 016032 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
016034 016044 MORD 408 STEST START LOCATION
016036 060026 WORD  18-408+57764  :LOOP ON ERROR START LOCATION
016040 000000 .WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
016042 060056 .WORD  258-40$+57764 :LOOP ON ERROR END LOCATION
016044 012737 001015 177746 40S$: MOV #OFF ,CCR ;:DISABLE CACHE
016052 004437 002342 JSR R4, RELCTL SLOCATE TEST CODE TO LOW CACHE SPACE
016056 016226 .WORD 10‘0 :ADDRESS OF START OF NEXT TEST

;THE FOLLOWING LOCATIONS INCLUDING 10%
;ARE RELOCATED TO LOW CACHE SPACE

2738 016060 012705 070000

MoV

#70000,R5

s ADDRESS 70000 INTO RS

2739 016064 012725 177777 58: MOV #-1, (RS + :1'S TO MAIN MEMORY HI CACHE AREA
2740 016070 020527 100000 CMP RS, #100000 r:nxsueo’
2741 016074 001373 BNE 5% *NO
2742 016076 012705 070000 MOV #70000,RS :START WITH ADDRESS 70000
2743 016102 012703 050000 MOV #50000,R3 :ADDRESS 50000 INTO R3
2744 016106 112737 000002 177750 1%: MOVE  #HODO,CMR :ALLOWS CACHE DATA STORE BITS TO BE
2745 :WRITTEN TO CDR<15:0> ONLY DURING THE
5749 :DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
747 016114 012737 000015 177746 MOV #15,CCR no UCB SO AS TO WRITE ENABLE CACHE STORE
2748 016122 005713 ST (R3)
2749 016124 005715 ST (RS) unxrs ALL 1'S TO DATA STORE FROM MAIN MEM.
2750 016126 005715 ST (RS) :WRITE DATA STORE BITS INTO CDR<15:0>
2751 016130 013737 177754 047330 MOV CDR,CDR150 :SAVE CDR CONTENTS
2752 016136 000240 258:  NOP :INSTRUCTION 'JMP 18' PLACED HERE
016140 000240 NOP :FOR LOOP ON ERROR
2753 016142 105037 177750 CLRB  CMR :DISABLE MAINTENANCE
2754 016146 012737 001015 177746 MOV #OFF,CCR :DISABLE CACHE
2755 016154 022737 177777 047330 CMP #-1,CDR150 :CHECK ALL 1'S
2756 016162 001411 BEQ 9% :PASS
2757 016164 010537 047314 MOV RS,CA210+2 :SAVE ADDRESS USED THIS PASS
2758 016170 005037 047312 CLR CA210
2759 016174 104406 ERROR :ERROR
016176 016174 MORD .=2
: DATA STORE TESTS
2761 neaolnc CDR<15:0> DID NOT RESULT
76§ SIN ALL 1°S
763 016200 047312 CA210 SPRINT CA<21:0> USED
76‘ 016202 047330 CDR150 SPRINT CDR<15:0> DATA READ.
01 04 000900 .WORD
7 og 05 000002 98: ADD #2.R5 :NEXT CACHE LOCATION
76 1 703 000002 ADD #2.R3
768 3 0 7gs 100000 CMP #100000, RS :HAVE ALL LOW CACHE LOCATIONS BEEN DONE?
7 9 01 z 001331 BNE 1% *NO
770 01 000269 108:  NOP SEND OF TEST
016226 005237 001472 INC STESTN *INCREMENT TEST COUNTER
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TES;7g‘114 = VERIFY CACHE DATA
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MACRO M1113 27-0CT-80 0
STORE ADDRESS LINES (CA(]
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g 39 PAGE *7 SEQUENCE 113
.SB TL TEST # 114 . VER!FY CACHE DATA STORE ADDRESS LINES (CA(12:1))
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:*TEST 114 = VERIFY CACHE DATA STORE ADDRESS LINES (CA(12:1))

i VERIFY CACHE DATA STORE ADDRESS LINES (CA<12:1>)
iS;;;Z'"'."."""""" T3 : 222313t 3133311323322313332323232323433;
SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
JNORD 408 STEST START LOCATION
.WORD  18-40$+67764  :LOOP ON ERROR START LOCATION
WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
'WORD  258-408+67764 :LOOP ON ERROR END LOCATION
40$: MOV #OFF ,CCR :DISABLE CACHE
JSR R4, RELCTH :LOCATE TEST CODE TO HIGH CACHE SPACE
LWORD  108$+2 *ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 108
*ARE RELOCATED TO HI CACHE SPACE
NOP
;WHEN THE TEST IS RELOCATED.ADDRESS 70000
‘WILL BE LOADED WITH ALL 1'S DURING TEST
CLR 60000 SALL 0'S TO MAIN MEMORY
MOV #2 ,FLTPAT 1ST FLOATING CACHE DATA STORE ADDRESS PATTERN
28: MOV #60000,R2 ;
MOV #60000.R3
ADD FLTPAT .R2 *R2 CONTAINS 40000+FLTPAT
ADD FLTPAT .R3 :R3 CONTAINS 60000+ LTPAT
MOV #-1, RS SALL 1°S TO MAIN MEM. LOCATION
*SPECIFIED BY R3
18: MOVE  #HODO,CMR TALLOWS CACHE DATA STORE BITS TO BE
SWRITTEN TO CDR<15:0> ONLY DURING THE
:DESTINATION MEMORY ACCESS OF AN INSTRUCTION.
?g¥ zagégca INO UCB SO AS TO WRITE ENABLE CACHE STORE
ST 60000 :WRITE ALL 0'S FROM MAIN MEM. LOCATION
it e 160000 INTO CACHME DATA STORE LOCATION 0000.
ST (R3) :WRITE ALL 1'S FROM MAIN MEM. INTO
SCACHE DATA STORE LOCAT. SPECIFIED
:BY R3'S BITS 1 THRU 12: CA<12:1>
ST 60000 *LOAD DATA FROM CACHE DATA STORE LOCATION
10000 INTO CDR.
MOV CDR,R1 :SAVE CDR DATA
258:  NOP SINSTRUCTION 'JMP 18' PLACED HERE
NOP :FOR LOOP ON ERROR
CLRB (MR :DISABLE MAINT. MODE
MOV #OFF ,CCR :DISABLE CACHE
ST R1 :CHECK FOR ALL 0'S
BEQ 9% PASS
MOV FLTPAT,CA121  :SAVE CA<12:1> USED
ASR cA121 :PREPARE CA121 FOR TYPEOUT
ERROR ERROR
.mao .-2

:DATA STORE TESTS~- ADDRESS LINE VERIFICATION
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TEST # 114 - VERIFY CACHE DATA STORE ADDRESS LINES (CA(12:1))

2811
2812
2813 016420 047334 a2
2814
2815
2816
2817 016422 000000 WORD 0
2818 016424 002337 047344 9%: ASL FLTPAT
2819 0164 88 737 020000 047344 CMP
2820 0164 131 BNE
2821 016440 012737 000240 070000 )
2822 016446 000240 108: NOP
016450 005237 001472 INC S$TESTN

K9
MACRO M1113 27-0CT-80 08:39 PAGE 97-1

5%0000 LFLTPAT
#240,70000

SEQUENCE 114

;READING CDR<15:0> FOR CACHE DATA STORE

:DID NOT RESULT IN ALL 0'S

;PRINT CACHE DATA STORE ADDRESS LOCATION ‘
sUSED: CA<12:1>, NOTE THAT THE 1 IN '
:THIS PATTERN WiLL POINT TO THE ADDRESS

:LINE THAT POSSIBLY CAUSES ERROR.

;NEXT PATTERN
HAS CACHE DATA STORE LOCAT. 4000 BEEN DONE?

:NO Z
:RESTORE OVERWRITTEN LOCATION 7000 WITH A NOP ’
:END OF TEST

: INCREMENT TEST COUNTER

S S S —
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1ES£85011S = CHECK EQUAL DATA COMPARISON CONDITIO

N
SBTTL TEST # 115 = CHECK EQUAL DATA COMPARISON CONDITION
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iTEST 115 = CHECK EQUAL DATA COMPARISON CONDITION

e VERIFY THAT AN EQUAL DATA conpanxsou conoxrxou CAN EXIST
i BY COMPARING TAG STORE DATA AND CA<21 g
i UNDER THE FOLLOWING_ CONDITIONS CMR<15:13> SHOULD RESULT IN ALL
i 1'S INDICATING A MATCH :
o TAG STORE DATA AND CA<21:13> ALL 0°'S
.tttttttttttttttttttttt"titt"i't'Q!!l"'tttt'litttt't.t"'ﬁttt
016454 T$1115:
2831 016454 000004 SCPCND :SCOPE CONDITIONS:GO SET UP FOR LOOP ON
:ERROR/LOOP ON TEST
016456 016466 .WORD 408 :TEST START LOCATION
016460 070000 WORD  18-40$+67764 .LOOP ON ERROR START LOCATION
016462 000000 .WORD 0 :SCOPE SYNC. NOT IMPLEMENTED FOR THIS TEST
016464 070036 .WORD 258-40%+67764 .LOOP ON ERROR END LOCATION
016466 012737 001015 177746 40%: MOV #OFF ,CCR :DISABLE CACHE
016474 004437 002370 JSR R4 ,RELCTH .LOCATE TEST CODE TO HIGH CACHE SPACE
016500 016644 .WORD 108+2 :ADDRESS OF START OF NEXT TEST
:THE FOLLOWING LOCATIONS INCLUDING 10$
:ARE RELOCATED TO HI CACHE SPACE
2832 016502 112737 000002 177750 1%: MOVB #HODO,CMR sALLOWS COMPARED RESULTS TO BE
2833 URITIEN TO CMR<15:13> ONLY DURING
2834 THE DESTINATION MEMORY ACCESS
2835 DF AN INSTRUCTION
2836 016510 012737 000015 177746 MOV #15,CCR NO UCB SO AS TO WRITE ENABLE CACHE STORE
gasr 016516 005737 040000 ST 4006
838 016522 005737 000000 ST 0 :WRITE ALL 0'S INTO TAG STORE LOCATION 0000
. 2FROM CACHE ADDRESS CA<21:1%>
2340 016526 005737 000000 ST 0 ~ SPLACE ALL 0'S ON CA<21:13> FOR COMPARISON
84 4 UITH TAG STORE DATA. WRITE COMPARED
842 :RESULTS INDICATION IN CMR<15:13>
2043 016532 013737 177750 047340 MOV CMR,CM1513 :SAVE CMR DATA
2844 016540 000240 258:  NOP :INSTRUCTION 'JMP 1$' PLACED MERE
016542 000240 NOP FOR LOOP ON ERROR
2845 016544 105037 177750 CLRB CMR :DISABLE MAINTENANCE MODE
2846 016550 012737 001015 177746 MOV #OFF ,C :DISABLE CACHE
2847 016556 042737 017777 047340 BIC 0177?7 cn1s13
2848 016564 022737 160000 047340 CMP 0160006 CM1513  :CHECK THAT CMR<15:13> ALL 1'S
2849 016572 001423 BEQ 108 :PASS
2850 016574 012737 000007 047336 MOV #7,EXDATY SINDICATE EXPECTED CMR<15:13>
2851 016602 012737 15 002062 MOV 013 ooP ERROR PREPARE CM1513. FOR TYPEOUT
2852 016610 006237 047340 28: ASR misd
2853 016614 042737 1 047340 BIC 0100000.CH1S13
2854 016622 005337 002062 DEC LOOP
2855 016626 001370 BNE 2
2856 016630 104406 ERROR :ERROR
016632 016630 JNORD .2
2857 :COMPARE TAG STORE & CA<21:13> TESTS
858 BITS 15 THRU 13 OF CMR DID NOT READ
859 TAS ALL 1'S
860 016634 047336 EXDAT1 PRINT CMR<15:13> DATA EXPECTED
861 016636 047340 cM1513 SPRINT CMR<15:13> DATA RECEIVED
862 016640 000000 MORD™ 0
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TEST # 115 = CHECK EQUAL DATA COMPARISON CONDITION

2863 016642 000240 108: NOP ;END OF TEST
016644 005237 001472 INC S$TESTN ; INCREMENT TEST COUNTER
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177746

172350

# 116 = UNEQUAL DATA COMPARISON CONDITION CAN BE DETECTED
n .SB?TL TEST # 1N

= UNEQUAL DATA COMPARISON CONDITION CAN BE DETECTED

sttt tRRARAtRtRRCRCRRRCERCRORRRRRRRARARARRRRRRRRERARNARCORNACOCRRS

~TEST 116 -

—te
e 2B B B®

40$:

UNEQUAL DATA COMPARISON CONDITION CAN BE DETECTED

VERIFY THAT AN UNEQUAL DATA COMPARISON CONDITION CAN BE DETECTED

BY COMPARING TAG STORE AND CA<21:13>

UNDER TH§ FOLLOWING CONDITIONS FOR TAG STORE DATA AND CA<21:13>
> SHOULD READ AS SPECIFIED IN TABLE DEFINED BY TAGS 30$

CHR<15

+WORD
-WORD
-WORD
.WORD
-WORD
«WORD
-WORD
+WORD
-WORD

SCPCND

.WORD
.WORD
.WORD
. WORD
MoV

JSR

+WORD

39%
CMR<C15: 1>

40%
1$-408+67764

0
258=-40%+67764
#OFF ,CCR

R& ,RELCTH
10842

tt"'Qt't'Q..'Q'li"""'tt""'tiitt"'i.tt'ittt"iitt.itit'tt

7116:

;BRANCH _OVER TABLE

CA<21:13> TAG STORE
: 001 000
: 002 000
: 004 000
: 010 000
: 020 000
: 040 000
: 100 000
: 200 000
: 400 000

:SCOPE CONDITIONS:GO SET UP FOR LOOP ON
;ERROR/LOOP ON TEST

;TEST START LOCATION

:LOOP ON ERROR START LOCATION

;SCOPE SYNC. NOT IMPLEMENTED F<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>